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288 | BRI S303 411523%skk555%04.32 181%#%%9848 Jent JERTHB RS B = BUEARA3S =
289 aN S303 52222 2%kkkkkk1229 18943072 Jbae JERTHIEHL R 2 B8 = A3 =
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299 | ER® S304 411023 %55k 5k4%5629 189442886 Jbae JERTHIEHL R 2 B8 = A3 =
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704 | JANRER S402 371326%kkkk3%k1617 152+%%%%0695 K& KB T RY R ZHH 20480 =
705 | i S403 410225%k4k k4% 4662 133k4k7128 KA KA TR R B RE20480%=
706 odE S403 371522kkskk 0542 18 13k#k3550 K& KA TR R B RE204 0%
707 [ S502 220106%*#k5%%%8618 1394549 K KHFB TR RIXE HAPR204H %
708 | BRAREL S502 612726%xkk55%%0628 138%#%%5036 K& KB T RY R ZHH20480%
709 | ATENLL S502 2207 24%kkk k%% 1644 15940135 K& KRB TR R B H20480 %
710 | EHRLE S502 220724k 2428 1834889 K& KA TR R B RE204 405
71| &= S502 22020 3skkskotskotokok 2422 155%+5%8050 K& KRB TR R B H20480 %
712 | FEE S502 23032 1 kskkkkrk3827 135%%5%0563 K& KB TR R ZHH 20480 =
713 25 ik 502 220183*skkx55%3909 15942910 K KRBT R: R —HUOPRE204 0%
714 | xfES S502 23230 Lk 2246 13550396 K& KR TR R B RE204 40
715 il S502 220322449272 15746747 KA KA TR R —HP 20480
716 Fi 502 2104225 k555555022 1 1594987 K& KA TR R B RE204 0%
717 | BREVR S503 411526%kk5k5k454 1 181444609 KA KA TR R B RE20480%
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718 | sk S503 37081 Lotk ] 285 1803955 K& KA TR R B RE204 0%
719 Jifs S503 50023 7tttk 891 0 134%5%%8927 K& KHFEHTRY KIXE HEk2048 %
720 | VHSESE S601 42028 1 sksktkk 8437 188sktk6817 K& KRBT RIX 2040
721 | EELA S601 6105255853729 131k 7752 K& KRB TR R B H20480%
722 by S601 510704k %5k%4x3110 186%+5% 7862 KK KHEHTRY RXE HEAE2048=
723 | AR S601 341226s%kskkskokk 3236 15744486 K& KRB TR R 20480 %
724 e S601 130622%kkkk5%%5039 13849320 K& KRR RIX P HE204 0%
725 EE7] S601 2301065tk 1226 1881541 K& KRB TR R B H20480%
726 | HHBEHK S601 130184tttk x6028 158skick5632 K& KRR RIX P HE204 0%
727 | REK S601 220122%%kkk%5%167 1 13638388 K& KRB TR R B H2048(%
728 | EiEkZ S601 510922345455 4643 1887591 K4 KA TR R B RE204 40
729 | BER S601 371502%%kkk%5%532X 1323469341 K& KRB TR RIXE B H20480 %
730 | FAwEDE S601 500224555454 334X 135%+k%9516 K& KEH TR R B HE20480%=
731 | WHEG S603 371324%%k%5%5%%943X 188sk#k%9410 K& KRB TR R B H20480%
732 | AhiAh S603 22020 23%kkkk%5% 3043 1391 642 K KRBT R RIX B H204 0%
733 | FJAR S603 2202045558209 1 4 186%+k%6544 K& KRB TR RIXE B H20480%
734 | ERGI S603 37132 Itttk 06 20 13 1skotk6 160 K& KRB TR RIX P H2040%
735 | EWidE S603 4113294843822 158558996 K& KRB TR R B H20480%
736 2R S605 152224%kk5k5x5%4018 15846705 K4 KRB TR RIX 2040
737 | KERHE S605 230121 #ssksk%%2045 15638049 K KHFB TR R HAP204H %
738 | XIELR S703 230123%kkkkk5% 1110 15844837 K& KR TORY: R 20440
739 JE 4 S703 4290045k %55k %%4267 188kt 1510 K KHEH TR RXE HEAE048 =
740 | 5kEE S703 2201065555551 828 18542335 K& KA TR R B RE204 40
741 | FWNGE S101 45032235545k 1 586 188#k%%2854 Kb HE R RAHRHE 206 A0
742 B S102 43052 1skk5k4%0494 13657695 Kb TR BT 206 %
743 | b S102 53038 1 sskstsksteseek 252X 15T#%%%9727 Kb TR AR B E206 H =
744 | EBANK S102 3607823k 5812 1852307 Kb TR BT 206 %
745 | ¥EF S102 450324sskskstskokkk 5227 133%%k%7729 Kb TR RS AR 206 8 =
746 mHA S102 513902skksksketetok 7179 151 sekskek687 1 Kb g K BT R AL 206 0 =
47 | XY S102 450332kt 2113 181#k%0110 Kb R R AR 206 A0
748 | UL S102 431023%%kk55k%%653 1 152%%%%9263 Kb W RS AR AL 206 2%
749 L S102 500225%kkkk%5%6523 189%5%4540 Kb TR AR A E206 HE
750 | SR S102 4306824k k%88 17 152546266 Kb TR BT R 206 2 %
751 pgea S103 510902kt T 38 156%%5%1604 Kb FHERY AR 206 %
752 | R S103 4103265%ks55sk3540018 152%%k%0182 Kb RS AR 2068 =
753 = S103 513822kttt 7074 181%#%k%2801 Kb TR RS RRASIR 206 3 =
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754 (7 S103 510824kt 8652 134546973 Kb TR BT 206 2 %
755 | BIANEE S103 410185%#kk8k4k4510 15 1%5%9669 Kb TR AR B E206 H
756 XI|5E S103 432502%k5k85 7111 1525546631 Kb R R AR B 206 8=
757 FPR S103 4290045k 1178 180%*+%4386 Kb TR AR B E206 =
758 | EICWkF S103 43052 skttt 5262 1836857 Kb TR BT 206 4 %
759 k% S103 430482sksk5k4k 654X 183%%%%1576 Kb TR AR A E206 H =
760 | sK[EE S103 1502023 ksk5453011 2 18645934 Kb TR BT R 206 4 %
761 | LR S104 420802tk | 92X 188556043 Kb TR AR B E206 H =
762 | JEAaR S105 43028 | kst 7555 152%%%%9266 Kb RS AR 2068 =
763 | =R S106 511023%ksksk5%2277 152555794 Kb TR AR B L2064
764 PR S106 510107 %kksk%5%501X 157%%%%7628 Kb W RS BRASH R AL 206 %
765 | RXEAE S106 511325%ksksckokekek 5719 136%5%%5264 Kb W R RAHRHE 206 A0
766 Li§75 S107 513030kkskk691 7 138kk3328 Kb TR BT R E206 2 %
767 L5 S107 612723tk 546835 158550641 Kb FHEIRY: BRI E206 8 %
768 | EEER S107 610623%kk55%%0429 137%%5%1904 Kb W K BRAH R AL 206 =
769 FEHT S107 429006skskskskiok 3939 156%%5%4339 Kb TR R AR B 2068 %=
770 | BhEEAE S107 3607224k 3677 1825142 Kb PR AT R RE206 %
71| AT S201 50023 7kkskix8914 186554707 Kb TR AR 206 8 %
772 | 4R $201 362425 kK432 4 136%%5%3151 Kb TR R RATSRIBUE 206 8%
773 | EE R S201 450802skskskkskskkk 2526 185%%5%4657 Kb TR R ARAIR 206 8 =
774 4t $202 430623555555k 1680 152%%5%0846 Kb R R RATSRIBUE 206 %
775 Rk $202 33072 ki 1418 152+%5%%9956 Kb TR AR A E206 H
776 | VL $202 430304%3kk5%%%3779 152%%%%0530 Kb W RS RAT R AL 206
7T | W $202 44522 1 stk 4928 157#%%%1 585 Kb W R AR 206 A=
778 225 5202 43052 1 ##k5554%8770 13045454246 Kb TR RS AR 206 8 %
779 X1k $202 51390 [sksksksiokorsiok04 1 4 1504559646 Kb TR R RRAIR 2063 =
780 | LA $202 50023255555 7308 150%k4:48429 Kb TR BT R 206 2 %
781 | AR $202 45088 1 #skkkx%9235 189%5%7290 Kb TR AR A E206 H
782 | ELALHH $202 45242 45k k4% 1 TT8 13241049 Kb R R RHEE R 206 5 %
783 JEGH $202 430124%%5555%%0030 1365452471 Kb TR AR A E206 H
784 | HHIH $202 43038 Ik 1021 151%%%%8098 Kb W RS AR AL 206 =
785 FI5 $202 37018 Ikttt 3862 159555234 Kb TR AR AL E206 H
786 | LE¥G L S202 430202%ksskkkk4 049 1868911 Kb R R ISR R b 206 2 =
787 B $202 513723 %kksokiok 1672 151557400 Kb TR AR 206 8 %
788 | R $202 430302k 3789 186kkk0224 Kb PR AT R RE206 2%
789 | fHIHIH $202 430523 k85 4k T 649 15 1%k%0768 Kb TR AR A E206 H




Fe| wa | S8 2 FHE | o it

790 | dnEE 5202 429282 Tssksksrsek x0T 19 188%#%%0110 Kb RS AR 2068 =
791 Vg $202 420302k x555%0032 183#k5%3215 Kb HRIRSE RO 206 8=
792 | M 5202 43252435k4855464 20 1519716 Kb TR BT R E206 %
793 | MR $202 431223 %kxkxk%%1013 15852199 Kb TR AR B E206 =
794 | HSAIAD 5202 362424% K%k 55556425 182:4k4k2247 Kb TR AT RO 206 04
795 &3/ $202 43042 Ixksksk k6687 152%%%%7093 Kb TR AR A E206 H =
796 &2 $203 43068 15545452636 1554547058 Kb TR RS AR 206 8 %
797 ] S204 510184%ksksk%3922 159%5%%7962 Kb TR R AR 206 8 %
798 | RIEM S204 130133%kskk5%%1516 134%%5%2528 Kb WK RAH R AL 206 2 %
799 S $204 510322%kkkk5%2514 185%%%%0605 Kb TR AR B L2064
800 | [MklHIFR S301 511622%k%35%%%0046 15255556717 Kb W RS BRASH R AL 206 %
801 | FHH]T S301 533222k pkokik 4942 183%%5%0451 Sl TR AR B E206 H
802 [ LAt S301 370481 k%3900 155%kkk0322 Kb PR AT R RE206 %
803 Fr S301 37 1482skkxk5%0824 186554169 Kb TR AR B E206 HE
804 | ZAbI% $302 431121 %kk555%3465 1524542456 Kb TR AR 206 8%
805 | fEULEY $402 430223 %kk k458042 18851581 Kb R AR A E206
806 | iV # 5402 37048 1 #kokkik6040 152%%%%2620 Kb W R AR 206 0=
807 | B/ S402 44162 1¥skkskx%3063 159%##%3155 Kb TR AR 206 8 %
808 J EL $402 43052 Lisksokokiok262x 156%%s5%7112 Kb TR R RATSRIBUE 206 8%
809 | FrHE S402 42088 #5487 183%%*%7981 Kb TR AR A E206 H %
810 AT S402 430424%555555%06 10 150546715 Kb TR BT R 206 2 %
811 RE $402 430223 kK55 %%8719 156%#%%7113 Kb TR AR A E206 H
812 TG 5403 371203%kk3k%%%322 1 155%#4%0735 Kb W RS RAT R AL 206
813 A S403 43042 [#skkkxk 7698 187#%%%7991 Kb TR AR A E206 H
814 242 S403 431224888850 380 183%#%%4121 Kb TR BT R E206 4 %
815 T4 5403 5109225tk | 324 138%kk%3741 Kb TR R RRAIR 2063 =
816 Ak S403 33078 1 ¥kkskkk%231 1 152%%%%0579 Kb W RS AR AL 206 =
817 | R4 S403 411322350888k 5 72X 152%%%%9866 Kb TR R ARAI R 206 =
818 | MuiHE S501 511304skskskskskokskek 6845 152%5k%0225 Kb RS AR 2068 =
819 i S502 510704%%kkk55%5144 183%#%8782 Kb TR AR A E206 H
820 IR S502 4211 23%kxskkkk 0884 1570764 Kb R R ISR R b E206 2 =
821 | 5 S502 430522343k 562X 183%%%%9205 Kb R R RAHRH 206 A=
822 | X5t S502 4325035k kk84k28 1 5 155%%%%1954 Kb W R AR 206 7=
823 | JUWEAE 502 530323 kkkkkx1946 150%5+%6579 Kb TR AR A E206 H
824 | Al $502 65400 Lksksokkk 4930 1515t 0682 Kb R R RHECERE206 K %
825 | AMEFH 502 41032455k 55k%%03 15 188554608 Kb TR AR A E206 H
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826 | #lEYS S502 65412 T#kskskxk0023 152548245 Kb TR BT 206 2 %
827 | JA:HE S502 4304825k k446928 188542991 Kb TR AR B E206 H
828 I B S503 4310223 kkkkokokok 3417 182:ksk:k0084 Kb g K ST R AL 206 0 =
829 | =FHFF S503 510122%kk5k5%3366 151%5#%8321 Kb TR AR B E206 =
830 | =iy, S503 511621 %k%k355%7098 1564544083 Kb TR AR 206 8 %
831 XU S503 42060645k 4k8522 130542459 Kb TR AR A E206 H =
832 | A S503 22240 3%kkk5%5% 1008 18656053 Kb TR BT R 206 4 %
833 | kWL S503 500106kkkkkkk5425 150%k%1320 Kb TR AR B E206 H =
834 | E&EM S601 4304265 k%5555 T679 13045446086 Kb R R RHEERE206 5 %
835 | WkFEE S601 45072 1 stttk 268X 155%%%%7031 Kb TR AR B L2064
836 BE S602 220122%kkkk45%% 4326 13138395 Kb TR BT R 206 2 %
837 | #hEtHH S602 4307250049 155%%%%9405 Kb TR RS RRASIR 206 =
838 P S603 500234tk 8272 130449495 Kb TR BT R E206 2 %
839 | fal A S603 513022%%k%5%%%5899 183%%5%6286 Kb TR AR B E206 HE
840 er S603 513902:kksk5%5663 18059176 Kb TR BT 206 4 %
841 )= S603 65900 1 skssksoktok003X 1387929 Kb R AR A E206
842 B S603 370830%*kxk%5%0012 183%%%%1205 Kb W RS RAS R AL 206 =
843 Wk S603 43122 [tk 3630 157#%%%2992 Kb TR AR A E206 H
844 | B LN S604 450326k k5450629 15249537 Kb R R RE206 K %
845 W7 S604 511123%kk%0kk5%1810 13 13k%%8480 Kb R R RAHIRH 206 A0
846 | JEeR S604 510113kt 1118 150541569 Kb TR BT R 206 2 %
847 | ARILIK S605 412826% k455 4%8062 137#%x%7016 Kb TR AR A E206 H
848 %5 S606 42102284k 3663 13234953 Kb TR BT R 206 4 %
849 | EfEME S606 412825842023 188%%+%0418 Kb TR AR A E206 H
850 52 S606 6323225k x5k 5%21 29 1384448726 Kb TR RS AR 206 8 %
851 | #vbp S606 360 123%ksckskkokk 244 x 131350797 Kb R RZE AR 206 8 %
852 JA 3k S606 362430tk 546 1 150%5k%2564 Kb RS AT R 2068 =
853 | FMNEA S701 37028555201 5 18840051 Kb R AR 206 A0
854 Wi HE S701 513022:kkskkkk8000 139tk 5734 Kb g K BT R AL 206 0 =
855 REE S702 51090 2skkktrk 741X 15 1%%3914 Kb TR AR A E206 H
856 iR S703 350784kt 3330 153%#%%8611 Kb TR BT R 206 %
857 | 4k Ek S703 612725%kkkk k3028 18350823 Kb R R RAHRH 206 A=
858 | i EiHk S703 431024%5%kx5%%1848 18840472 Kb KSR R 206 8 %
859 | IR S703 4301035tk 3522 183%%5%7889 Kb TR AR A E206 H
860 T S703 43032 Lok 1 22X 15254809 Kb TR BT R 206 2 %
861 | ZAbH) S703 43052 [ #skkkx%0769 151%5%%6475 Kb TR AR 206 8 %
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862 | Xifdi4x S703 51390245303 1 185%%%%8378 Kb R AR 206 7%
863 X143 S703 430523kt | 122 152%%%%5912 Kb R R RAHIRHE 206 A0
864 | ZFUElE S703 6124303 kkksk 42246 188%#5%0446 Kb R AR 206 7%
865 | FEHiLL S703 5116025542526 135%k%%3897 Kb HE R RAHIRHE 206 A0
866 Sz S703 51370 Lk 31 14 1365853791 Kb R RS TR B 206 H =
867 e S101 2301243k k430036 13859534 | WA JRIE WG RV TR 2 530506
868 | BT S102 513029skks0kk3%1010 158%5k:0860 | W& IRIE WS 7RI TR 2 W& Bl 0506
869 [ xiF=sK S102 2301 23%kks0kk5% 1570 157457923 | WA JRIE IRV LV R 33 506
870 | AR S102 1503025455500 10 157#%k%3757 | /R WS IR TS 35300506
871 T S102 230828 %Hkk ki 3234 15258589 | WA /RIE I RVE VK 33 0506
872 | FW#E S102 430422555 %5x5%%T7730 187#%k%5998 | Iy /R G IRV TR 580506
873 Tk S102 370828kt 2633 187scktk2747 | WY IRIE I RS VK 33 0506
874 K3 S102 372925%kkkkk%%251 3 18240k 1704 | WEIRIE s IR TS 35300506
875 ke S102 22028 Ikkskkxk385 1 15138k 1735 | WA JRIE I RV LV K 33 0506
876 Xk S102 411325%kkkkkkk3538 1325680 W IR VE M RVE TN K2 3EEIH00506
877 | AitHi S103 230121 #kskkiok301X 1802287 | WA JRIE IRV LAV K2 35 0506
878 T 5103 411303%kkkkxk%0516 150%%%%5912 W IRV M RIE TN K2 35840506
879 A S103 50011 2kttt 0425 15 5kk7631 | W3R I RVE AV K2 33 0506
880 TRIE S103 370982k %047 x 150%k%2698 | M5 /RIE W RIE T A2 3EET0506
881 | FIENE S104 2327005k kskksk k%63 16 1513%44%3646 | W IRIE Wy IR TR 2E SE sl 0506
882 FH 2% S104 430524skksktokokk 243 1 1505%+%x5279 | W /RIE W IRVE Tl K2 355 d 00506
883 £} 5 S105 420704%k%554% 1 698 18653096 | WA /RIE IRV AV K 33 0506
884 | A4 S105 500233k 8240 189scktk6743 | WKV S IRV TR 580506
885 | Z=NiF| S105 372926%kkkk%%%0837 131%8ck6310 | WA IR I RVE VK 33 0506
886 RE S105 51132463209 15159283 | W5 /RYEE WA RIE TR 1B H 0506
887 EEAN S105 510824k k30219 15955082 | WA JRIE WG RV TR 530506
888 (ARIE S S106 51132 Ltttk 1 71 x 189kkkk3683 | WA /RIE W IRIE T A ZE SEE) T 0506
889 Wi e S106 23028 Lskkiokkrk04 15 180458339 | WA /RIE IRV VK 33 0506
890 FE S106 370982tk 3869 151%%4%1202 A IRIE WA REE TR TEEH 0506
891 [ Xl S107 372922 %Kk 45k502X 1313543292 | WA JRIE IRV LAV K 33 0506
892 | ARtk S107 1504265ksk4k21 52 183#54%3206 | WA /R{5E W R T W& B 506
893 | ZE4KIE $201 23230245k 00 1 8 1363517891 | WA JRIE WS RV TR 530506
894 Wi $202 23233 2kkkk45%0047 1874542896 | M3/RIE SRV TR 530506
895 [ XI#F== $202 15022 Iisksokkiok k3825 186k 1416 | WA IRIE IRV VK 33 0506
896 X 22 S202 13018 stk 427 1 188%kkx9842 | W5 IRIE WA RIE TR 1B 0506
897 ZE I S202 232303 %Kkk45k00 X 1884057 | WA JRIVE I RS VK 33 0506
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898 | ik $202 92323305kt 20 16 152%k%2132 | WA /RTE W RS T K2 33 0506
899 | #hZ4fh $202 231002skkskottoteiok 0013 136%54x9261 | MRV SRV TR 530506
900 | TfELE S202 6523223 kkkckekokok 1 526 189+xxx6702 | MRV W RIE T A ZE SEE) 0506
901 | PfHug $202 511602%%kkkk4k2312 137804625 | WA JRIE WG RV TR 2 5300506
902 [ skEktH $202 23233 2%kkkkkx%2119 150%8k46725 | WA IR WS IR TS 35300506
903 i $203 230104%sckstloriok 261 1 1874547616 | My /R WS RV TR 530506
904 VI N 5203 230103skskstoksktoskok 3212 186+4kx%6081 WG IR TE WS IRVE TR 3Bl 00506
905 | Mt S203 230302tk 621 X 133%k4x8847 | MRV SRV TR 530506
906 | LS S204 23232 Lokt k8246 138kkkk8842 | M5 /IRIE WA R TR 1B 0506
907 | R S301 230103%kk30k%5%£0929 152%543663 | MR WG RV TR 5300506
908 | i S301 421302tttk 0049 158548725 | My/RIE W RV T A2 VEE) 0506
909 | MRS S301 23010 3sksksoktotok 92X 176%5kx1164 | WA IRV SRV TR 530506
910 | ¥E/IAR S301 500228skskskskekeekk 5896 189%kk%3603 | M5 /K5 W IRIE T A ZE SEE) 00506
911 | FHRM S301 65282 3skstketsioiork0827 1874k 1737 | M /RVE G RV TR 530506
912 7K S301 230106%kkkkk%%k1215 1594366769 | /R S IRV TR 530506
913 | S4HE S303 23088 1 kokiokok(0247 180%k#x3268 | MRV WG RV TR 2 35300506
914 P 5304 232330%kkkkkkx0225 136%*kkx6311 W IR VE M RVE TN K2 3EEIH0506
915 | HiEH $402 230224kl k2044 188%kkk8904 | M4 IRIE WS 7RYE TR 2E T8 00506
916 | EKEE S402 412702%k3k55k%%6997 1525443925 | AR G IRV TR 530506
917 5 5402 230206%kskkskk3k0927 188###x3936 | My /R IRV AV K 33 0506
918 Bk S402 50011 2skskks%664 1 189tk 1719 | WA /IRIE W IRV T 2E JE B 0506
919 | Z=aktE $402 4290065k %2928 15253537 | WA JRIE IRV VK 35 0506
920 | Ry S402 232303%kkk%5%£0628 188#kxx5227 | WA IRIE MR T2 80506
921 5 S402 232326%KkkkAk324X 186%k#x4563 | My /R IRV VK 33 0506
922 | ARGEME S402 923020 Ttk 0040 158sktik0421 | WA IRIE G IRV TR 580506
923 | B S403 51101 skksksokkseok9667 130%#kx7592 | WA IR W& R TR 2 330506
924 Bk S403 50011 2skskksx664 1 189k 1719 | WA IRIE W RV T 22 JE B 0506
925 T4 5403 370883 %kkkkrok 742X 131543681 | MR IRV AV K 33 0506
926 | kinbL S403 51080 2skskksksoksiesk 0038 188siekk5071 | W IRIE W AR T2 YEETL506
927 | WHERL S501 230203 %kkkkk 1 022 1505560427 | WA JRIE I RV VK 33 0506
928 ESn S502 23050 3sksksktetskskok002X 157#%x%9330 | W /RIE W JRVE T K2 153 00506
929 [ RAEM S502 232332tk 421 0 157##%%9331 | MR IR LV K 33 0506
930 | ALK S502 371502sksksk44%3815 188kkx%4756 | /R W RV T 2% VEE) 0506
931 Wikt S502 230705%kkk%5%0330 151554605 | WA IRIE I JRVE VK 33 0506
932 G 5502 36031 2%*kskkkkkx0057 1810842 WA IR VE M RVE TN K2 3EBIH0506
933 i S502 43092 Iksokokak 1 771 1574540749 | WA JRIE IRV VK 33 0506
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934 | AQEME S503 410728%k5k555%702 1 18Tskx4486 | W /RTE W RVE Tl A 3 2h 0506
935 | M S503 36242 Ttttk 2527 182###%9219 | My /RVE SRV TR 530506
936 | SR4xtm S503 62032 1 #ksstolkokk (0352 155%#4k%0983 | M5 /KYEE W RIE T K2 320506
937 | Xk S503 510183%kkkk5kT36X 156%54%7656 | MR WG RV TR 2 5300506
938 | JH#%E S503 500240k 1415 185%#%k%1357 | WA /R W IR TS W& 0506
939 | AEHkIHE S601 230828 %Kk kA% 7420 156%54x9091 | MRV WS RV TR 530506
940 | ZREA S601 500224 #kkkkkokk 5438 186%kkk2134 | M5 /RIE WA SRIE T KRS 30506
941 A S601 2311023k kkk34k0427 183###%2979 | M3 /R SRV TR 530506
942 | EiHE S601 21041 Ik 123 188#+xx3035 | /R WA IRV T 2E JE B 0506
943 Fi S601 513825%kkkkika2] 1 138#k#x3815 | My /R{E WG RV TR 5300506
944 [] /N FE S601 4228023kt k6828 151kkkk3473 | M IRIE W RIE TR 390506
945 KT S601 220284 kkkkkkkk5828 188%x%%3106 WG RV WA RVE TV K2 3EEH.0506
946 | CAEM S602 232326%k%5k%5%0036 152%5k%2476 | /R W IR TS 35300506
947 IR S602 51072235k 4%k8 385 1806008 | WA JRIE G RV TR 530506
948 | Pt S602 513022ksk8%5740 18841024 | WA JRVEE W R T W& B 506
949 | KK S602 2306225k Kk k%4964 130%k#k1413 | M /RTE WG RV TR 2 35300506
950 {1 S603 22052 3%k 1221 156%#kx5528 | W& IR WS IR TS 35300506
951 | Zgree S603 610330kkkk30k4%001 1 1891138 | WA JRIE SRV TR 5300506
952 X S603 23060 3skskskktlkk ] 343 15150696 | M5 /KYEE W RIE T A 2E SEE) T 0506
953 | XUME® S603 4112245450k %57 159 151#k4x5579 | IR IRV AV K 33 0506
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1897 | ol S601 610528 kkksk4k6648 135sk4%1505 [z PO HL RS BirBh #1114
1898 | Uil S602 610202355k 2820 151%5%%8278 (7S VO L RHECR Y BB 114
1899 | fLAfikE S602 411522k k55454818 156550075 [z VUL RS BrBh #1114
1900 | xiff S602 610322%kskk4%k4219 15245452430 [ VE22 L RHECR Y BB 114
1901 | fhHE S602 620122k ksks0kk%k 1 72X 153sk4%6373 [z VUL RS BrBh #1114
1902 | XBME & S603 610326842018 153%#%%2130 [ VO RHECR Y BB B 114
1903 | Juif S603 61058 I sksskoksk0026 187skxx0795 [z VUL RS BirBh #1114
1904 | FRLrHE S603 41022255 x5k%%2617 159%#5%2335 57 Pa R RS R E 114
1905 | ghiAER S603 6101 25%kkkk%1928 187skxk4 122 RS VUL RS BirBh #1114
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1906 | FHHRAR S603 130924skk5k55%09 17 187#5%%0706 7S VE22 L RHECR Y Breh B 114
1907 | WHIRE S603 6101 1 4skskok®k0529 185sk4%2123 [z VUL PR S: BrBh #1114
1908 | <M S603 510802kt 134 186%*%%3436 7S VE2 L RHER Y BB 114
1909 | ZEA S603 61063243k 40019 186:kxx5286 [z VUL RS BrBh #1114
1910 | XA S603 6124293kkk4k56085 187#%%%3185 7S VE22 L RHR Y BB 114
1911 | Lybys S603 610528kskkkskxk2423 183sk4%2282 [z VUL RS BrBh #1114
1912 [ SEEW S603 130126%%k3555%0625 152%55%4937 (RS P P RHE RS ki #1114
1913 | fFIu% S603 6101 1 2skkkok 42042 136sk4x1867 [z VUL PR S: BrBh #1114
1914 | R} S603 532129kt 3328 182+%5%%4996 [ VE22 L RHR Y Breh 114
1915 | Fhga S603 1406223%kk455k%0024 158:k4%6032 [z VUL RS BrBh #1114
1916 | mff S603 610122%ksk3k55%0023 137%%%%2353 [ VO RHCR Y Breh B 114
1917 = S603 61022 Iksksoksk 1319 187skxk4455 [z VUL RS BrBh #1114
1918 | Mk S603 530328kt 2134 150%5%%0846 7S VE2 L RHCR Y BB 114
1919 | k& S603 412326% k455446362 138:k4%8226 [z VUL R S: BrBh #1114
1920 | ZR3CH S603 513433%kkk%%%391 1 18 13k3781 g Po R RS R EE 114
1921 W=t S604 61240 1 sksskkrkxk0350 15 L#ekk0486 [z VUL RS BrBh #1114
1922 | FRH S604 61052 Lsksskssknk0025 137#%%%8795 (7S VO L RHER Y BB 114
1923 | x4 S604 513435%sskkk54%0835 13738446846 [z VUL RS BrBh #1114
1924 | A S604 62032 Lsksksckk 242X 187#5%%7043 [ VE22 L RHR Y Ireh 114
1925 =)t S605 612725%kkk3k%%307X 187skk6312 [z VUL RS BrBh #1114
1926 | Mk S605 4109285555092 1 183%*%%1316 [ VO RHR Y BB 114
1927 | KWL S605 61232 [ sksokokik(0538 155%k+x4966 [z VUL RS BirBh #1114
1928 | HHRAY S606 41061 Lisksoksknk 7545 13245457528 [ VE22 L RHR Y BB 114
1929 | REELT S606 4102255555555 9844 132:k4%7138 [z VUL RS BrBh #1114
1930 | sk4AmN S606 610324skk8k4054 1 187#%%%2156 [ VO LR BB 114
1931 | JEluHiE S606 450325%kskksk%% 1 58X 186kxk5639 [z VUL RS BrBh #1114
1932 | MK S701 3715224k4ksk% 2352 150%#%%8378 (7S VE22 L RHECR Y BrBh B 114
1933 | Fihse S701 4109233k 1 721 150sk+x5813 [z PO HL RS BirBh #1114
1934 | @ S701 513023 %kkkkk5%6112 183%#%%9237 (7S VO L RHECR Y BB 114
1935 |  Z¥ S701 1422293k k%3843 150sk4k1812 [z VUL RS BrBh #1114
1936 X J S701 372929sksksksksksksk sk 7234 136%kkx5861 i Tz TR RS i 114
1937 | %R S701 610402k %k30k4%T7 00X 132:k4%2602 [z VUL RS BrBh #1114
1938 | fE#ET S701 610104sskkk4%6116 132%%5%8894 [z VOl TR R kb #iE114
1939 | F& S701 2306065k kkk4k0228 185sk4x4066 [z VUL RS BirBh #1114
1940 | VPMnk S701 142702%k%kk5%% 82X 15255453717 7S VO RHCR Y BB 114
1941 | ol S701 610103kkkksk 42446 135sk4k5676 RS VUL RS BirBh #1114
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1942 | =HMH S701 37078 skt 2573 132%%%%5561 [l PR K MEhEE 114
1943 | JHIEVH S701 62230 1kskkkskx%0558 187sk4%6865 [z VUL PR S: BrBh #1114
1944 | %57 S702 612522%ksksknk 1 717 183%5%%4503 [ VE2 L RHER Y BB 114
1945 | s S702 41138 Ikskokkkq 22x 134sk4x5649 [z VUL RS BrBh #1114
1946 | kit S702 37148 Lok 3633 157%%%%7105 [ VE22 L RHR Y BB 114
1947 | #ig S703 6101 1 3sksoksoknk 0432 159sk4k1 262 [z VUL RS BrBh #1114
1948 | fi1#2 S703 510525%kksk5%6593 187#%%%0338 7S VE22 L RHER Y BB 114
1949 | #hRg% S703 6106293k k540057 183sk4k8342 [z VUL PR S: BrBh #1114
1950 | BT S703 14223 3sstksctork8012 150%#%%3799 7S VE22 L RHR Y Breh 114
1951 &k S703 62230 1tk xk0027 183sk4%2353 [z VUL RS BrBh #1114
1952 | ZFig S703 632826440015 155%#%%8589 7S VO RHCR Y Breh B 114
1953 | Z=Hk S703 532129%kk30k45%0020 152:45k3801 [z VUL RS BrBh #1114
1954 | Z=/5 0 S703 6105263%kk4k4£0029 187#5%%3743 7S VE2 L RHCR Y BB 114
1955 % S703 610126%%kkskkx563 1 15042949 [z VUL R S: BrBh #1114
1956 | % S703 513701 %kk355%0752 187##%%3892 7S VE2 L RHECR Y Ireh 114
1957 | i) S703 1405243%%0k455k%0069 187skxk2648 [z VUL RS BrBh #1114
1958 | FrCHk S703 610328kkktkk 1210 155%%%%9287 (7S VO L RHER Y BB 114
1959 | fTR S703 142723 %kk45k %0269 187sk+%9015 [z VUL RS BrBh #1114
1960 | 0505 S703 612729kt 21 29 15255452121 [ VE22 L RHR Y Ireh 114
1961 | B#SF S703 513030%kk0k45%6620 1832070 [z VUL RS BrBh #1114
1962 Tz S703 513030sksksksiesksieckek 7846 158%k%%7671 [l PO PR RS MBh =114
1963 | A S703 4103224k %k 55%%0828 130sk4%7620 [z VUL RS BirBh #1114
1964 XK S703 6104254kl 2629 137554941 Gz Pz T RHE RS T EhEE114
1965 | 9K S703 513434555555 200X 152:k4%8699 [z VUL RS BrBh #1114
1966 | FkiVZe S703 620422k k4% T4 18 156%%%%9265 7S VO LR BB 114
1967 | #THEk S703 610623 k5535450619 152:k4%5179 [z VUL RS BrBh #1114
1968 | 415 S101 513122%kkkkk5%232 1 1883736 CIN TR BIXEE LRSS 16 0%
1969 | i S101 5107035855001 7 188:4k4k4092 GiY/N HIRKY B LR G HUAEB16 4=
1970 | BSF S101 500107 #kksk5k5745 1599105 HIR TR BIXEE LRSS 16 0%
1971 | MEE S101 53252 2skskkskekokek 0025 15 k42833 GiY/N HIRKY B LR G HUAES16 0%
1972 | st S101 513902%kk4%+%6985 1881081 HR TR K BIXEE LRSS 16 0%
1973 | Atz S102 513224%kksk%2197 152444227 FR HIRKY: B LR G HUAES16 4=
1974 | 4 S102 411526%%k%55%%0458 188%#%%7930 EIN HRKRS BIXEE L5 G BUF S 162
1975 | ZEHEE S102 510725%kkskx%9213 185%+4%0561 EIN FRKE BRI i B k5164
1976 | fgk S102 500101 %5sksk5%4575 15055052 HPR TR BIXEE LR O HUEF S 162
1977 | B4l S102 511325%kkkk45%491 | 1851729 EIN HIR K BIXEE LRGHUFHES 164
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1978 | Zfa¥T S102 421023k88k5463 16 1313k 4662 CIN TR BIX A LRSS 16 0%
1979 | #H=k S102 500225kseksokok 0751 15241976 EIN HPRNE B LR H A RS 16 8 %
1980 | i S102 52212 1 kot 6424 188%#:k¢9958 CIN TR BIXEE LRSS 16 0%
1981 |  ZEiR S102 511623%skksks5546693 1704+%9565 FR HIR K B LR G HUAEB16 4=
1982 |  Z#F S102 411023%ktk8k5521 3 1860614 CIN TR BIXEE LRSS 16 0%
1983 | Z=Favi S102 41048 Lsekseksorsekd019 188457928 FR HIR K BIXEE LR G HUAES16 0=
1984 | il S102 513029k 1153 1838689 R TR BIX A LRSS 16 0%
1985 | X3 S102 511028*kkkkk4%5723 185%k4£0297 FR HIR K B LR G HUAES16 0%
1986 | X S102 61250 1kskkskxx7340 15245550723 EN PR BIX A 45 BUF S 1633
1987 | JiT S102 500108skkkskk%5513 158559094 EIN HPRRE B LR A RS 16 8 %
1988 | WA S102 500226k k585457 10 15 k4515 CIN HPRRE B 4R H A HED 16 44
1989 |  Hhjsfe S102 511324%%k%5%5%2236 158543601 EIN HPRRE B LR H A RS 16 8 %
1990 W13 S102 500382%kkxk%x%088X 152+%%%%3576 EIN KRS BIXEE L5 G BUA 163 %
1991 | AT%%E S102 41148 Issksoksoknkd 517 132:4%9060 Gil/N HIRKY BIXEE LR GHUAEB16 4=
1992 |  Eil S102 513822kskkkkk 7619 15250485 HIK HPRRE B 4R H A HED 16 44
1993 |  FM S102 411503%ksk35k5%503 1 13644£0867 EIN FIRKE B i 8RS 168 %
1994 | Y5 S102 51011 2k 1829 15255188 GIN FIR K2 BIX B LR A HUF D16 =
1995 | fRikoh S102 4127263k %k 55%%0075 1505546156 EIN HPRR B LR A RS 16 %
1996 | 1R5% S102 42280 Ikskskskkk263X 186%+%%2363 EIJN KRS BIX S L5 G BUA D163 %
1997 | A& S102 3624245 %Kkk%4%2512 1535548740 EIN HIR K BIXEE LR G HUAEB16 4=
1998 | kit S102 5002223%kskkkkk% 1424 1592565 HIK HPRRE B 4R H A HED 16 44
1999 | B&AERH S102 3606225k kkk4k001 3 15840543 EIN TR KEE BIX S 4B HUAES 163 %
2000 B R S102 511025%kk3k%%%8790 131%%5%0208 EIJN KRS BIXEE L5 G BUA D163 %
2001 [ Fk2PH S102 410728555449 798 15258880 EIN PR B LRGSR 16 =
2002 ik S102 510105%kkxk%%% 1806 185%#%%9490 EIJN IR BIX S L5 G BUA 163 %
2003 [ BAXUA S102 511622441 321 158557005 EIN PR B LR S HUA RS 16 =
2004 | M S102 511528%kkxk%%%7016 152%%%%3913 EIJN HRKF BIX S L5 G BUA 163 %
2005 | A S102 50023 3kkkkdkk951 X 1345541506 EIN HIR K BIXEE LR G HUF RS 16 4%
2006 | 4T S102 5101 13skstsrotkk5320 13641937 HIK HPRRE B LR H A HED 16 44
2007 [ PRk S103 500223%kkkk%5%4091 1594k4£6407 EIN HPRRE B 4R A RS 16 8 %
2008 | ks S103 510322kks85%0535 13160161 K PR B R G WD 16 %
2009 | FEHE S103 500230kttt 2634 183454673 EIN HIRKY BIXEE LR G HUFEB16 0=
2010 | E5F S103 510184kt 0024 13341276 GIN FIR K2 BIX B LR A HUF B 16 =
2011 | Wk S103 51012 [sksokotsk0012 185%#k%7335 EIN HPRRE B 4R A RS 16 8 %
2012 [ I S103 500235kt 7236 15231309 CIN FIR K2 BIX R LR A HUF 16 =
2013 Wtk $103 3207245k 0093 152%%k%5981 GIN RS BIX B LB U516 0%
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2014 | eI S103 62012 Isksoksokak6312 15253387 CIN TR BIX A LRSS 16 0%
2015 | #iE S103 510125%kksoksior] 525 1505452763 CI/N FPRARE B LA AR5 168 =
2016 | WiiEE S103 5107228k 7963 18655046 CIN TR BIXEE LRSS 16 0%
2017 | ARk S103 370883tttk | 274 1364k4k7472 FR HIR K B LR G HUAEB16 4=
2018 | &Y S103 140109%%sk%5%%3519 136%%5%5654 EIN K BIXEE LG BUA D163 %
2019 | ZFwE S103 510524skskkskekokk 5458 188546955 FR HIR K BIXEE LR G HUAES16 0=
2020 | BHRR S103 510603%kkk555%6650 1855952 HIK HPRRE B 4R H A HED 16 44
2021 | XIW S103 411402%55555%%0019 188448295 FR HIR K B LR G HUAES16 0%
2022 | ®'Hi S103 51013 1ksksk%501X 1855870 HK HPRRE B 4R H A HED 16 44
2023 | ST S103 42280 2sssksenk 21 1 1 182543831 EIN HPRRE B LR A RS 16 8 %
2024 | %mE K S103 511023%*k%k%4%%7115 136%+5%0083 EIJN HRKSF BIXEE L5 G BUA 163 %
2025 [ FEHH S103 51092 1 #skskioksk3263 152+4k4%5463 EIN FIRKE B i B 5168 %
2026 | R S103 510321 kst 5550 152547083 HIK HPRRE B LR H A HED 16 44
2027 | M Byt S103 51390 [kt 7018 159++%9496 EIN FIRKE B i B k5168 %
2028 | M S103 511321 %kkskkk%583 1 138%%#k%3641 EIJN HRKF BIXEE L5 G BUA 163 %
2029 | iR S103 13082 1 stk 79T x 186%k+k3354 EIN HPRRE B LR A RS 16 %
2030 [ IS S103 513902kskkkk6994 188545953 1 ES FIR K2 BIX B LR A HUF D16 =
2031 | 4k S103 513826k kkkk85%0018 186++:£8064 EIN FIRKE BRI i HA k5168 %
2032 [ ZprpaE S103 513723k 7518 15346529 CIN HPRRE B 4R H A HED 16 44
2033 | AR3IK S104 50011 3kt 4321 1564446864 EIN HIR K BIXEE LR G HUAEB16 4=
2034 iR S104 340822sksksksieskskekek 3954 152%%%%1214 EWN TEIRAZE BIXSE 4 SH2E s 163
2035 | RN S104 511302%kksk5%3023 1884k4k3902 EIN HPRRN B 4R A RS 16 8 %
2036 | HIH S104 532128kskrtkk 3119 1865520 HIK HPRRE B 4R H A HED 16 44
2037 [ HINE S104 500226k kkkk55x%3967 15254545765 EIN FIRKE B i HA 5168 %
2038 | W S104 51011 3kt 123 15255026 CIN FIR K2 BIX B LR HUF B 16 =
2039 | [ MK S104 5002235555466 89 156%+£0384 EIN HIR K B LR G HUAES16 4%
2040 | fRIG S104 34290 1%k 1813 1524k04k5734 HIK HPRRE B LR H A HED 16 45
2041 | BRfEse S105 1306023ksk54%x24 13 1594448468 EIN FIRKE BRI i 8RS 168 %
2042 | Big S105 50024 2k 0638 158446315 GIN PR B LR A WA D16 8%
2043 | FRERAR S105 50010 7*kkkk55%2013 18944001 EIN FRKE B i HA 5168 %
2044 | FEIR S105 5002345555603 1 18256062 HIR HIR K% BIX S LR G HUAEB 16 0=
2045 [ fREFR S105 510923kt 371 1 188549383 EIN HIRKY BIXEE LR G HUFEB16 0=
2046 | ARk S105 52212 1%5%k55%3015 1313548982 EiS FIR K2 BIX B LR A HUF B 16 =
2047 | XBfR S105 50010 [kt 0617 13540481 EIN HPRRE B 4R A RS 16 8 %
2048 | i S105 513922kt 1851 152355452862 ES FIR K2 BIX R LR A HUF 16 =
2049 | fuldk S105 511623%kkk555%6704 185%k4k7717 EIN FIRKE BRI i B k5168 %
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(R NG 44200035k 554262 136%k4k2153 IR BIXBE LR G U RS 16 B0
oA 500223###888450026 | 152#kx7864 HPRRA: BIXAR 2R e AR5 16 4%
T 511025%kkskkook5 286 182340083 HPRKE BX A ER G HUA RS 1640
2 520181 kekeksiokoteksk 262 | 157#k%%6350 HPRR BIXEE 255 BUPHES 163 %
4 51092 1 sttt ] 422 1355557974 TR B LR S HUE RS 163U
FRE 510183%skskk5002X 18542787 HPRK B LR G A AR5 1630 =
X gtk 411082%*#k345%1870 | 15044447067 FRKAE B 3 G HA B 16 =
IHE b 5107238443195 | 153450902 HPRRSE BIXAR 2R e AR5 16 4%
Bt 510603s%ksksktk5933 139%%%%8317 PR BIX S LR B A 16 %
KRR SC 2% 51032 Isktsottotiord 1 57 188sk#%7960 HIR K BIXEE LR G HUAEB16 4%
T4 34062 Lkkrrrerd02X | 158%Hk+6785 FPRRY: BICER R A S 164
TN 50024 3skstsierskoiek 5754 186356128 HPRK B LR G A AR5 1630 =
T 32048 Iiktotoiork0059 | 1523k4x0098 FRR BIXHE LA B s 16 B
i 360729%*skk55x0017 18730848 KRR BIXH —Lr G A5 16 8%
UG R 370826%##5554%5718 | 1884449322 FPRRAE BIXER LR HUA RS 168
Wik 50038 iskkrrtsk2940 | 152#8k%0902 TR B LR A5 164
T 4312255kt 4636 150%%%%6289 KK BIX S i BUAES 163 =
R 1 500382##888840079 | 152#4x4081 HPRRS BIXARE 2R e AR5 16 0%
Bk 50023 4#kkrrre 1699 | 134%kx2367 FPRRY: BIER R G B A S 164
B 5002345550970 152351831 HRREE BX S 2R G #UA 5 1640
B 510703s%kskkskoiok 2413 186%#x%3227 PR BIX S L5 A 16 %
5 370830k kkkrtsk0855 | 1584kkx5662 TR B LR A5 164
JEg % 530102%kkkrtrs2713 | 185%4kx8975 FPRRY: BICER R A5 164
JH = 510603 kkrrsk593] | 1524653938 TR B LR A5 164
S 50024 | setskotskotokokd 1 45 15235554161 PR BIX A LR B HUF S 16 =
T L 57 50038 Ltttk 7554 1505544831 HR K% BIX 2 LR G A6 U=
B 50023 8skkskckskeiek 5833 138%%%%9410 PR BIX S L5 B A 16 %
2 [k 500109sekseksokskor 7554 1313tk 1131 HPRRE B 4R A RS 16 8 %
A 510522% k459260 | 1313449894 FPRRH B 43 G A5 16 40
1|41 42118 1skkkkx%5533 158kx%1382 KK BIX R LG BUAES 168 %E
B bk 51013 Lswkirnk3015 | 189%#4+4266 FERKAE B G G HA B 16 B =
B4 1l 500234#888885665X | 152#kx5481 HPRRS BIXAR 2R e AR5 16 0%
WAL 5002285553379 184555223 1 PR BIX A LR B HUF S 16 =
ZRAES B13722%#88884%051X | 185%4k%0166 HRRS BIXOR 2R e AR5 16 %
fEvE 513124%kkkkrak0173 [ 136%+#40942 FRKAE B G G HA B 16 =
WEL 429006tttk 761X 183tk 1170 HPRRE B 4R A RS 16 8 %
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PN 511023kksckkk6312 1394k4k7973 IR BIXBE LR G U RS 16 B0
S 500103sksotsorsior6522 18535760 TR BIX A 8 B HUF MBS 16 =
W 'w AR 500221 %kskskik 151X 156541991 PR B 2 #5163
Wit 50024 [kt 1 29 13251040 HIR K B LR G HUAEB16 4=
H 5105023%kkk555%073 1 185%sk4k6097 HPRRE B 4R H A HED 16 44
i 500382kk5k5%0020 1533440617 FIRKE B i HA k5168 %
X1 5001 13%kksk%%%8824 1334842990 FIRKY BIX A LA B G165
fF 42122 1 sskskknk 4853 18254546628 HIR K B LR G HUAES16 0%
1580 33 50023 43kk555%7039 185%xk%1612 FPRNFE B i B k516 4%
W42 500238sksoksionsok 2218 152448268 FIRKE B i HA 5168 %
Tl 510184skkk5k5% 1660 15346534 FIR K2 BIX B LR HUF 16 =
TT® 612401 ssksskskokok 0537 18641107 PR BIX S R BB 16 %
A 500382skskkskkx%2625 13 1koksk 0752 IR KR BIX S R O HUARES 16 %
B 500228 %kkkk5%3380 1884448265 HPRRE B 4R A RS 16 8 %
- 42092 Iskskskrsknx553 1 152%%%%1452 EIRKY BIXE B HUF s 16 0%
JERE 510502 skkkkk83 15 1863907 HPRR BIXZE 255 BUPHES 163 %
MReT s 410482554555 %%6823 18847780 TR BIXEE LRSS 16 0%
5 51011 3%kksktiek 591X 188skxk7 757 HPRR BIXEE 255 BUPHES 163 %
RS 50024 1 skssk555%0026 18847653 FPRNFE B S B k516 4%
fi 511323%ktkstokior 1315 15545418757 FIRKE B i 85168 %
R4 50038 3skksokkk0019 188348909 IR KR BIX S LR B HUARAS 16 %
A 51018 Lsstotokok6431 1524559726 HPRK B LR G A AR5 1630 =
2 ifg 422826 kskokok5522 188k 7787 FIR K2 BIX B LR A HUF 16 =
R 500238skkksk:0015 15240870 FIRKE B i HA 5168 %
At 511028%skksks5:06 15 1524415385 TR BIX A LRSS 16 0%
31l 510183tttk 3922 | 1852950 PR BIXEE LRy HA 5165 %
X1 EF gk 511002%*k%k%4%5623 133%%5%4226 HRKF BIX S L5 G BUA 163 %
K 522130tk 2019 | 185kkkx6171 FRKE BIX B LG BB 16 3
SRAEN] 511023skkstokoiok 7312 1596159 IR BIX B i B AR 16 0%
R 511324kstoioron] 324 187355539 FRALE BIX S L W5 162
FPF 142225%sk5555k%4015 157442069 HPRRE B LR H A HED 16 44
F e 429005%skkk4%4328 15234545783 HRREE BIX S 2R G #UA 5 16 4=
FE A 51032235k 4769 1523447504 TR BIXEE LRSS 16 0%
5 e 513823tk 1149 152346990 HPRR BIXEE 255 BUPHES 163 %
ER 61052 sksioottk096 1 13345455926 HIRKE BIXHE G G BB 16 4
R 320282skskkk5210 136%k4k8254 FIRKE BRI i B k5168 %
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2122 | R 50038 Lkt 481X 18847820 IR BIXBE LR G U RS 16 B0
2123 | MpEus 340826skskk3:0380 189sketk7557 TR BIX A 8 B HUF MBS 16 =
2124 ¥y 513822k kxS 1 33 152s%4% 7582 PR BIX BB LA BUA S 16205
2125 | W% 51152 Itttk 2527 136%5%%8009 FIRKY BIX S L8 BUFES 16305
2126 | Ml 510902k kk%4%k2647 152%%%%2527 K BIXEE LG BUA D163 %
2127 | W 50023 5%kkkkik 7384 152:4k4%3267 HIR K BIXEE LR G HUAES16 0=
2128 | WEELE 4114255555555 2420 1887764 PR BIX A L5 S Eb16 %
2129 | REE 500109%kkskx%2328 1884446703 HIR K B LR G HUAES16 0%
2130 | skAEER 51382 1%k 0023 155345862 PR B —oi #5163
2131 [ BmeJC 500108%kkskk 1718 158+k4k5710 HIR K BIXEE LR G HUAEB16 4%
2132 pSIGEH 42118 Ik %8314 18364851 IR K BIX B i A AR 16 20
2133 | 4Bk 50023 [ttt 3579 153454729 FIRKE B i B 5168 %
2134 | PN 412825%xkk5%%%2578 185%#5%2053 KRS BIXEE L5 G BUA 163 %
2135 | B 41272 I#skknksk3838 189444619 HIRKY BIXEE LR GHUAEB16 4=
2136 | fu[fEdh 500234k 6038 185%k+%x6742 IR K BIX B i BB 16 20
2137 | &K 1411023k3554%0052 135%k4£2975 FIRKE B i 8RS 168 %
2138 | Thlmyk 532024 kkkkkk% 1 128 13552325 TR BIXEE LRSS 16 0%
2139 | T 511304%k0ksk5%3042 1364446800 FIRKE BRI i HA k5168 %
2140 [ EH AR 50022 Tkstrtkk 2410 181341271 HPRRE B 4R H A HED 16 44
2141 | [IEME 50023 1okt 2475 130%k4k9587 FIRKE B i 85168 %
2142 | #RIL 532224k kkkkkx%31 19 156548063 HPRRE B 4R H A HED 16 44
2143 | BiE 50038 1 #sksokkik9 ] 34 152351263 TR KEE BIX S 4B HUAES 163 %
2144 ki 410882skskkskk4%8015 1343k 7247 EIRKFE B O8NS 168%
2145 | KM 50038 2:kktksiokiok(0028 138kkx0034 FIRKE B i HA 5168 %
2146 | JH44% 421302%k%5%%%8445 150%%%%1044 PR BIX A 25 BUF S 1683
2147 | BRWT 520103skksotsionior0427 186%s4kT 779 FRKE B i 85168 %
2148 | Fkth 522130%skkk%4%6023 135%%5%6922 HRKF BIX S L5 G BUA 163 %
2149 | L4 51382 Itk 002X 150447800 FIRKE BRI i 8RS 168 %
2150 | HME#E 410225%kkkk45%46 16 18247018 IR BIX B i B AR 16 0%
2151 | ZEH 51092 1 sksoksoksx0229 1524449426 FRKE B i HA 5168 %
2152 | HjHHYL 510822%kkxk%%%556 1 183%#%%7805 HRKSF BIX S L5 G BUA D163 %
2153 | fu[ 32 500101 skt 264 136%54k2907 FIRKE B i HA 5168 %
2154 | fEH T 50023 Ttttk 7905 138tk 2502 TR BIXEE LRSS 16 0%
2155 | HEE 632625% KKKk %0025 185441990 HIR K B LR G HUAES16 4=
2156 | A4 65430 Ikskkrkxk3548 131%%5%3770 TR BIX A 5 A #5162
2157 25 7 5327 25%kksk0kk4%0946 152+4%%%5116 RS BIX B LB U516 0%
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2158 [ XA $204 360481 kst 6014 1319173 CIN TR BIX A LR SRS 18 3 %
2159 [ X3 S204 510922:%ktkstckiok 6793 18542967 EIN HPRRE B LR G H A RS 18 %
2160 | XI7vE S204 50023 1sktksckk0418 18231718 CIN TR BIX A LRSS 18 3 %
2161 | xJFE S204 210122skkkk55x544849 18742051 FR HIR K BIXEE LR G HUAE 18 =
2162 | X% $204 371202kks85%6 325 1893449 HIK HPRRE B 4R H A HED 18 4
2163 | JEIH $204 140425%skkskseskk 0427 15254542542 FR HIR K B LR G HUA R 18 =
2164 | S204 372929%kskkk5%%4829 15148667 R TR BIXEE LR OB RS 183 %
2165 | BALYL S204 5110235431 8 1535064 EIN FIRKE B Li & #5188 %
2166 | Frlp S204 5107245850044 15255216 CIN PR B o S k5184 3%
2167 | T E S204 4228238855440 1537540 EIN HPRNE B LR A RS 18 %
2168 | i S204 510503%kkkkk5%4558 153449721 HIK HPRRE B 2R H A HED 18 4
2169 |  Emy $204 53030 2skkkkk8k£03 28 180559503 EIN PR B LR S HUAES 18 =
2170 | ki $204 140525k #kk54%6 316 153465641 N PR B R A WD 188 %
2171 | HiEVH S204 513826k kkkk%5%0028 1365542332 EIN PR B LR BB RS 18 =
2172 | Y S204 42108 T#kskskkk 2722 1599060 HIK HPRRE B 4R H A HED 18 4
2173 | S204 37098 Jkksokotkk 4227 15 k1325 EIN HPRRE B 4R A RS 18 %
2174 | MR $204 612422k sk3k%%0027 15250988 HIK HPRRE B SR H A HED 18 4
2175 | R $204 50023 3kkkkrdk642 | 1525541385 EIN PR B LR BB 18 =
2176 | 9Kk S204 411303sktk8k560087 156544968 HIR HPRRE B 4R H A HED 18 %
2177 | 5KEH: $204 412724%55s5554% 792 | 15 k2571 EIN HIR K BIXEE LR G HUAE I8 =
2178 | kM $204 511525%kkkk%3£0027 186%#%%5259 EN KRR BIX S i BUAES 18 =
2179 | 9KEy $204 513425%%kkk%%%3525 15941148 EIN PR B LRSS ES 18 =
2180 | B4R $204 411082kkk55%%4248 186%+5%8043 EIJN HRKRF BIX S L5 G BUA D18 =
2181 | BA/NEL $204 5002355k 7400 1365557405 EIN PR B LR GRS 18 =
2182 | Bt $204 140623#ktk8% 452X 1574543266 CIN FIR K2 BIX B LR HUF B 18 =
2183 | JEAEE S204 510403%kk555%0320 1525542139 EIN HIR K BIXEE LR G HUAHE 18 =
2184 | HL/NEK S301 500105%kskskk642X 138skkotk4 740 CIN HPRRE B LR H A HED 18 %
2185 [ R T Y4 S301 35088 1 #skkokik(0387 135%k4k2725 EIN FRKE B 4i B E5 188 %
2186 | MRl S301 360730%kkk%%%3130 189554440 EIN KRR BIXEE i BUAES 18 =
2187 | BRar® S301 500228 #kkkk55x545069 1355549232 EIN PR B LRSS RS 18 =
2188 | MrEE $301 41052 THskkkkx%4627 151%%%%9937 EIJN HRKS BIX S LG BUA D183 =
2189 | BRfiE S301 4304223585459 434 13542137 EIN PR B LRSS ES 18 =
2190 | BRNGHE S301 421 10255555545 8229 18 1skkk1 346 GIN FIR K2 BIX B LR A HUF D18 =
2191 [ BReAR S301 500105%kksk5%0652 1864+£0397 EIN FRKE B i B E5 188 %
2192 | FEFIGE S301 41092855k 1640 153549773 HK HPRRE B 4R G H A HED 18 4
2193 | ARUtER S301 500222k kkk5%2819 137543314 EIN HIR K B LR G HUAE I8 =
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2194 [ B S301 14062455k x55%%2548 1535813 CIN TR BIX A LR SRS 18 3 %
2195 [ X320k S301 511323sksksotokok 3726 1525455326 CI/N HIR K B LR G HUAE 18 =
2196 [ JHM S301 5001035552126 156545213 CIN TR BIX A LRSS 18 3 %
2197 [ TR S301 51152 [k 0038 159443206 FR HIR K BIXEE LR G HUAE 18 =
2198 | HAM S301 65290 stk 041 1 158%+k6863 CIN TR BIXEE LR OB S 184 %
2199 | H#HW S301 14223 4sss5855% 1 025 158+k+k3546 FR HIR K B LR G HUA R 18 =
2200 2 S301 500106kksk8112 15255098 HIK TR BIXEE LR OB RS 183 %
2201 | BCRRE S301 511622%%k%k%5%641X 185%#59842 EIN FIRKE B Li & #5188 %
2202 s $301 410504%%k%55%%2043 136%#5%1845 EN TR BIX A 45O B 5188 %
2203 | {14k S301 500221 stk 3715 188548217 EIN HPRNE B LR A RS 18 %
2204 | @l S301 130225%kkkk5%%593 1 153s%+k¢9095 HIK HPRRE B 2R H A HED 18 4
2205 |  mH S301 41142 ks 233 13347278 EIN HPRNE B 4R A RS 18 %
2206 | P& S301 411326%%k%55%%2829 130%#5%0408 EN KK BIX S 4 BUAES 18 =
2207 | E4RE S301 37131 2tttk 7130 13 1kt 48611 EIN PR B LR BB RS 18 =
2208 | ZEIRES S301 511623%kkk%%%8167 180%#%%9455 EIJN HRKF BIX S LG BUA D183 =
2209 | FRER S301 632123 %kskk4%2149 1899427 EIN HPRRE B 4R A RS 18 %
2210 [ ABR S301 1401 05%#kkk55k%5037 136544678 GIN FIR K2 BIX B LR A HUF D18 =
2211 | fHRH S301 500235skkskekskotokk 2903 1387234 EIN HIRKY: BIXEE LR G HUAHE 18 =
2212 fa[Jy S301 340825% kK555 3726 1894196 CIN HPRRE B 4R H A HED 18 %
2213 | #KE S301 431 12T#kskk%%28 12 18844481 EIN HPRNE B 4R A RS 18 %
2214 | A S301 3403223%%55555x%005 1 188k 7849 GIN PR B LR G WA D188 %
2215 | HHEE S301 42108 Isksoksoknk 1 903 1525458977 EIN HPRRE B LR A RS 18 %
2216 | Tl S301 500108550445 1857853 HIK HPRRE B 4R H A HED 18 4
2017 | FHi 4 $301 5201 1 Jskskeksiotosiek08 18 138%5k%4774 IR HRKYE BIX B LR B U5 183 %
2218 | BIETY S301 1306343tk 2540 181548834 ES FIR K2 BIX B LR HUF B 18 =
2219 | EEW S301 411422%ksks54%51 45 15 159302 EIN HIR K BIXEE LR G HUAHE 18 =
2220 | LI S301 50022 3%kkk555%0629 1365031 K PR B LR G WA D188 %
2221 | MmNy S301 410185%kskk4%2065 15341654 EIN HIR K B LR G HUA R 18 =
2222 &K S301 411424555k 55k %% 455X 13554k 2567 HIK HPRRE B LR H A HED 18 4
2223 | &R S301 53202 4%kkkk4k%0323 18750479 EIN HPRRE B 4R G A RS 18 %
2224 | ZWH S301 5002245%kkkk%5% 1967 152545769 IR HPRRE B 4R H A HED 18 4 4
2225 | 2K S301 142303 %sss855%83 1 3 13953690 EIN HIR K B LR G HUA R 18 =
2226 | & S301 511126%ksk850020 13555985 GIN FIR K2 BIX B LR A HUF D18 =
2227 | ZHiHs S301 4109265555536 24 1574554083 EIN HPRORE B 4R A RS 18 %
2228 | ZEXAL S301 37290 kst 2624 1519013 CIN FIR K2 BIXEE LR A HUF B 18 =
2229 | ZE S301 142433 %ss85% 1 038 1505542844 EIN PR B LRGSR 18 =
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2230 | A& S301 142303%kkkk55%413X 15348748 CIN TR BIX A LR SRS 18 3 %
2231 | BAt1E S301 50010 7setsotsotesk 162x 182347951 EIN HIR K B LR G HUAE 18 =
2232 | BiE S301 432503skkotokonk 082X 13552696 CIN TR BIX A LRSS 18 3 %
2233 | R S301 5105223%kkk5554410 18941696 EIN IR K BRI i HA 5188 %
2234 B S301 4210833k 161X 153skx8112 CIN TR BIXEE LR OB S 184 %
2235 | BEHHRL S301 5101 1 23kt 1 837 15254546066 EIN FIRKE B i HA k5188 %
2236 | BHM S301 500383%kkxk%%%3460 151%%5%0785 EIJN TR BIX A 5 A #5182 %
2237 | & S301 43042 1 ssksokoknk0025 156%k4k4267 FR HIR K B LR G HUAHE I8 =
2238 | XA $301 411329%kk5k%%1 340 180%#%%3443 EN TR BIX A 45O B 5188 %
2239 | XIEN S301 37130245402 | 1892040 EIN PR B LR BB ES 18 =
2240 [ XILEE S301 41302655585k 1224 18255997 CIN HPRRE B 2R H A HED 18 4
2241 | X/NE S301 430426k k554527 17 15654554728 EIN HIR K BIXEE LR G HUAE 18 =
2242 | 2L S301 510129kt 2544 13 1okotck5572 HIR PR B 4 A B ks 188 %
2243 | LR S301 41282 Tk 004 1 153%k%1849 EIN PR B LR BB RS 18 =
2244 | MEEH S301 51302 stk 0207 18650879 HIK HPRRE B 4R H A HED 18 4
2245 [ R S301 41152 k5555550079 156%k4k4187 EIN FIRKE B i B 5188 %
2246 | ®= S301 522101 skstoksckk 7627 1854307 GIN FIR K2 BIX B LR A HUF D18 =
2247 | el S301 34222 1 wkskioksk822X 156%k+%3259 GiY/N HIRKY: BIXEE LR G HUAHE 18 =
2248 | 28 S301 3405035550014 1853488 CIN HPRRE B 4R H A HED 18 %
2249 | % S301 612322%ksk3k3% 1229 158%#5%7072 EIN HIR K BIXEE LR G HUAE I8 =
2250 | XLRE S301 500109%kk3k%5%7921 150%#5%1573 EN KRR BIX S i BUAES 18 =
2251 | Wkl S301 500106%kkskx%8123 1525554076 EIN HPRRE B LR A RS 18 %
2252 | LT S301 500228%kkkk%5%6563 15 k9622 HIK HPRRE B 4R H A HED 18 4
2253 | @i S301 50011 3tttk 7821 1525543334 EIN PR B LR GRS 18 =
2254 | EEW S301 5002265555500 1 X 13650813 CIN FIR K2 BIX B LR HUF B 18 =
2255 | OF# S301 50023 [stetrk004 1 1892937 EIN HIR K BIXEE LR G HUAHE 18 =
2256 | HREEE S301 652324%kskskkk 4727 1879385 HIK HPRRE B LR H A HED 18 %
2257 | HRmEEZL S301 62052255k k4% 2587 183#k4k3617 EIN FRKE B 4i B E5 188 %
2258 | EuE S301 5001035554720 15259389 GIN PR B R A WA D188 %
2259 | At S301 14058 1 ket 929 1888441 EIN PR B LRSS RS 18 =
2260 | fir4r S301 50038 Lk 9427 1565443353 HIR HPRRE B 4R H A HED 18 4 4
2261 | JrHvE S301 41042235k 55%%7073 15354544686 EIN PR B LRSS ES 18 =
2262 [ P S301 34122 #ktoksckkk 6652 189skkx0417 GIN FIR K2 BIX B LR A HUF D18 =
2263 | FhE $301 429006%skkskotokk0633 1893k 1832 PR PR B LR SRS 18 =
2264 [ FhF S301 52252 THkkkkkx% 2526 156544269 CIN FIR K2 BIXEE LR A HUF B 18 =
2265 | EKAH S301 430482k xkx%%%3579 18541360 EIN HIR K B LR G HUAE I8 =
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2266 | B S301 500225%kskkkk5%1126 13051223 CIN TR BIX A LR SRS 18 3 %
2267 | FEF S301 511023sksksotskok6349 1880876 CI/N HIR K B LR G HUAE 18 =
2268 | JEA S301 41022388k 3528 136542865 CIN TR BIX A LRSS 18 3 %
2269 | 4 S301 131125%kkks8x341X 131344601 FR HIR K BIXEE LR G HUAE 18 =
2270 [ FAM S301 410102%k55555%0079 1535493 CIN TR BIXEE LR OB S 184 %
2271 | F# S301 420624 %5s55534k002 1 152446680 FR HIR K B LR G HUA R 18 =
2272 EM S301 13062 7#kkkk55%262X 153449784 EIYN TR BIXEE LR OB RS 183 %
2273 | Tk S301 500106%kkkk5%0824 135547610 EIN FIRKE B Li & #5188 %
2274 | SUREHA S301 50010 Lok 3546 152340257 CIN PR B o S k5184 3%
2275 | #ygvk S301 342626k k555561 36 1365557320 EIN HPRNE B LR A RS 18 %
2276 | M IFEL S301 5002265 kkk555% 1510 138466849 CIN HPRRE B 2R H A HED 18 4
2277 | WK S301 412726%%x%x%%%5859 188558260 EIN HPRNE B 4R A RS 18 %
2278 | MEHE S301 411123skkxkkx8027 15 sokoick 1912 EN IR K BIX B L B BUARES 182
2279 | MR S301 513030%%k%4%%%8019 13259990 EIN PR B LR BB RS 18 =
2280 | LT S301 511025%kskkkk5%3451 153464994 HIK HPRRE B 4R H A HED 18 4
2281 | Ml S301 510722%%k%5%5%6629 187543594 EIN HPRRE B 4R A RS 18 %
2282 | ol S301 511623%kskkk5% 1 16x 1898349 GIN FIR K2 BIX B LR A HUF D18 =
2283 | K S301 340823kt 3 28 1892974 EIN PR B LR BB 18 =
2284 | ik S301 42088 Lsksksskkk8733 13 13kkk5297 HIR HPRRE B 4R H A HED 18 %
2285 | 7S S301 511602845091 | 1365548043 EIN HIR K BIXEE LR G HUAE I8 =
2286 | HE S301 21021 3kt 3925 1596194 N PR B LR G WA D188 %
2287 | R S301 50023 L0016 1365549712 EIN HPRRE B LR A RS 18 %
2288 |  EM S301 511303 %kkskk4:0634 1505552740 EIJN HRKRF BIX S L5 G BUA D18 =
2289 | HfE S301 510682skkkk85%3197 18942214 EIN HIRKY B LR G HUAHE 18 =
2290 [ WM S301 51031 Lkttt d 51X 13652217 CIN FIR K2 BIX B LR HUF B 18 =
2291 | FKARM S301 511304skkskksokiek 3616 18753968 EIN HIR K BIXEE LR G HUAHE 18 =
2292 | KIETE S301 372930k 7702 13553310 CIN HPRRE B LR H A HED 18 %
2293 | BB S301 43052 [k k285X 136559882 EIN HIR K B LR G HUA R 18 =
2294 | RWHIE S301 500108kt 0824 185%k4k4 713 GIN PR B R A WA D188 %
2295 | JAFRKE S301 50038 stttk 771X 1525459392 EIN HIRKY: BIXEE LR G HUAE 18 =
2296 | JAWN S301 50023 Lk 4363 15957932 HIR HPRRE B 4R H A HED 18 4 4
2297 | JERRUE S301 500382%kkkk%4%4867 158%+5%7917 EIN HPRRE B 4R A RS 18 %
2298 | JHpE S301 51370 1kt 3215 1835457601 EiS FIR K2 BIX B LR A HUF D18 =
2299 | JHPE S301 50023 3kttt 3145 13554546625 EIN HPRORE B 4R A RS 18 %
2300 [ 45 $302 5001035555920 13655452492 ES FIR K2 BIXEE LR A HUF B 18 =
2301 | fEHn $302 52012 2skkkk8x5 3824 1525450679 EIN PR B LRGSR 18 =
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2302 [ BEXK S303 522226k kkkkkk% 4443 1365302 CIN TR BIX A LR SRS 18 3 %
2303 | mAE S303 500226%kksoksok 3988 134353830 CI/N FPRARE B LA AR5 18 =
2304 | Azl S303 50024 Ikt 0018 1896046 CIN TR BIX A LRSS 18 3 %
2305 | ALE $303 51082 [kttt 7617 15348171 FR HIR K BIXEE LR G HUAE 18 =
2306 | BRAEEDS S304 500101 skt 8340 15258007 CIN TR BIXEE LR OB S 184 %
2307 | BREH S304 1406245 k385450522 150444816 EIN FIRKE B i HA k5188 %
2308 [ fI4rEE S304 411325%k5k5555 7829 1523545503 1 K TR BIXEE LR OB RS 183 %
2309 | HA S304 500105%%kkk%%1815 136%k4£2912 EIN FIRKE B Li & #5188 %
2310 [ Z=E>% S304 511023kt 7160 1891026 CIN PR B o S k5184 3%
2311 | XIZE S304 500236kkkk55£0028 152:44K7702 EIN FIRKE B i #5188 %
2312 [ x| S304 50038 Lk 2920 137456175 HIK HPRRE B 2R H A HED 18 4
2313 | Bofbth S304 41272 Tk %4048 1884448439 EIN FIRKE B 4i & HA 5188 %
2314 | VEEES S304 50022 Tkt 1 629 18559178 CIN PR B R A WD 188 %
2315 [ Fldfk S304 410423 %5555555%4910 188:k4k1386 EIN FIRKEE B 4i & #5188 %
2316 | F#b S304 422325%xkkk%%%4617 188%#k%1673 EIJN HRKF BIX S LG BUA D183 =
2317 | HikkE S304 360732k %%k %%%583 1 188k4k8343 EIN HPRRE B 4R A RS 18 %
2318 | Miki S304 411503%k5k554% 1050 13133597 GIN TR BIXEE LR OB ES 183 %
2319 | ¥4 S304 152822kt %4527 188+k4£0376 GiY/N HIRKY: BIXEE LR G HUAHE 18 =
2320 | A S304 50010 Lkt 1 522 13658257 HIR HPRRE B 4R H A HED 18 %
2321 | Bl S401 411326%58545%5224 1364k4£2425 EIN IR K B 4i B E5 188 %
2322 [ gk S401 41132 Ik 3424 13559070 HIR HPRRE B 2R H A HED 18 4
2323 | BREDSY $402 152822 kksksk%x3523 137445671 EIN FIRKE B 4i B E5 188 %
2324 | XBF] $402 510522k %k55%372X 1894517 HIK HPRRE B 4R H A HED 18 4
2325 | TR S402 65400 1 #ksokokk2923 136447186 EIN FIRKE B i B 5188 %
2326 | HEXF S402 130823 %kskk55k%601X 183%#5%0419 EN KRR BIX S L BUAES 18 =
2327 | B $402 142603%skkskkskekk83 10 1881969 EIN PR B LR S HUAES 18 =
2328 | ME% S402 6422245k skskkk 4227 15947757 HIK HPRRE B LR H A HED 18 %
2329 | ZEEE S402 36220 Lkt | 224 188+k4%9198 EIN FRKE B 4i B E5 188 %
2330 | ¥k S402 500101 %kk3k%5%%4656 151 %%k% 7712 LN KRR BIXEE i BUAES 18 =
2331 | Z=FHEH $402 14041 1 sskoisiosek 2423 15254543248 EIN PR B LRSS RS 18 =
2332 | R $402 1521224554520 1885275 HIR HPRRE B 4R H A HED 18 4 4
2333 | s S402 620522k 1075 188448340 EIN FIRKE B “4i & #5188 %
2334 | XIpk S402 510703%kkxk%%%3624 184%%%3003 EIJN HRKSF BIX S LG BUA D183 =
2335 [ XIEF S402 511303kt ] 35X 135%k4£0432 EIN FRKE B i B E5 188 %
2336 | Thie S402 14042 T35k 55%082X 1774557655 CIN FPORE B LR WD 18 8 %
2337 | BRFHZE $402 440103 k355452423 15244k5702 EIN FIRKE B 4i & #5188 %
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i SURAN 50023 4%*kk%%%8109 188%#k%1456 PR BIXE 255 BUFED 183 %
M 510182skksetseonsion 1 62X 150554499 HIR K B LR G HUAE 18 =
Trigt 14052455k xk55%2014 1883893 PR B o Hp 5184 3%
TrU 411082tttk 1832 132+k4k3526 IR K BRI i HA 5188 %
NG 1309245k k55522 1 18940972 PR B o S iks 184 3%
s 500240%kkk5%0587 183449600 FIRKE B i HA k5188 %
FH < FH 610528 %kkkkx%x5113 187#%%%4573 HRKSF BIXEE LG BUA D183 =
T 410504ssksstkoteotok ] 02X 187#%%%3430 PR BIX B LR B U5 183 %
T 522125%kskk44%0079 15 k0140 EIRKFE B O 8184 %
L] 37 142 Tksoksiotskok 1620 18847051 FIRKE B i #5188 %
IR 511024%kkkckkk7803 1513066664 IR K BIX B i B BUARES 182
YL 652322554k 4k 1526 1524446365 HPRNE B 4R A RS 18 %
¥ S B 500382kt 1509 139#kxx3747 IR K BIX B L B BUARES 182
FHE 13063 3sketkotoksiorkd 729 1513%k4k1796 FIRKEE B 4i & #5188 %
FL 5001 08sskksokkok(0422 156%#+x3158 IR KR BIX S LR O HUARES 18 %
B R I 371328%skkk5%2013 188sk£8449 HPRK B LR G A AR5 183 =
e 52222 5%kkkkkx%2419 18Tkotk 7548 TR BIXEE LR OB ES 183 %
PIRR 62280 1kktokk0 12 1813%k4k2432 FIRKE BRI i 85188 %
J e B 513030skksokkik6723 188345175 IR BIX S LR O HUARAS 18 %
I 75k 510922sksksokskor 1 844 151k4k3573 IR K B 4i B E5 188 %
HH 1305253tk 3327 151 %kk2321 IR KR BIX S LR B HUARES 20 %
R 612525555406 20 15240049 FIRKE B 48 & #5208 %
T 500107 #skkskk6528 185%%%%2872 KK BIX B 4 BUAES20 8 =
FA B 513822sksckk3k0089 136%sk4k2119 FIRKEE B 48 & #5208 %
g 513334k 0026 188sksox 1948 PR B LRGBS 20 4 =
¥/ 510922:%ktkskok0085 18840949 HPRRE B 4R A HEb20 8 %
M 13042 1 #sksoksrx3328 15342770 IR K% BIXEE LR G HUAER 20 =
VNS 50038 2:kktoksioksiok 4042 135%k4k2448 HPRRE B 4R A Eb20 8 %
Bl 50022 Tsekksokosiok 1 324 18349166 IR K BIX R L A AR 202
X1 50023 5sksekseonsok 861 1 13958478 TR K BIX S 45 A HUAER208 %
fii A A 511622%kx5%5%006X 136%+5%1960 HRKS BIX S LG BUA 20 %
5 /NEE 511023sksksokskok 2664 152+k4k9126 HPRRE B 4R H A Eb20 8 %
4 H 14041 1#skskk %4822 13557979 FIR K2 BIXEE LR A HUF 20 =
AL 36222 Tseksiotsiotier 1515 152446106 FRKE B 48 & B 5208 %
o 53038 1 kskskkksk]553 1325554635 PR BIX A 25 BUF 2085
Tz 41270255 5555456924 1883457910 HIRRE B A R G HUA b 2040
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2374 BiE S502 50023 Lok k6797 18650361 HIK FPRRE B 4R G H A HEB20 4 4
2375 | kAT S502 142723 skkstokootok 1427 188sk#kx8027 EIN HIR K B LR G HUAER20 4%
2376 | R S502 50011 3ok 2420 1519339 CIN TR BIXEE LR U204 %
2377 | B4 S503 5002264850322 152555892 EIN FIRKE BRI 48 & B k5208 %
2378 | FR S503 52213 sktksckk 0825 188545803 1 K TR BIXEE LR O HUA 204 %
2379 FH 4 S503 50024 [k 3 1 23 18547910 FR HIR K B LR G HUAER 204 =
2380 | Jri4l S503 422828 kK k45573 1 188+:%9890 HIK TR BIX S LR O HUA 204 %
2381 [ 523lH S503 610324%kkk8k k1564 136%k4k1959 FR HIR K B LR HUAER 204 %
2382 [ IR S503 500225kt 381X 13843188 CIN PR B 4 S p520 2 3
2383 | VrlE S503 51382 Ik 7043 182543224 EIN PR B LR BB 20 =
2384 | AhfbAD S601 42068455k x5k 4524 15946693 HIK HPRRE B 2R G H A HEB20 4 4
2385 | ZE KA S601 421003 %5555 1036 152%k%4118 EIN HPRNE B 4R HAEb20 8 %
2386 | fu[H S601 61230 Lskskkrsk 094 x 15254409 CIN PR B LR WA EB20 8 %
2387 | ZHRifE S601 41042355k 1576 1884547621 Gil/N HIR K BIXEE LR G HUAER 204 %
2388 [ =RV S601 50023 4%kkk555%0013 18652186 HIK HPRRE B 4R H A HEB20 4 4
2389 [ XifFex S601 513822k kkkx%8225 18 k#1857 EIN FRKE B 48 & B 5208 %
2390 | 4 S601 41150245k x%k454X 187547801 ES FIR K2 BIX B LR A HUF 20 =
2391 | xlychh S601 370282k kkkx%3613 186552004 EIN PR B LR SRR 20 =
2392 | & S601 513902%kkkk%4%2313 187#%%%4625 EN KRS BIX S L5 G BUA 20 =
2393 | dfhiA S601 41090 Lisksokskk4032 136454041 EIN PR K B 48 & #5208 %
2394 [ S601 610526%k*kk4%523 1 15253857 HIK HPRRE B 2R G H A HEB20 4 4
2395 [ L S601 510522%kksk5%1 108 185%#k%2852 EIN PR B LRSS0 =
2396 [ TR S601 4105224k skxk4%0345 1887613 HIK HPRRE B 4R G H A HEB20 4 4
2397 [ FfiE S601 411524554555k 4%5616 188547611 EIN FIRKEE B 48 & #5208 %
2398 [ %A S601 370503 kksk5£291 7 18847568 CIN FR K2 BIXEE LR A HUF B0 =
2399 | S/ S601 5002245555523 26 134550845 EIN PR B LRSS ER 208 =
2400 | rEa4 S601 50011 3ok 692 1 138465269 CIN HPRRE B 2R G H A HEB20 4 5
2401 | RG] S601 511602%%k5555%0729 153541790 EIN PR B LRSS ER 208 =
2402 | MlE)E S601 5101295555 002X 18650472 N PR B LR WA EB20 8 %
2403 | KA S601 5002265 %k%5%5%1930 15942589 EIN PR B LRSS ER 20 =
2404 [ R S601 61011 3%ksks0k3k1619 152344527 HIR HPRRE B 4R G H A HEB20 4 5
2405 | WG R S601 511 126%kkkk55%0028 1525541524 EIN HIR K B LR G HUAER 2040 %
2406 | 9K S601 50023 4%k55555%0970 15233451831 EiS FIR K2 BIXEE LR A HUF 20 =
2407 | gkfE S601 62032 Lsekstoksioktok00 13 13 k#8929 EIN PR B LR S HUAER 20 =
2408 [ B S601 511622ksk450040 152549773 CIN FIR K2 BIXEE LR A HUFEB20 4 =
2409 | XA S601 13092 Ttttk 4849 153%%5%1662 GIN HRKYE BIX B LB P 5202 %
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2410 | LA S602 511225%%k555%%0016 18231393 CIN TR BIX A LR O U204 %
2411 | b R S602 362226 kkotier 1224 1525355989 CI/N HIR K B LR G HUAER20 4%
2412 FH ] S602 51052 Lkt 388X 15864034 R TR BIXEE LR U204 %
2413 | fRBH S602 34242 3kkkkk%5%2579 1525548249 EIN FIRKE BRI 48 & B k5208 %
2414 | 5KMA S602 41272 Tkskskx%5023 13659865 CIN TR BIXEE LR O HUA 204 %
2415 | R S602 511323kt 237X 136%k4£1914 FR HIR K B LR G HUAER 204 =
2416 | FRH S603 2308823 kkkk%5%0615 18659347 HIK TR BIX S LR O HUA 204 %
2017 | WRfR S603 4114025535355 106X 1888890 EIN FIRKE B 48 & #5208 %
2418 | FEX S603 50011 2tk 383X 15057433 CIN PR B 4 S p520 2 3
2419 | AT S603 410523 %kk 554546523 150550206 EIN HPRNE B 4R HAEb20 8 %
2420 | AR S603 2102823kkkk45%23 1 X 152541340 CIN HPRRE B 2R G H A HEB20 4 4
2421 | AR S603 51340 Dotk ] 341 1361327 EIN HIR K B LR G HUAER 204 =
2422 | FEALFE S603 51132 Lk q 413 134546909 HIK HPRRE B 2R G H A HEB20 4 4
2423 | AL S603 513022skkkk555 7694 180%+5%9563 EIN PR B LRSS0 =
2424 | pyleh S603 3412823%kkk555% 2826 1339114 N PR B LR A Eb20 8 %
2425 | HIEST S603 3705024844468 22 152554032 EIN PR B LRSS ER 20 =
2426 | ¥ S603 410425%5k4k4% 1566 18558060 GIN FIR K2 BIX B LR A HUF 20 =
2427 | mWEKX S603 500382%kkski% 1497 185%#kx1121 EIN HPRNE B 4R A Eb20 8 %
2428 | TR S603 51101 Lsksksctror] 75X 15744406 CIN HPRRE B 4R G H A HED20 4 5
2429 | EEIME S603 41272 ks sk 469X 159542391 EIN HPRNE B 4R H A Eb20 8 %
2430 | HEWF S603 510184kt 2660 155%+k¢9093 GIN PR B LR WA EB20 8 %
2431 | ## S603 620522k 2524 155%+%6268 EIN HPRNE B 4R H A Eb20 8 %
2432 [ AR S603 412728k sk k456832 13641583 HIK HPRRE B 4R G H A HEB20 4 4
2433 | BEILE S603 452123 sk 4k 5565 15254542172 EIN PR BIXEE RSS20 =
2434 | XBE S603 41152 Iasksksknk6428 1890581 CIN FR K2 BIXEE LR A HUF B0 =
2435 [ S603 510704%%kkk55%2128 1525%5%3105 EIN FRKE B 48 & B 5208 %
2436 | XIfE S603 511025k 0588 15235448422 N FPORE B LR WA EB20 8 %
2437 | Xk S603 622123 %kkxk%%0325 158558286 EIN PR B LRSS ER 208 =
2438 | iliE S603 370826kt 4701 1318781 K PR B LR WA EB20 8 %
2439 | RISk S603 50010 7*kkkk55%6522 135%#%2873 EIN FRKE B 48 & B k5208 %
2440 | P4 S603 500101 %sksk55%690X 151 %%5%8629 EIJN HRKS BIX S LG BUA 20 %
2441 | ik S603 5001025555477 1 1891245 EIN HPRRE B 4R H A Eb20 8 %
2442 | OBy S603 511502kskskk%1959 1875455361 EiS FIR K2 BIXEE LR A HUF 20 =
2443 | TS} S603 1427255855800 44 188558997 EIN PR B LR S HUAER 20 =
2444 | Ak S603 510503%kkxk%%%4556 135%#5%4853 EIJN HRKF BIX S L5 G BUA 20 =
2445 | PRI S603 130728kttt 0025 188%++%8896 GIN HRKYE BIX B LB P 5202 %
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2446 | fH4 S603 50024 2k 8262 155548426 CIN TR BIX A LR O U204 %
2447 | M S603 420106tttk 362X 133k4k1836 CI/N FIR K BIX A L A k520 =
2448 | HIGYE S603 5001 1 2sksksrckrk523X 13659987 CIN TR BIXEE LR U204 %
2449 | FH S603 37152 3skkkk8:05 1 4 1534446316 FR HIR K B LR G HUFER 204 =
2450 [ ESF S603 4211224k sksk4%5422 1596980 CIN TR BIXEE LR O HUA 204 %
2451 [ F& S603 372929kt ] 282 135348741 FR HIR K B LR G HUAER 204 =
2452 | F#& S603 510902s#skkk%%%5318 15231502 EIYN TR BIX S LR O HUA 204 %
2453 | B S603 6227265k k55300 22 152+4k4k4186 EIN FIRKE B 48 & #5208 %
2454 | BB S603 370786kkkkkokokok 5742 189kk%3742 EN FPR K BIX A LR A BB 20 =
2455 | M S603 510524%%*%5%%%0556 189+k4k3446 EIN FIRKE B 48 & B k5208 %
2456 | IR S603 513922kt 290 152545686 CIN HPRRE B 2R G H A HEB20 4 4
2457 | SCFE S603 51392 2skkkk85x5 2984 1504+%5798 EIN HPRNE B 4R HAEb20 8 %
2458 | Ry S603 511023%*kkk%4%8762 152%%%%5797 EIN HRKRF BIX S L5 G BUA 20 %
2459 | AT S603 50023 0skkkkook 488X 1364k4:£5929 Gil/N HIR K BIXEE LR G HUAER 204 %
2460 | igfEE S603 511381 sksctrotkk 0691 18657745 HIK HPRRE B 4R H A HEB20 4 4
2461 | VFIR S603 51370 [kt d016 18858897 EIN HPRRE B 4R #5208 %
2462 | MKE S603 500384%kkxk%5%8230 183%%%%1221 LN IR BIX B i B L2080 =
2463 | B L S603 620523 skt 1 726 152447532 EIN HPRNE B 4R A Eb20 8 %
2464 | Mtk S603 510823ktksckk 7735 1591893 CIN HPRRE B 4R G H A HED20 4 5
2465 | Mg S603 5101245555601 1 1534448237 EIN HPRNE B 4R H A Eb20 8 %
2466 | @kl [ S603 340823 %kkxk%%%2140 151%%5%%7305 EIN HRKF BIXEE L5 G BUA 20 =
2467 | HRE S603 511023%kkk55%5%5066 15240920 EIN FIRKE B 48 & #5208 %
2468 | IkwTF S603 510183%kkskkk4%k3512 152%%%%4388 EIJN HRKRF BIX S L5 G BUA 20 %
2469 | kil S603 511602s%k555%%1916 185440096 EIN FIRKEE B 48 & #5208 %
2470 | kR S603 5304025k %k%%%0617 152+%%%%8599 EN KRR BIXEE 4 BUAES20 8 =
2471 R4k S603 50024 2%%5%5%%%0046 152+k4k4502 EIN FRKE B 48 & B 5208 %
2472 | sRANE S603 510184%kk3k%5%%656 1 182%%%%9362 EIJN RS BIXEE LG BUA 20 %
2473 | KA S603 511923%kkkk55%6193 189443143 EIN FIRKE B 48 & #5208 %
2474 | BE L S603 452123tk 1 088 1871087 HIK HPRRE B 4R G H A HEB20 4 4
2475 | XK S603 500109kt ] 327 1834k4k7292 EIN FRKE B 48 & B k5208 %
2476 | P S603 510302%*%3k%%%0526 152%%%%4579 EIJN HRKS BIX S LG BUA 20 %
2477 | JEE B S603 500382skseksieonsion 4 281 1523446151 EIN FIRKE B 48 & #5208 %
2478 | g5 S603 50022 Tkt 1614 1864752 GIN PR B LR WA Eb20 8 %
2479 | Hjrfop S604 513723kkkkkk%31 31 1864+%9104 EIN HPRORE B 4R H A Eb20 8 %
2480 | AR S604 510106%*k5555%001 1 1885457922 ES FPORE B LR WA EB20 8 %
2481 | ZFHH S604 1427295tk 2 747 15354542065 EIN HIR K B LR G HUAER 204 =




Fe| wa | S8 BT FHE | o it

2482 | y/NER S604 513002345454 786X 18847856 CIN TR BIX A LR O U204 %
2483 | Frih S604 4113253tttk 3574 152353311 CI/N PR B A AR 520 8 =
2484 | 1 S604 61230 1k 0327 15847527 CIN TR BIXEE LR U204 %
2485 | L AE S604 510723 k5855552326 1884448387 FR HIR K B LR G HUFER 204 =
2486 | VEZE S604 510683kt 0325 188k#kk7947 CIN TR BIXEE LR O HUA 204 %
2487 | EEHE S604 510504 kkkk5%1229 15741231 EIN FIRKEE B 48 & #5208 %
2488 | EWHTH S604 610322k 1128 13058310 HIK TR BIX S LR O HUA 204 %
2489 | HHF S604 500223k 758 1 1850484 EIN FIRKE B 48 & #5208 %
2490 | VriseE S604 51118 Ikt 4 443 18847873 CIN FPRNFE B i B k520 8%
2491 | 4psE S604 50022 3kkkkkkk:0623 136%k%1442 EIN PR B LR BB 20 =
2492 | ARRETF S604 511502545555 1977 1859912 N PR B LR A Eb20 8 %
2493 | WA S605 5002265kskkskokkek0520 13 10504 EIN PR BIXEE LR S HUAE20H =
2494 | WG S605 500234tk 6673 133sketkx1 325 CIN PR B LR WA EB20 8 %
2495 | fi[# S605 51303 0skkkk8k:0244 152+4k4k4865 Gil/N HIR K BIXEE LR G HUAER 204 %
2496 | BEHE S605 511623%kk3k%%%699 1 153%%5k%7854 EIJN HRKF BIX S L5 G BUA 20 =
2497 | kgt S605 321283kt 1 850 18846114 EIN PR B LRSS ER 20 =
2498 | Fi—% S606 513825kksckk 3827 13235455991 ES FIR K2 BIX B LR A HUF 20 =
2499 | R S606 50010 1 sksksokix7 144 138%#5%2710 EIN HPRNE B 4R A Eb20 8 %
2500 | PLEFS S606 362329 kkskkk5783 13556759 CIN HPRRE B 4R G H A HED20 4 5
2501 [ Z=3CiH S606 372924skwkski%2 14X 152544189 EIN HIRKY BIXEE LR G HUAER 204 =
2502 | S606 13042 Tkt 0022 152545269 GIN PR B LR WA EB20 8 %
2503 | ATxk S606 6205225555507 10 13349617 EIN HPRNE B 4R H A Eb20 8 %
2504 | fPik S606 500102%k%3k%%%2709 152%%%%0716 EIJN HRKRF BIX S L5 G BUA 20 %
2505 [ JHRAR S606 510602%%k%5%%%6810 1395032 EIN PR BIXEE RSS20 =
2506 | TRlzE S606 3715025k k5548237 189skskk428 1 EN TIRKE BIX AR SR A BUF 5204
2507 | BREELE S701 4290064k kk%%423X 131340381 EIN FRKE B 48 & B 5208 %
2508 | PRuR S701 360735%kkkkkx%3239 1887459 CIN HPRRE B 2R G H A HEB20 4 5
2509 | g5 S701 50038 Ikt ] 643 157454797 EIN PR B LRSS ER 208 =
2510 [ e S701 500223kskk8560040 15344635 GIN PR B LR WA EB20 8 %
2511 H& S701 500226k kkkkk5k%551 3 182541696 EIN PR B LRSS ER 20 =
2512 | fa[yliki S701 500101 skt 1 021 15058939 HIR HPRRE B 4R G H A HEB20 4 5
2513 | Bk S701 500223555555 7030 136543184 EIN PR B LRSS0 =
2514 | TifF S701 51012 Lsksotsosk 005X 136548778 HIK HPRRE B 4R G H A HEB20 4 4
2515 | S701 41090 sk 4066 13250919 EIN HPRORE B 4R H A Eb20 8 %
2516 | fEVERK S701 370923%kkk55%%3916 1888308 CIN FIR K2 BIXEE LR A HUFEB20 4 =
2517 | 2 S701 43052 kkkskkxk3787 152440537 R HPRK B LR G A R520 3=
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2518 | ok S701 35018 Lk 2093 136%+k%1110 CIN TR BIX A LR O U204 %
2519 | Xiff S701 50023 5sksksiorskok 7999 152342287 EIN HIR K B LR G HUAER20 4%
2520 | X EAE S701 510322ksk850029 17754557516 CIN TR BIXEE LR U204 %
2521 | RS S701 45092 1 setsotsktsk 00 20 18547734 EIN FIRKE BRI 48 & B k5208 %
2522 | WA S701 43048 skttt 2332 1850569 HIK HPRRE B 4R G H A HEB20 4 4
2523 [ SZFE S701 610326%kxk5555%0210 13644£0932 FR HIR K B LR G HUAER 204 =
2524 | BIRTT S701 511025%kkkk45%355X 15255817 R TR BIX S LR O HUA 204 %
2525 | EHT & S701 4111235854351 6 1525543540 EIN FIRKE B 48 & #5208 %
2526 | HBVEVE S701 342222%kkk45% 1619 15254554041 EN FPR K BIX A LR A BB 20 =
2527 | FHIE S701 5321 28kkktokkk0352 13150335 EIN PR B LR BB 20 =
2528 | F S701 410183%%kksk%%5824 188%##%8511 LN KRR BIX B 4 BUAES20 8 =
2529 |  Hit S701 50038 2skkkk45%00 1 X 139546585 EIN PR BIXEE LR S HUAE20H =
2530 [ CATJF S701 429004%k5k554%5316 13130380 CIN PR B LR WA EB20 8 %
2531 [ BT S701 50023 3ssksskssek 345X 152549697 EIN PR B LRSS0 =
2632 [ AR S701 50023 Lok 603 1 152547258 IS HPRRE B 4R H A HEB20 4 4
2533 | JAJ=NG S701 4127235555558 1 36 186559350 EIN PR B LRSS ER 20 =
2534 | R S701 513023%kkskk5%6151 183%%5k%2768 EIJN K BIX S L5 G BUA 20 %
2535 | SO S702 43112 Ikskscksk801 1 159550017 EIN HPRNE B 4R A Eb20 8 %
2536 | &R S702 511325%kskkkk5%1139 13657870 HIK HPRRE B 4R G H A HED20 4 5
2537 | M S702 51028 Itttk 771X 158%k%1250 EIN HIRKY BIXEE LR G HUAER 204 =
2538 | HjE S702 510902kt 7831 1888404 N PR B LR WA EB20 8 %
2539 | FEME K S703 4104225555545 7093 13957084 EIN HIR K BIXEE LR G HUAER 204 =
2540 [ filfx S703 511324kks856932 13343775 HIK HPRRE B 4R G H A HEB20 4 4
2541 | ZNAh S703 50022 Tkt 1315 15947464 EIN HPRRNE B 4R H A Eb20 8 %
2542 | dAEHE S703 610428 k584544520 136540811 ES FR K2 BIXEE LR A HUF B0 =
2543 | MR S703 50023 3skkskotskotskk 9525 1505546634 EIN PR B LRSS ER 208 =
2544 | FiFH S703 50023 3%kkk%%%6936 157%%%%0107 EIJN RS BIXEE LG BUA 20 %
2545 | Mib S703 510123%kkkkk4%3427 135%+5%9105 EIN HIRKY B LR G HUAER 204 %
2546 [ FHIA S703 130926sksksrokk 1447 152545369 HIR FIR K2 BIX B LR A HUF B0 =
2547 | IRA S703 431224%ksk54%02 1 5 150547689 EIN FRKE B 48 & B k5208 %
2548 | FREIE S101 510125%kskki% 2624 180415873 JA U)K BT IX B CRE 1024 =
2549 | BRAr# S101 510922%kkkkk%0k 184X 152301 284 R PR BEYIR X HECIAE 102 =
2550 | PRIE = S101 510132%skstkkk4022 159skotk6649 J AT PUNIER2E BRI IX FEHCPE 102 %
2551 | PRV S101 52242 T#kskxk%%%98 10 182tk 1 642 SR PUNIERE BRI X HE U C R 1024 %
2552 | PR S101 61232 Tk (0384 1583k4x0265 J AT PUNIER2E BRI IX FEHCPE1 020 %
2553 | HE/NE S101 510522skkkkkk5 3747 152%%5%2205 FSCHTS PUNIER2E BRI X HEHCPE 1024 =
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2554 | HX S101 510104kttt 1860 1363447650 J AT VU)K BT IX BEZLCA 1020 =
2555 | FL/NEE S101 511525%kkkkk%3289 186%#:kx9643 JSCHR PR BEYIR X L CIAE 102 =
2556 aniliy S101 511302skkkk%4%1446 1525552206 R PUNTRES: BRI B 102 =
2557 | mifEmN S101 533222 kkkkk5%3 1 65 1808759 JSCHR PUNIERE BEVTAZ X HE U C AR 1024 %
2558 (mpeH S101 5116023451312 15135280 R PUNTRE: BRI LR 102 2 =
2559 | APy S101 420503 % kK58 4k5525 15650537 SR PR BEYER X I CIRE 102 =
2560 [ fRIbeH S101 411403%55585k45%0986 158440620 JA U)K BT IX B CRE 10240 =
2561 | #HHE S101 511523%kk3k45%5079 1888325 JSCHR PN BRI I CIRE 102 =
2562 | LM S101 140202tttk 3022 187skotk6178 J AR VU)K BT IX BEZLCH 1020 =
2563 | ZH S101 41142 1 skksk4k4442 18445286 1 JSCHR PR BRI X HECIRE 102 =
2564 | M S101 5221 24skskskkkk4419 159tk 7844 J AT U)K BT IX BEZLCA 102 =
2565 | XIFERE S101 42108 1 stttk 2536 1864+£2406 FSCHTS PUNIER2E BRI X HEHC PR 1024 =
2566 | XI/NEE S101 5109023555458 1 136547096 J AT VU)K BT IX BEZLCAR 1020 =
2567 | EE S101 610123 %kkkok k7263 15948601 JSCHR PR VIR X HECIAE 102 =
2568 | B WA S101 511126%kskk4k2123 1523445019 J AT VU)K BT IX BEZLCAR 1020 =
2569 | S101 130183 %kskkiokx0453 1585189 SR PR VIR X HECIRE 102 =
2570 | dfdAR S101 1521 27 settctotk6013 188ktk0058 J AT VU)K BT IX BEZLCA 102 =
2571 BI% S101 511025%kkkkk4k5563 1581215 JSCHR PR BEYIR X L CIRE 102 =5
2572 | ZHIAR S101 500240skskkkkk40 155 187skotk5040 J AT VU)K BT IX BEZLCAR 102 =
2573 | LR S101 510122%ksksk%5x%831 1 1584460 JSCHR PUNIERE BRI X HE U C R 1024 %
2574 | A S101 520103%*kkk%5£0427 187#%%%4503 R PUNIRS: BBYTR X LR 1022 =
2575 | PMNEE S101 51092 1 #kkk5%£0926 152345265 JSCHR PR VIR X HECIRE 102 =
2576 | IEJESC S101 511322%kkkkk554 124 150%k4k3229 J AT VU)K BT IX BEZLCAR 1020 =
2577 | FWEy S101 411328%skkkkx%5043 13538971 JSCHR PUJIER: BRI X HE U C R 1024 %
2578 | EPEST S101 511321 %kkskk%8136 159%#%%2819 R PN ST X LR 1022 =
2579 | Eik S101 5201 23%kkk43k0062 1587210 SR PR VIR X L CIRE 102 =
2580 | TFHyN S101 513030skkskotskotekok 2023 15 Lk#kx7292 Jo PUNIER2E BRI IX FEHCPE 102 =%
2581 | mEHH S101 513722%%k%5%5%0520 13465737 JSCHR PUNIER S BRI X HE U C R 1024 %
2582 |  Tith S101 51118 Dsokssokax 1327 13641505 JH VU)K BT X HE B 102
2583 | 1RBH S101 511102%ksk5k%%%8226 15 1349896 JSCHR PUJIER S BEVTAR X HE U C R 1024 %
2584 | MfE S101 372925%kkxk%%%T 746 152%%%%3476 R PUNIRS: ST X LR 1022 =
2585  FHH S101 511023%kks0kk5%5164 1585304 JSCHR PR VIR X L CIRE 102 =
2586 | BE S101 510703%kxkkk%4%4226 1581038 R VUK BEVTRE X R CJRE 10220 %
2587 | 5Kk S101 37078 4%kkk5%5%052X 178sksk1 289 JSCHR PR VIR X HECIRE 102 =
2588 | BAFE% S101 51013 Ietskotkorkok 3828 1825%#5%0822 AT PUJIER2E BRI IX FEHCPE 102 %
2589 | ABiHE S101 4127285580k 1224 18234356 JSCHR PR VIR X HECIRE 102 =
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2590 | FBAKE S101 5130023kttt 3550 189skk5926 J AT VU)K BT IX BEZLCA 1020 =
2591 B S102 510603%kkkk5%6494 152548701 JSCHR PR BEYIR X L CIAE 102 =
2592 | HiHksH S102 5101845k 7072 13 1skx6812 JH U)K BRI B CRE1 0240 =
2593 | BroeT S102 51342555500 10 136%%5%1609 J A VUNIER2E BRI X HEHC PR 102 =
2594 | RV S102 51390 Itk 3932 153%%%%5451 AR PUJIIR2E BTG IX FEHCIRE 1020 %
2595 | XBHEF S102 500382k k%3587 135%%%%8149 J A PUNIER2E BRI X HEHCPE 102 =
2596 | ALJIAK S102 4312223k885%0218 187sk%9616 J AT VU)K BT IX BEZLCAR 102 =
2597 | FEA S102 50023 4%kkkk%% 1856 183skskok5812 JSCHR PN BRI I CIRE 102 =
2598 | 4EE S102 42011 Ttttk 5576 137sktk4760 J AR VU)K BT IX BEZLCH 1020 =
2599 | #hnlwg S102 510602skksk5k68 1 1 150%k%%7026 FC R PUNTRE: BT X SRR 102 %
2600 | {7/ S102 511622%kkkkk55 2274 1523447009 J AT U)K BT IX BEZLCA 102 =
2601 [ fHHIT S102 42118 Issksokoksk8057 15653996 JSCHR PR VIR X HECIRE 102 =
2602 | B S102 511521 %skskksk 397 153%%%%3413 R PR ST X LSRR 1022 =
2603 | R S102 51303054500 1 X 18535581 JSCHR PUNIER: BRI X HE U C R 1024 %
2604 | A S102 511002s%k%5k%4%7019 1801712 R PUNIRE: EBYTR X IR 1022 =
2605 | HlE S102 513701 %kkskkkk4416 170%#k5491 SR PR VIR X HECIRE 102 =
2606 | A S102 51102349 186 151%%k%1374 J R PO K2 BEYIRG X FEZLCRE 1027 %
2607 | ¥l S102 511622%kkk45k 161X 158kskk5429 JSCHR PR BEYIR X L CIRE 102 =5
2608 | T S102 513822kttt 2438 1863990 J AT VU)K BT IX BEZLCAR 102 =
2609 | a4 S102 51340 Dk 215 15233186 JSCHR PUNIERE BRI X HE U C R 1024 %
2610 | ARG S102 5101 24skksckkickq 331 138364962 JSCHR VU1 K2 BEYTRE X L ZLCIRE 10220 %
2611 | ZfE S102 510603456172 1387596 JSCHR PUNIER S BEVLAZ X HE U C R 1024 %
2612 |  Z&FK S102 511702%k5k55k6283 1583k4k3876 JSCHR PUNIER2E BRI IX FEHCPE 102 %
2613 | &% S102 513821 #kskokok2192 15 13tk 3064 JSCHR PR VIR X L CIRE 102 =5
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3050 | XAz S203 511602kttt 3229 138tk 7214 J AT DU IR VTR X L #CRE 2022 %
3051 | AhE% S203 510922k kk44k6505 135%k3024 JSCHR PR VIR X L CIRE 2028 =
3052 [ Af/A $203 513822:kksk8709 1365843 FCHT U)K BT IX B C R 2024 =
3053 | AjELWHE | S203 5101 1 3skskiokik5325 189%#5%0927 FSC A PUNIER2E BRI X HEHCPE2024 %
3054 | HRET 5203 513723%kkkk45%5587 152%%%%9094 AR PUJIIR2E SETTARIX FEHCIRE202 4 %
3055 | B $203 412722k k55556147 187349958 JSCHR PR VIR X IECIRE 2028 =
3056 | T pIXIMI | S203 6204223484k 87 14 1804913 FCHT U)K BT IX B CRE 2024 =
3057 | N A S203 5002265 %kkk%5%3864 13038786 JSCHR PUNIER: BEVTAR X HE U C R 2024 %
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3058 | K $203 142625%kkktk%395 1 13755550771 T VAR BT IX B C M 202 =
3059 | gl $203 522401 #kkkrk592X 18032765 JSCHR PR VIR X HECIRE 2029 =
3060 | HEHELK $203 511028*#kk555%2020 1845k5k%7712 T VU)K BV IX B C M 20240 =
3061 | FMEEE S203 522221 kst ] 220 186%%5%0840 J A VIR BRI X HEHCPE202 4
3062 | LK $203 5130294454 1957 158%%%%5261 AR VUJIIR2E BTG IX FEHCIRE202 4 %
3063 | ENI S203 510321 #sksiokok0013 189stk6619 SR PR VIR X I CIRE 2029 =
3064 | FH— S203 500104kt 0411 1594566 FSCHT U)K BT IX B C M 20240 =
3065 | /M $203 450722k k%584 1 543 1833013 JSCHR PUNIR: BEYIRE X I CIRE 2028 =
3066 | Ry $203 50023 Itttk 2092 184sk4k2789 J AR VU)K BT IX B C M 202 =
3067 | EEifE $203 61273 2skkk5k4%0345 159%%%%9267 FC R PUNTRE: BT X I CJRE202 9 %
3068 | A $203 52240 Iskskokskk%k5933 183skotk8417 J AT VU)K BT IX B C M 202 =
3069 | FHIRL S203 511102%kk30k%5%2020 18532280 JSCHR PR VIR X I CIRE 2028 =5
3070 | T $203 62222 3sksckckk0323 15 Lkskx6642 T VU)K BT IX B C 2020 =
3071 A7k S203 510402k %k%4k0918 1868895 JSCHR PR VIR X HE K CIRE 2028 =
3072 | HigE $203 511024kttt 3827 15 #ekotk6 105 J AT VU)K BT IX B C AR 202 =
3073 | 5K S203 510823kt 7991 182:44£7408 FSCHS VIR BRI X L HC PR 2024 =
3074 7 B $203 511325%kskkskx4814 17 T#%%%2760 J& AR PUJIR2E BEVTAS X S CRE202 8 %
3075 | BEE S203 370982%kkkk%%% 1359 15537169 JSCHR PUNIERE BEVTAZ X HE L C R 2024 %
3076 | JABE $203 410203sksksk4:0018 152%5k%6432 AT VU)K BT IX B C M 20240 =
3077 [ REMH S203 513426%kkkk5%3219 15 k%7544 J A PUNIER2E BRI X HEHCPE202 4 =
3078 | REM $203 14242 THsksksx2 11X 158sk4k9027 J AR VU)K BT IX B C 2020 =
3079 | HR S204 14223 4%5k5k55%%7118 15657118 JSCHR PUJIER S BEVTAR X HE U C R 2024 %
3080 | B EL S204 510725k sksokkk 7424 139444965 JA U)K BT IX B CRE 20240 =
3081 3% $204 510622%kk3k%5%3029 137342976 JSCHR PR VIR X L CIRE 2028 =5
3082 | PRuidk: $204 51132 Dtk 5489 15 1%%%%7558 AR PUJIR2E TR IX FEHCIRE202 4 %
3083 | BRIEHH $204 513701 %kkskkik 1126 134sk64 154 SR PR VIR X I CIRE 2028 =5
3084 | BRI $204 511325%kkkk45%4015 180%#k%1215 AR PUJIIR2E TR X FEHCIRE202 4 %
3085 | XA $204 511025%kkxk44k8805 134347369 JSCHR PR VIR X HE K CIRE 2028 =
3086 | XR/NE S204 45032 Lkt 402X 187#54%9055 JH VUJIR2: EEYTAS X HE B 2028
3087 | AhEE S204 510521 #ksokki%k0726 13537828 JSCHR PR VIR X L CIRE 2028 =
3088 | A S204 341225%kkk5%%%6316 189sktk6796 J AT PUJIER2E LA IX FEHCJE 2024 %
3089 | i S204 511623%kskskk4%k5728 13648641 JSCHR VUK : BEVTAR X HE U C R 2024 %
3090 | FR{E $204 513902skskkk%5%8219 188skick4513 J AR VUJIER2E BRI IX FEHC PR 202 %
3091 | HHIRER S204 36233 1 #kkokik0025 15653275 JSCHR PR VIR X IECIRE 2028 =
3092 | Hifk $204 510625%kkkkk5%238 1 15 15%%%3781 AR PUJIIR2E TR X FEHCIRE202 4 %
3093 | FERDY S204 61032 Iksokokkk2 74X 1598551 JSCHR PR VIR X L CIRE 2028 =
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3094 | L& $204 421121kt 004X 13 Lsokotck 7042 J AT VAR BT IX B C M 202 =
3095 | L $204 510121 #sksiokk5292 159682211 JSCHR PR VIR X HECIRE 2029 =
3096 | FLA $204 620 105%kkk4x2025 136%%%%0600 AR PUJIIR2E BTG IX FEHCIRE202 4 %
3097 | B S204 50023 1 ##kkk5%5280 1833562 JSCHR PR VIR X I CIRE 202 =
3098 | ZEEM S204 371326kttt 4339 185skotk 1 259 J AT VAR BV IX B C A 20240 =
3099 | ZEhnts $204 432503 skskkksk4580 14 184%%%%9866 FCH VUNTRE: ST X I CJRE202 9 %
3100 | ZEfE S204 510682skskkkotkk 200X 1523k4%3618 J AT U)K BT IX B C M 20240 =
3101 [ ZEMAE S204 37072455k 4k%%6938 182%%%%7983 J A VIR BRI X HEHCPE202 4 =
3102 | Z=0HH S204 450329%kkk%5%1 725 158%%%%9486 R PR ST X LS JRE202 2 =
3103 | &% $204 510108%sksskkk1217 13536054 JSCHR PR VIR X I CIRE 2029 =
3104 | 2 $204 511325s%skkskskosierd 118 130%%%0957 B PO I K2 SV RS X FEZLCIRE202 4 %
3105 [ =G S204 34122 Twkkrk%8339 183%%+%6063 J A VIR BRI X HEHCE2024 =
3106 | BEWIAK $204 511529%kkkk55%9494 187skk2844 J AT DU IR VTR X L HCRE 2022 %
3107 | BEDR S204 511381 %sksokkik 1559 15 1tk 667 1 JSCHR PR VIR X HE K CIRE 2028 =
3108 | xiEki) S204 510823tttk 2405 181 #kk8556 J AT VU)K BT IX B C AR 202 =
3109 [ Xtk S204 6101 1 3sksksksksknk | 657 18442275 SR PUNIER: BEVTAZ X HE L C R 2024 %
3110 | X% S204 51152 Istskototrk0916 130sk4k8235 J AT VU)K BT IX B C AR 2020 =
3111 | xBE S204 511023%skskkkk4513 15360312 JSCHR PR VIR X L CIRE 2028 =
12| xlis S204 41078 Ltttk 083 1 187skxx0370 J AT VU)K BT IX B C M 20240 =
3SN3| E S204 4331 25%kkkk0k %7929 18237505 JSCHR PR VIR X L CIRE 2028 =
3114 | B9 S204 51390 Lkt 3023 1843681 FCHT U)K BRI B CRE 20240 =
35| Bk S204 510104%k53k%5%0679 1868028 JSCHR PR VIR X L CIRE 2028 =
3116 | B S204 513124%ksk55%0174 1594873 FCHT VU)K BT IX B C R 20240 =
3SNT | 4E S204 130628 #kkk5k%1 086 18447831 JSCHR PR VIR X L CIRE 2028 =5
318 | Wk $204 411328%skk5%%%3389 158%*%%3059 R PR ST X LS CJRE202 2 =
3119 | i S204 511302k 1450 15234770 SR PUNIER: BEVTAR X HE U C R 2024 %
3120 | mRAUfh S204 500234kttt 3571 130skk3353 J AT VUNIER2E BRI IX FEHCPE 202 %
3121 | R S204 513922%kkk45k003X 13032820 JSCHR PR VIR X HE K CIRE 2028 =
3122 | wiling $204 51132 Itttk 5462 183sk4k5236 J AT VUJIER2E BELARIX FEHCPE 202 %
3123 | 1% $204 500101 %kskk5£081 1 18535221 JSCHR PR VIR X L CIRE 2028 =
3124 | AT S204 62222 3skscksckk084X 182skstk 1032 J AT PUJIER2E LA IX FEHCJE 2024 %
3125 | AR S204 34240 1 #kskkk08 17 18533571 JSCHR PR VIR X I CIRE 2028 =
3126 | REEL S204 513823%kksk5%1129 152+4k4k5733 JA U)K BT IX B CRE 20240 =
3127 | PhHK $204 511622%kkkkk4k2543 15136713 JSCHR PR VIR X IECIRE 2028 =
3128 | A S204 51302 1 #ktoksoksok 4852 18545448236 JA U)K BT IX B CRE 2024 =
3129 | JileEs S204 510521 #ksokkik 3446 15236373 JSCHR PR VIR X L CIRE 2028 =
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3130 | E kAN S204 1404025852036 1554447573 J AT VAR BT IX B C M 202 =
3131 F#x S204 411303 ksks0kkx452X 15234512 JSCHR PR VIR X HECIRE 2029 =
3132 | F# S204 510682skkkct£0010 158343905 J AT VU)K BV IX B C M 20240 =
3133 | FE S204 513001 sk 0022 1588584 JSCHR PR VIR X I CIRE 202 =
3134 | e $204 2109023*kk555%601 1 183sktk4407 J AT VAR BV IX B C A 20240 =
3135 | BhEk S204 500382kkkk%5+%599X 137skk1 545 SR PUNIERE BEVIAZ X HE U C R 2024 %
3136 it S204 510603%kksk55%6 17X 18052276 AR PUNIRS: BRI B CJRE202 2 =
337 | REX S204 430223 %k krk4k5527 1857 145 JSCHR PUNIR: BEYIRE X I CIRE 2028 =
3138 | HT S204 500102kttt 0252 135%%5%8644 T VU)K BT IX B C M 202 =
3139 MV S204 52011 1 ksskssksksk5417 15234282 JSCHR PUNIERE BEVTAZ X HE L C R 2024 %
3140 Bk S204 231026%kk5kk4%442 1 13550100 R PUNTRS: BBYIRE X LR 202 =
34| 1RE S204 513821 #sksiokiok3363 18537501 JSCHR PR VIR X I CIRE 2028 =5
3142 | YFE $204 5002268450040 15233148 JSCHR PUNIER2E BRI IX FEHCPE202 % %
3143 | HHUK S204 4104025 k%55%%5538 15658187 JSCHR PUNIER: BEVTAR X HE U C R 2024 %
344 | MUTH S204 51162 Isksottotior 1480 158ktk0499 J AT VU)K BT IX B C AR 202 =
3145 | Mgk S204 51390 1 #ksiokok0218 13532934 SR PR VIR X I CIRE 2029 =
3146 ik S204 513030440824 151353255 R PUNIRS: BBV X B CJRE 2022 =
3147 | Wi Ee $204 511023%%kkk%4k2068 158%#:k%9907 JSCHR PR VIR X L CIRE 2028 =
3148 | i S204 513822%kkxk%%%686 1 186%#%%5252 R PR ST X L JRE202 2 =
3149 | Bk $204 513721 %sksokkrk 7754 13635130 JSCHR PR VIR X L CIRE 2028 =
3150 | Mtk 5204 510503 %kkks55%701 1 186%%%%7008 AR PUJIIR2E TR X FEHCIRE202 2 %
3151 | MRk S204 53233 1 #oksokiok2647 184347981 JSCHR PR VIR X L CIRE 2028 =
3152 | MM S204 23232 Isksckckk3325 15254266 J AT VU)K BT IX B C R 20240 =
3153 | k& S204 210682k kk3k4k0033 1873449967 JSCHR PR VIR X L CIRE 2028 =5
3154 | WME S204 510722 skskxk5% 7246 158459331 JH VU)K EEYTAR X HE B 2028
3155 | FHEIR S204 23018 3kkksk k051 2 1523551 2 SR PR VIR X I CIRE 2028 =5
3156 | JudE S204 5134265 k5555550113 1365591 FCHT U)K BT IX B CRE 20240 =
3157 B 5 S204 511129%kk30k%5%£002 1 1589570 JSCHR PR VIR X HE K CIRE 2028 =
3158 [ HAE S204 511602%k%k55%0318 13644509 FCHT U)K BT IX B CRE 20240 =
3159 | skEET $204 510108%skskskskkk092X 150%%%%2969 FC R PUNTRE: SRV X I JRE202 4 %
3160 | sRKAR S204 35058 2skxkkk%2035 18445385 R VUK BEVLRE X R CRE202 2 %
3161 TR AN S204 510108%#kkk3k3025 13532183 JSCHR PR VIR X I CIRE 2028 =
3162 IR $204 511025%skskskoksk%8 12X 181 skkoksk1 712 AR PUJIR2E BETTAS X S CJE202 8 %
3163 | KR S204 510824%kkskkk%4110 13636983 JSCHR PR VIR X IECIRE 2028 =
3164 | BKEF S204 362322k k4540022 186tk 1671 J AT VUNIER2E LA IX FEHCPE202% %
3165 | BKEiER S204 132529%kkk%5%%4826 1582480 JSCHR PUNIER: BEVTAR X HE U C R 2024 %
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3166 | sk S204 41078 Ik x 7921 183%#%x9180 R PUNTRS: BRI B 202 =
3167 | kil S204 22028 4%k 4550620 15 132937 JSCHR PR VIR X HECIRE 2029 =
3168 | RS S204 42011 T#kskkxk0075 13445749 FSCHT VU1K 2E ST IX FEBCPRE 20240 5
3169 | BALEL S204 5109223 kkk55%x%0286 1348362 JSCHR PUNIERE SRV X HE L C R 2024 %
3170 | HAEE $204 150430tttk 2896 182343766 J AT VAR BV IX B C A 20240 =
3171 AWy S301 511123%ksk555%0026 132%%%%5193 J A VIR BRI X HEHC PR 2024 %
3172 | HEE S301 330726kt 2727 1513445939 JA U)K BT IX B CRE 20240 =
3173 | BRlbaE S301 450103kt 1 02X 156%4£7208 FSCHS VIR BRI X HEHCPE202 4 =
3174 37 S301 371525%kkkk%%0024 1515#x3881 AR PUNIRS: BBV X B HC 202 =
3175 | BRER S301 45092 3kkkok4kT 242 13231514 JSCHR PR VIR X I CIRE 2029 =
3176 | BRi&Ah S301 640 102kk35k4%06 1X 13650230 JA VU)K BT IX B C M 202 =
3177 | AResy S301 412326% k455428073 15 sk ] 622 JSCHR PR VIR X I CIRE 2028 =5
3178 | XSE S301 51101 Itttk 8024 136%%5%7254 T VU)K BT IX B C 2020 =
379 T S301 510283 %kk3k k543626 1864298 JSCHR PR VIR X HE K CIRE 2028 =
3180 | miE S301 320706%kkkkokkok 1522 185sktk3159 J AT VU)K BT IX B C AR 202 =
3181 | i Ailf S301 52240 1 skttt 551 2 159+k4k8134 FSCHS VIR BRI X L HC PR 2024 =
3182 | ZE e S301 42900 Ik k%8703 18430330 R PUNIRS: BBV X B CJRE 2022 =
3183 | b HEEE S301 500382k kkk4k2167 18 13k 2878 JSCHR PR VIR X L CIRE 2028 =
3184 | N S301 510723k 1549 1809806 J AT VU)K BT IX B C M 20240 =
3185 (E3 S301 511303850624 183%%5%8185 FC R PO K2 BEYTRE X FE S CJRE202 4 %
3186 | HHYEEN S301 510107 #skstkkk221 3 1363k4x5200 J AR VU)K BT IX B C 2020 =
3187 | Az S301 511025%kkskkkk 1144 13464197 JSCHR PR VIR X L CIRE 2028 =
3188 | %EI% S301 511623kketkotkok 5248 156%%5%6501 AT VU)K BT IX B C R 20240 =
3189 | W S301 612325%kkkk k0822 189tk 1 059 JSCHR PR VIR X L CIRE 2028 =5
3190 | Z4EE S301 411325%kkxkk%%T7417 15656296 R VUK BEVTRE X R CRE202 2 %
3191 A S301 522221 #ksokiok] 228 1864025 SR PR VIR X I CIRE 2028 =5
3192 | ZKiE S301 53232 T%kxkkx%0013 15845448947 JH VUJIR2: EEYTAS X HE B 202
3193 | Z=Hk S301 500109%sksksk%%%6614 15135335 JSCHR PUNIER S BEVTAR X HE U C R 2024 %
3194 | ZEICHE S301 51112655009 X 184skk3406 J AT VUJIER2E BELARIX FEHCPE 202 %
3195 | XM S301 500234453183 18539345 JSCHR PUNIER: BEVTAR X HE U C R 2024 %
3196 | Xl S301 410526%kksk4%1 286 159sktk7530 J AT PUJIER2E LA IX FEHCJE 2024 %
3197 [ x| S301 51370 Dk 6212 158%%5%3395 FSC A PUNIER2E BRI X HEHCPE2024 %
3198 | 3¢ S301 142723%xkskk5k5k% 3324 1837828 R VUK BEVTRE X R CRE202 20 %
3199 [ XA S301 410726%wk5554%0865 184347720 JSCHR PR VIR X IECIRE 2028 =
3200 | el S301 53038 Ik (0942 1813#%%9890 AR VUK BEVTRE X R CRE202 20 %
3201 ERE S301 513902k kkk4k3458 18934365 JSCHR PR VIR X L CIRE 2028 =
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3202 | BB S301 62042 3skkkkskkk 546X 187skotk6489 J AT VAR BT IX B C M 202 =
3203 | Wi S301 510322%kkkk5%6724 189sk%8072 JSCHR PR VIR X HECIRE 2029 =
3204 | B S301 513901 sksctsrorkr 4569 15 1tk 4 304 FSCHT U)K BT IX B CRE 2024 =
3205 =iy S301 511381 #skskiokk0853 134s85%9730 JSCHR PR VIR X I CIRE 202 =
3206 | i S301 511302skkskototion] 722 1583k4k6690 J AT VAR BV IX B C A 20240 =
3207 | Uk S301 500233k 1046 15057545 SR PR VIR X I CIRE 2029 =
3208 | ZR[EFHE S301 510182kstkkk5828 138sktk3738 J AT VU)K BT IX B C 203 % =
3209 | F S301 5001 12%%kkkk3k5775 15 L#kk8050 JSCHR PR VIR X L CIRE 2033 =
3210 fTle S301 511025%kkkkotekok 4873 158sktk4027 J AR VU)K BT IX BEZLC 203 % =
211 | AEX S301 513021 #okssokok 7562 183sk4x3778 JSCHR PR VIR X I CIRE 2033 =
3212 fTE S301 411521 skt 0043 153s%kk7604 J AT VU)K BT IX B C 2032 =
3213 | Wik S301 513401 #skskkik 0021 139#%%%2087 JSCHR PR VIR X I CIRE 203 % =
3214 | JfE S301 511303k 1 389 18649575 JAR VUJIR2: BT X HE B O 203 8
3215 | JHHLNE S301 5101325555500 44 158%%%%9556 FSCHS VIR BRI X HEHCE203 4 =
3216 | FHLIR S301 51168 Lkt 0049 1581446 J AT VU)K BT IX B C AR 2032 =
3217 | JiA S301 420923k 0426 18855675 FSCHS PUNIER2E BRI X HEHCE203 4 =
3218 [ FRUH S301 510129%ksksk5%6168 158%k4k4826 JHR PUJIR2: BT X HE B O 203 8
3219 | FEfExk S301 370830%kkkk%%5219 18232615 JSCHR PR VIR X I CIRE 2038 =
3220 | EW S301 41138 stk 42811 13452037 FSCHT PUJIER2E BRI IX FEHCPE203 % %
3221 Fi& S301 4221 26%kk584k001 2 187sk4%4925 JSCHR PR VIR X I CIRE 2034 =
3222 |  FHE S301 511323tttk 0620 135%kotk 1455 J AR VU)K BT IX BEZLC 2032 =
3223 | EMF S301 511521 #skskskkkk5380 183skstkx1 430 JSCHR PR VIR X I CIRE 2038 =
3224 | RICHE S301 510403kskskskkx 1023 135%k4k2346 JH VUJIR2: YT X HE B O 203 8
3225 | HHE¥ $301 513901 kst 2916 1823#k%%6309 FC R PUNTRE: BT X I JRE203 4 %
3226 | FEHIIE S301 5106025 k5556822 189340222 JRA VUJIR2: BT X HEBCE 203 8
3227 | MR S301 513122skskskk%3:0010 189%%%%9986 FC R VUNTRE: SRR X I JRE203 8 =
3228 | JHABEY S301 4209223skk85k0027 155%kk7513 J AT PUNIER2E BRI IX FEHCPE203 % %
3229 | AR S301 320721 %kksokkik 1211 1523842742 JSCHR PR VIR X L CIRE 2038 =
3230 | L S301 612322skkkkk 4828 139359092 AT VUJIER2E BRI IX FEHCJE203 % %
3231 | WA S301 430525%kkkx%%%9364 156:84%6539 JSCHR PR VIR X L CIRE 2038 =
3232 | TKARHH S301 211421 #sktksk 0618 183skotk3240 J AT PUJIER2: LA IX FEHCPE203 % %
3233 | sk S301 620102s0kk3k3k1 139 183skx%2450 JSCHR PR VIR X L CIRE 2032 =
3234 | Bk S301 51082 1 #skssoktsksk 7621 15 Lsokeek847 1 J AR VUJIER2E BELARIX FEHCJE203 % %
3235 | ki S301 53038 1 #kskokiok 1 667 134sk4%4749 JSCHR PR VIR X I CIRE 2038 =
3236 |  ikH S301 510182tk 7844 1565440038 J AT PUJIER2E LA IX FEHCJE203 % %
3237 | BhgE S301 511502%kk30kk5%0334 1395806 JSCHR PR VIR X L CIRE 2033 =5
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3238 | Kin S301 510525k 2084 158sktk0628 J AT VU)K BV IX B CH 203 % =
3239 | A S301 513826%kkkkk0022 183sk4k1395 JSCHR PR VIR X HECIRE 2033 =
3240 | ZERL $302 450303sksckokk0542 185%kk828 1 J AT VU)K BT IX BEZLC A 203 % =
3241 TR S302 37083 2%k kkk4k0328 184sk+%1933 JSCHR PR VIR X HE K CIRE 203 3 =
3242 | HFEE $303 152626sksk558%5720 17 Tskotk 7450 J AT VU)K BT IX B C 2032 =
3243 | XK S$303 500239554090 1580675 SR PUNIERE BRI X HE U C R 203 4 %
3244 | Ttk $303 510823 kkkkkkik 7428 152%%%%6177 AR PUJIIR2E TR X FEHCIRE203 % %
3245 | FAE S303 42058 3kkkrk1k4 042 138:k4%8848 JSCHR PR VIR X L CIRE 2033 =
3246 | ML $303 4325243k5584%0636 18442273 J AR VU)K BT IX BEZLC 203 % =
3247 | R S303 51162 Ikskkskion ] 54X 189:kx5963 JSCHR PR VIR X I CIRE 2033 =
3248 | HUE S304 411302skck0k545729 159sk4%8930 J AT VU)K BT IX B C 2032 =
3249 | BRFAME S304 429006%xkkxk%%301X 1596504 JSCHR PUJIER: BEVTAR X HE L C R 203 % %
3250 | R S304 510125%kk84k007 3 138sk4k2855 J AT VU)K BT IX BEZLC AR 2032 =
3251 | EL¥ S304 130525%k30kk55k %0746 159skxk4 177 JSCHR PR VIR X HE K CIRE 2038 =
3252 | {EH S304 532626k kK545 0565 133%%%%3526 AR PUJIIR2E TR IX FEHCIRE203 % %
3253 | HME S304 510322%kkk45k006X 132:k4%7303 SR PR VIR X HE K CIRE 2033 =
3254 | HIRLT S304 410923tttk 3624 1823k4%3895 J AT VOJHRS: BT IX B C M 2032 =
3255 | H K S304 610523 kkkkk 452269 158:k4x8764 JSCHR PR VIR X I CIRE 2038 =
3256 | ZEHENY S304 411324ssk585k4 225 18442980 J AT VU)K BT IX BEZLC MR 203 % =
3257 | XIWEE S304 15263 1%k x 7523 1843600 JSCHR PR VIR X I CIRE 2034 =
3258 | S $304 51132343109 189*#5%1914 T VU)K BT IX BEZLC 2032 =
3259 | W S304 510124k kkk34k0423 13458546625 JSCHR PR VIR X I CIRE 2038 =
3260 | st E S304 511028445940 184kk8409 J AT VU)K BT IX BEZLC AR 2032 =
3261 | REK S304 513822%kkk45k00 1 X 150sk:%3052 JSCHR PR VIR X I CIRE 2038 =
3262 | RWZR S304 413026sksksk4k3315 183tk 7782 J AR PUJIER2E BRI IX FEHCPE203 % %
3263 | K=l S304 50023 4kskxkk4%6643 15234526 1 SR PUNIER S BEVTAZ X HE U C R 203 % %
3264 | JHFE S304 5130305k %5826 1514540308 JH PUJIR2: BT X HE B 203 8 5
3265 | M S304 230107k 4k2227 185:k4%7276 JSCHR PR VIR X L CIRE 2038 =
3266 |  Fik S304 510824k #k555%0536 13645448508 JH VU)K BT X HE B 203 8 5
3267 | E/hot S304 14021 1tk 0023 156%5+%3427 Ji T PUJIER2E BRI X HEHCPE203 4 =
3268 | RNER $304 130423kt 1 424 15 Lekotk2709 J AT PUJIER2: LA IX FEHCPE203 % %
3269 | R S304 6204225 kk5k5%7129 13540885 JSCHR PR VIR X L CIRE 2032 =
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3697 | A4S $202 5137235555500 26 151%54%1736 BCHS | HL RN RS T AR X i 22 HEA409 4 =
3698 | vkt $202 34242 2%Kkk555%637 | 18259539 RS | H PR R T KRR X i 2R FEA409 % =
3699 | HIEFE 5202 410704%%5%5%3% 1560 1825454027 B | HL R RS T AR X i 2E R A4 094 =
3700 | REVUH $202 51078 1 sktksckk5828 151%%%%2863 RS | H R R T KRR X i 2R FEA409 % =
3701 | iR2 $202 5108245kt 121 x 156%5+%3982 BCHS | HL R RS T AR X i 2E R A4 09 4 =
3702 [ WhiE $202 34122 3%kkkkk5% 1625 182+%5%%3040 B | R RHER A W AR X i S EA409 2 =
3703 | FX $202 42220255554k 656 1 182+%5%%3033 B | H RN RS T AR X i 2E R A4 09 4 =
3704 Hum $202 51012 Lsksksokxk5016 185%*+%%3813 B | R RHER S W AR X A A4 09 2 =
3705 | skpE $202 510107 skkkk85%0067 159552869 B | H RN RS T AR X i 2E R A4 09 4 =
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3706 | gk $202 51100285456 1 X 151%5%%2260 B | PR K TE KRR IX AR A409 5 =
3707 | WP $202 421023%%555%% 1086 182+%54%2939 B | H R RS T AR X i 2E A4 09 4 =
3708 | JAli $202 500108kt 1710 159%#%%5848 RS | H PR R T KRR X i 2R FEA409 2 %
3709 | AR/NEE S203 50022 [kskkssxk6866 170%%%%4855 BCHS | H R RS T AR X i 2E R A4 09 3 =
3710 [ EIRK $203 513701 ktksckk5532 182+%5%%3163 BHS | HF R R T KR X i 2R FEA409 % =
31| Rifg vk S203 510623%kkkk%%%3133 18951221 BCHS | HL R RS T AR X i 2E R A4 09 4 =
3712 | BRéts S203 41142 kot 4862 182550460 B | R RHER S W AR X i A A4 09 2 =
3713 | X4AE $203 51082 [kttt 3426 138451712 BCHS | HL R RS T AR X i 2E R A4 09 4 =
3714 AFak S203 510922kks55%%5995 158%*%%2177 B | PR R KRR IX A ARA409 5 =
3715 | WY $203 150304kkk554%50 16 15 1%%%%9132 B | H RN RS T AR X i 2E R A4 094 =
3716 | WA $203 513425%kkx555%0219 155%%%%8719 RS | HF R R T KRR X i 2R FEA409 2 %
3NNT| FEM $203 513902skkkk85x46354 15 15556141 B | H R RS T AR X i 2E R A4 09 4 =
318 | FfRE $203 140222%kkskkk%% 1 544 151%5%%6927 BAE | FRRHER S W AR X i A HEA409 2 =
39| Fm $203 420528 % kkk3k 450314 182%%5%6318 B | HL RN RS T AR X i 2E R A4 09 3 =
3720 | ERIE S203 51013 Ik 272 136%5%%3450 RS | H R R T KRR X i 2R FEA409 % =
3721 | &Rk $203 22040 3kksks855 1 520 182%%%%5977 BCHS | H R RS T AR X il 2E R A4 09 3 =
3122 | AHRA $203 500225%kkkkk5%3328 18245454783 RS | H PR R T KR X i 2R FEA409 % =
3723 | BRI $203 510125%kkkkk5k013X 138%%5%7341 B | H R RS T AR X i 2E R A4 09 4 =
3724 | TR $203 411528%%kkk%%582X 18 k2182 BCER | MRS T KA X 22 HEA4 09 2 =
3725 | VERAHH S203 42900435k 5450322 187#5%%9896 AR | PR RS WE KR X i A AR A409 L =
3726 | [ $203 500238skskskkkk5840 15 k%2624 RS | H R R T KRR X i 2R FEA409 % %
3727 | ARER S203 513101 kst 00 19 187#5%%9321 BCHS | HL R RS T AR X i 2E R A4 09 4 =
3728 | MR $203 510502%kk3k%%1913 151%%%%2192 RS | H PR R T KRR X i 2R FEA409 2 %
3729 [ kR S203 511025%%k%5%+%8859 182549603 BCHS | HL RN RS T AR X i 2E R A4 09 3 =
3730 | HERS S203 513902kskskkk8224 187#5%%1640 RS | H PR R T KRR X i 2R FEA409 % %
3731 | EEW S204 511123%kkkk%%8128 1525456027 BCHS | H R RS T AR X i 2E R A4 09 4
3732 | BREDAD $204 34222 Ikt 1028 183%#%%6859 RS | H PR R T KRR X i 2R FEA409 % %
3733 | R/ S204 51390 1#kkiokik 4568 130%5#%8237 B | PR R KR IX A A409 2 =
3734 | FEBE S204 510322%5%555%%0016 134545636 RS | H PR R T KRR X i 2R FEA409 % =
3735 | EhiEAE $204 22240 3kkkktkk:0225 1515451229 B | HL R RS T AR X i 2E R A4 094 =
3736 | mikfAR S204 511002%5k355%6477 136%%%%9233 B | PR K TE KRR IX AR A409 5 =
3737 | WIS $204 41152 ks 6424 1825456070 BCHS | HL R RS T AR X i 2E R A4 09 4 =
3738 | HEW S204 510105%kskskk07 74 185%#%%1298 RS | H R R T KRR X i 2R FEA409 % =
3739 | HHE S204 51068 Ikttt 120 151%%%%1813 B | H RN RS T AR X i 2E R A4 09 4 =
3740 | ¥ S204 5101295554627 186%*%%7567 RS | H PR R T KRR X i 2R FEA409 % =
3741 HNE $204 51152 7skkk555%0010 1525452610 B | H RN RS T AR X i 2E R A4 09 4 =
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3742 | T S204 510823kkskskkx8937 183##5%5922 JH | P RME RS KRR X i 2 A4 09 H %
3743 | A S204 5101055kt 1771 156%#+%8071 B | H R RS T AR X i 2E A4 09 4 =
3744 | EWK $204 511602kskk50181 151%5%%1823 B | R RMER S W AR X A HEA409 2 =
3745 | ZR $204 130129%kkk555%216 1 182%%%%2412 BCHS | H R RS T AR X i 2E R A4 09 3 =
3746 | Ak S204 44030 sstsotkonk 492X 186%*%%4700 BHS | HF R R T KR X i 2R FEA409 % =
3TAT | XEER $204 232128%kkkk%3849 186%*+%6813 BCHS | HL R RS T AR X i 2E R A4 09 4 =
3748 | XintHE S204 14273 Dkt 1843 156%#%%3993 JH | P RME R E KRR X i 2 A4 09 H
3749 | XIBkHE $204 2201223488500 28 151%5%%9722 BCHS | HL R RS T AR X i 2E R A4 09 4 =
3750 | gk S204 42280255 %5x5%%4055 159%#%%7122 B | PR R KRR IX A ARA409 5 =
3751 | A v S204 510184k 0025 181550231 AR | PR RS WE KA IX i A AR A409 A =
3752 | WA $204 43252234k4k4%5 180 136%5%%8679 RS | HF R R T KRR X i 2R FEA409 2 %
3753 FH $204 500228 kkskk83:00 24 189550699 B | H R RS T AR X i 2E R A4 09 4 =
3754 | EH S204 42100234k55k5%5065 156%5%%6057 RS | H PR R T KRR X i 2R FEA409 2 =
3755 |  EFE $204 62010235k 04X 181557023 B | HL RN RS T AR X i 2E R A4 09 3 =
3756 | Rk S204 510182:kksk6235 159%5%%2070 RS | H R R T KRR X i 2R FEA409 % =
3757 | e S204 51300 Dk 0018 1775451791 BCHS | H R RS T AR X il 2E R A4 09 3 =
3758 | MM S204 432503k 445,669 186%5%%6727 RS | H PR R T KR X i 2R FEA409 % =
3759 | ¥k $204 51118 Itttk 031X 158%%%%9611 B | H R RS T AR X i 2E R A4 09 4 =
3760 | ARJRAR S204 62011 1sksktrsk 2510 134%5%%3581 B | PR R T KIRR X AR A409 5 =
3761 | AR S204 513426381 1 158%#+%2916 BCHS | HL RN RS T AR X i 2E R A4 09 3 =
3762 | VrEE S204 1301023k 066 1 185%*%%1996 RS | H R R T KRR X i 2R FEA409 % %
3763 | Wi S204 34032 Lk 4769 13645452026 BCHS | HL R RS T AR X i 2E R A4 09 4 =
3764 | AT S204 510106ksksk£002X 135%%%%7633 RS | H PR R T KRR X i 2R FEA409 2 %
3765 | kA $204 51080234500 1 X 156%5%%6053 BCHS | HL RN RS T AR X i 2E R A4 09 3 =
3766 | 5KV S204 411402%k5k5k456 1 24 158%5%%0769 RS | H PR R T KRR X i 2R FEA409 % %
3767 | k¥4 S204 5107223555555 8794 1825457079 BCHS | H R RS T AR X i 2E R A4 09 4
3768 | HEAE S204 41042255 %5555%2325 18245457727 B | PR K TE KRR IX AR A409 5 =
3769 | KA S301 622424k k43840023 136%%%%3144 BCHS | HL RN RS T AR X i 22 HEA409 4 =
3770 | ZEAAK S301 362330%kkkkk5%6276 18245454473 RS | H PR R T KRR X i 2R FEA409 % =
3771 | 3 H S301 42032 3sksksotsonsk | 74X 187#%%7035 B | PR R KR IX A AL09 2 =
3772 | WK S301 41272 THk555%% 1620 1513549729 B | R RMER S W AR X S A4 09 2 =
3173 MRHE S301 510902%%k%5%%%959 1 153%5+%3885 BCHS | HL R RS T AR X i 2E R A4 09 4 =
3774 | XTI S301 530128k 482 1 1825451641 RS | H R R T KRR X i 2R FEA409 % =
3775 | I S301 429006355k 4824 180%%#%8604 B | PR R KRR A A409 2 =
3776 | WEH S301 421 102%ksk55%%5628 185%#+%1526 RS | H PR R T KRR X i 2R FEA409 % =
3777 | S301 35220 [kt 0015 1375452660 B | H RN RS T AR X i 2E R A4 09 4 =
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3778 | whINELA S301 140602s#kk5%9029 151%%%%1290 B | PR K TE KRR IX AR A409 5 =
3779 | R S301 510723%kkkkk5%1525 1825455747 B | H R RS T AR X i 2E A4 09 4 =
3780 | TR S301 511028%kkk555%6726 183%#%%5491 RS | H PR R T KRR X i 2R FEA409 2 %
3781 | fAjMEME S301 510106%kskkk5%4426 138451104 BCHS | H R RS T AR X i 2E R A4 09 3 =
3782 | EiRE S301 37068 THkkkkkx%572 1 18259378 BHS | HF R R T KR X i 2R FEA409 % =
3783 | ¥R S301 36050 2skkkk555:007 4 15 1k%5%6349 BCHS | HL R RS T AR X i 2E R A4 09 4 =
3784 | BTN S301 622822k kx4 728 136%5%%3825 RS | HF R R T KR X i 2R FEA409 % %
3785 | EHEM S301 511123%kkkkk5k3821 13455556472 BCHS | HL R RS T AR X i 2E R A4 09 4 =
3786 | AHfhH S301 412824%k5kx55%263 1 156%%%%2696 RS | H R R T KR X i 2R FEA409 2 %
38T | AR S301 41148 1kskksorsk5127 136%%5%4872 B | H RN RS T AR X i 2E R A4 094 =
3788 | A= S301 510105%kskskk3027 135%#%%4051 B | PR R T KIRR X AR AL09 5 =
3189 | AU S301 51010455554 4864 1345%%5%0603 B | H R RS T AR X i 2E R A4 09 4 =
3790 | Ak S301 510122skskskkk%6219 135%#%%2245 B | PR K KRR IX A ARA409 5 =
3791 | Wik S301 513126%kkskk5k041X 155%%%%3696 B | HL RN RS T AR X i 2E R A4 09 3 =
3792 | #FWF S301 51390 Lk 4817 151%5%%6043 RS | H R R T KRR X i 2R FEA409 % =
3793 | B S301 411328844678 1 155%#+%2872 BCHS | H R RS T AR X il 2E R A4 09 3 =
3794 | XIBLH S301 500224%kkk55556304 189%#%%2218 B | R RMER S W AR X i A A4 09 2 =
3795 | XIAEHE S301 5003824k 086X 185%*+%8398 B | H R RS T AR X i 2E R A4 09 4 =
3796 | X S301 510106%kkkk55%6213 138555560 RS | H R R T KRR X i 2R FEA409 2 %
3797 | X S301 51162 [k 7302 1825453604 BCHS | HL RN RS T AR X i 2E R A4 09 3 =
3198 | ST S301 4103293k4k88k540575 182%#5%2436 BGAHE | HRMER A W AR X A4 09 F =
3799 | BIEH S301 5001 1 0otk 4042 186%#+%5825 BCHS | HL R RS T AR X i 2E R A4 09 4 =
3800 | 22Uk S301 510623%kkk5555T420 136%5%%0979 RS | H PR R T KRR X i 2R FEA409 2 %
3801 | WA S301 511024%%k%5%5%8204 136%##%9591 BCHS | HL RN RS T AR X i 2E R A4 09 3 =
3802 |  FE& S301 1301 30%skkskkk5%3324 182%5%%5748 B | R RMER A W AR X S EA409 2 =
3803 | B S301 513826kt 2746 182554491 BCHS | H R RS T AR X i 2E R A4 09 4
3804 [ fTAN $301 500382kt 1939 15 1k%k%1219 B | R RMER A W AR X i A A4 09 2 =
3805 | ATAhA S301 6226265554500 34 186%%%6863 BCHS | HL RN RS T AR X i 22 HEA409 4 =
3806 | RWF S301 3729245 k5455550625 158kkx1 382 RS | H PR R T KRR X i 2R FEA409 % =
3807 | Mk $301 64032 1 stk 2 1 4X 182+%54%3651 B | PR R KR IX A AL09 2 =
3808 | NFHEE S301 371082s%kkkkk5%492 1 182%#%%8281 RS | H R R T KRR X i 2R FEA409 % =
3809 | IEEEAL S301 211422853500 23 186%%5%7283 BCHS | HL R RS T AR X i 2E R A4 09 4 =
3810 [ iRFkSK S301 500224%%5555%%9299 177#%5%1077 RS | H R R T KRR X i 2R FEA409 % =
3811 | HIfEAE S301 142625%k%k555%206X 184556112 B | H RN RS T AR X i 2E R A4 09 4 =
3812 | EULE S301 53011 Lkt d 41X 151%5%%3725 RS | H PR R T KRR X i 2R FEA409 % =
3813 | s/ S301 341 125%kkkk55£0408 182%%%%5597 B | H RN RS T AR X i 2E R A4 09 4 =
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3814 | Jiig) S301 513821 %kkk5%9032 138556000 RS | H PR R T KRR X i 2R FEA409 2 %
3815 | FEW S301 510104554579 15951734 B | H R RS T AR X i 2E A4 09 4 =
3816 | FEiz S301 62272 T#skskskx%0025 182s%k%1192 RS | H PR R T KRR X i 2R FEA409 2 %
3817 | FHidr S301 13220 Lisoksoksok5375 186%#+%8891 BCHS | H R RS T AR X i 2E R A4 09 3 =
3818 |  EM S301 3302823kkkkk5% 4267 151%#%%9682 BHS | HF R R T KR X i 2R FEA409 % =
3819 Fi& S301 412725%55555558309 182551697 BCHS | HL R RS T AR X i 2E R A4 09 4 =
3820 | M S301 51168 Liskkksnxk2816 152%5%%3313 RS | HF R R T KR X i 2R FEA409 % %
3821 [ F/hE S301 50022 3%kkk5%5%7069 180551026 BCHS | HL R RS T AR X i 2E R A4 09 4 =
3822 | FHEE S301 37202 3kkkkkk%% 4746 136%#5k%2942 RS | H R R T KR X i 2R FEA409 2 %
3823 | THEHE S301 372922k 3268 1825455874 B | HL R RS T AR X i 2E AL 1 1
3824 | A S301 130223%kkkk55%232X 150%+5%7085 RS | H R R KRR X i 2R A L 3=
3825 | STHENL S301 511302%%k%555%0017 1365542155 BCERS | HL RO TR KR X i 2 R A4 L L=
3826 | RETR S301 3729265 %k kkk5% 4825 1825456311 RS | H PR R KRR X S 2R A L 3=
3827 | Sl S301 511124%%k%5%%%4938 156%5+%5102 BCHS | H RN RS T AR X i 2R AL 1 1 5
3828 [ HI4A S301 362425%kkk555%002 1 187##%%9781 B | R RMER S W AR X A AEAA LT3
3829 [ Ja) it S301 43310 I sksokokk0022 185%*+%8275 B | PR R KR IX AL
3830 | M S301 510623%kkk555%8226 180%*%%3807 B | H PR R T KRR X i 2R A T 3=
3831 | i S301 511023%%kkk%5%1615 185%*+%7853 B | H R RS AR X i 2E AL T 1 5
3832 i S301 510182356824 1525546372 B | R RMER A W AR X A EAA LT 3
3833 | 1RSt S301 5106225k kkk4k4 222 189%%%%5265 B | H RN RS T AR X i 2E AL 1 1 5
3834 | %S} $301 130528kscksrokk 3647 189%#%%9126 RS | H PR R KRR X S 2R A 1 3=
3835 | IRA S301 511027k 7815 133%54%3512 BCHS | H R RS T AR X i 2E AL 11 5
3836 | A¥JKEH S301 130726%kk555%%2516 18 Tk 4320 RS | H PR R T KT X i 2R A T 3=
3837 | ALk S301 1402035855804 19 1825456604 B | H RN RS T AR X i 2E AL 1 1 5
3838 [ WA S301 362302k 0045 15 1%5%7611 RS | H PR R KRR X i 2R A L 3=
3839 | Kb S301 6105025455k 456225 151%5%%3344 B | H RN RS T AR X i 2E AL 1 1 5
3840 | sRIRHK S301 500106554587 2X 136%#%%3982 RS | HF R R KRR X i 2R A L 3=
3841 | BRI IS S301 510122%kk5k5% 2866 135%5#%7490 B | H RN RS T AR X i 2E AL 11
3842 [ BSHiR S301 652302kk5456020 182%#%%1966 BHS | H PR R KRR X i 2R A T 3=
3843 | BAVEE S301 370830skkkkk855:4039 156%%+%6323 B | H R RS T AR X i AR AL 1 1 5
3844 | JEHA S301 429006%kkkk4k542X 15 Tkkk2843 RS | H PR R T KRR X i 2R A L 3=
3845 | HEJAW $302 610523 %kskskkx3757 185%##%5992 B | H R RS T AR X i 2E AL 1 1 5
3846 | GxEE NN S302 230229%kkkk55%3929 13455550109 RS | H PR R T KRR X i 2R A L 3=
3847 | ZEmEHk $302 21138 2skskk:04 24 158%%5%0259 B | H RN RS T AR X i 2E AL 11
3848 | MK S302 612325k 1449 18 Ik#k%2992 RS | H PR R KRR X i 2R A L 3=
3849 | it S302 371323kttt 195 186%*+%6855 B | PR R KR IX AL L
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3850 [ i [ 4% S303 510108%kkkk55%21 18 138%5%%0860 RS | H PR R KRR X S 2R A L 3=
3851 | #HHB S303 510725%kkkk5552729 136554389 B | H R RS AT X i 2R AL 1 1
3852 | R S303 360702kt 1 347 13655554731 BHS | H PR R KRR X i 2R A T 3=
3853 | Xkt S303 513824kt 5435 135%5+%8662 BCHS | H R RS T AR X i 2 E AL 1 1 5
3854 B i S303 5101253k 0062 15 k%2336 BAHE | FRRMER S W AR X A AEAA LT3
3855 |  fiisg S303 429006%ksskskk21 1 1 151%5%%2840 RS | H R RS T AR X i 2E AL 1 1 5
3856 | WH S303 5113245555555 0488 150%5%%7860 RS | H PR R KR X i 2R A T 3=
3857 | HAEAE S303 500229%kkkk5k371 1 182%%%%0993 B | RN RS T AR X i 2E AL 11
3858 [ EAE S303 4101225558555 2064 182%#%%0852 B | R RHER S W AR X AL LT
3859 | TEEE S303 230506k k555550929 138558954 B | HL R RS T AR X i 2E AL 1 1
3860 [ HDGLK S303 510722%kkk545% 2692 158%#%%5948 RS | H R R KRR X i 2R A L 3=
3861 | Ak S303 42011 Tsokokkk2 72X 183%%%%7168 B | H R RS T AR X i 2R AL 11
3862 [ W H S303 51332 Lok 0024 151%%%%6419 RS | H PR R KRR X S 2R A L 3=
3863 | MH S303 340826k kkkskx ] 125 180%%*%3841 BCHS | H RN RS T AR X i 2R AL 1 1 5
3864 [ KIEZAK $303 50010 Lok 1718 158%#%%0558 RS | H PR R KRR X i 2R A L 3=
3865 | A S304 51300 [sksokiotk0227 136%5+%3098 B | H R RS T AR X i 2E AL L 1 5
3866 | B S304 510105%kskkkk5%1022 150%#%%9134 B | H PR R T KRR X i 2R A T 3=
3867 | HhiB S304 51372255521 5 135%5+%8443 B | H R RS AR X i 2E AL T 1 5
3868 [ {4 S304 511324%5%k355%0027 136%5%%7130 RS | H PR R KRR X i 2R A L 3=
3869 | HAH:AH S304 513030%skskskssk46637 13951183 B | H RN RS T AR X i 2E AL 1 1 5
3870 | iR S304 510104s%kkk555%0037 135%%%7406 BAE | HRRMER S W AR X AL LT
3871 &R S304 610425%kkkkk4%k 1 528 182%%%%5964 BCHS | H R RS T AR X i 2E AL 11 5
3872 242 S304 500107 ksksckok 772X 151%5%%3428 RS | H PR R T KT X i 2R A T 3=
3873 | XL S304 429005%*k5%%305X 187#54%6497 B | H RN RS T AR X i 2E AL 1 1 5
3874 | S S304 51082 Lsksksxk0919 1823%#5%1394 RS | H PR R KRR X i 2R A L 3=
3875 | Pk S304 51013 Ikttt 5927 185%%%%0921 B | H RN RS T AR X i 2E AL 1 1 5
3876 | FlElE S304 231025%kksk60022 186%*%%6958 RS | HF R R KRR X i 2R A L 3=
3877 | AT#T S304 500108tk 552X 15 1%5%8553 B | H RN RS T AR X i 2E AL 11
3878 | ik S304 5107 24%%55555%%0020 182%#%%3524 BHS | H PR R KRR X i 2R A T 3=
3879 | L S304 500382%kkkk%5%6749 182+%%4%5168 B | H R RS T AR X i AR AL 1 1 5
3880 | SLAE S304 430223585545 1520 182%5%%3453 RS | H PR R T KRR X i 2R A L 3=
3881 [ FFFHE S304 61048 | stttk 004X 151%%%%3095 B | H R RS T AR X i 2E AL 1 1 5
3882 | WM& $304 412826%%kk5k%%%5622 15 1 #5%9592 BCER | MRS T AT X S A R A4 L T =
3883 | ST S304 362203 kskkotnon ] 842 151%%%%9661 B | PR R KR IX AL
3884 | %X H S304 513902kskkkkk5334 158%#%%6822 B | R RMER A W AR X AL LT
3885 | AR S304 341 124%%5%5%%%3826 182%%5%4179 B | H RN RS T AR X i 2E AL 1 1 5




Fe| wa | S8 BT FHE | o it

3886 | PR $402 511023%ksksk51 73 159%#%%2059 RS | H PR R KRR X S 2R A L 3=
3887 | UMK S402 510108skkkkk:0937 187#%*%8530 B | H R RS AT X i 2R AL 1 1
3888 [ FHk S402 510525%k%k5%%8435 180%#%%3201 BHS | H PR R KRR X i 2R A T 3=
3889 | yEguf $402 420683 %xkskk40k 1 24X 156%5+%3962 BCHS | H R RS T AR X i 2 E AL 1 1 5
3890 | VE R4 S402 50023 3%kkkkk5%k238X 151%%%%9786 A | TR WKL X S 2 A4 L 1 3
3891 | FHTSF S402 51092 3kkkkk45%0565 152%54%9767 RS | H R RS T AR X i 2E AL 1 1 5
3892 |  EfE S402 411424%k3k55%%0933 15 k%4667 B | R RMER S W AR X R4 LT
3893 |  FfH S402 622625k kK 4%2022 180552046 B | RN RS T AR X i 2E AL 11
3894 | EAif S402 430104%ksksk%%56 12 183%#%%0981 B | R RHER S W AR X AL LT
3895 | fEle S402 37131 1%skskkik 3490 188%%%%7932 B | HL R RS T AR X i 2E AL 1 1
3896 | BRIE4E S402 5110253kt 6342 186%*%%8310 RS | H R R KRR X i 2R A L 3=
3897 | 3 S402 5139223kt 3822 1525454556 B | H R RS T AR X i 2R AL 11
3898 [ SRifgE S402 510626kksk%5002 186%#%%1783 RS | H PR R KRR X S 2R A L 3=
3899 | SLAkEE $402 41132230855 1 344 135%##%1451 BCHS | H RN RS T AR X i 2R AL 1 1 5
3900 | REE S402 511023%kk35k5%6247 15253060 B | PR K TE KRR IX A ARAA L =
3901 | H&eZ S402 371525%kkkkkkA 727 158%%*%6946 B | H R RS T AR X i 2E AL L 1 5
3902 W Wy S402 511023kskkkkk 7729 180%+5%2284 B | R RMER S W AR X AL LT3
3903 | HrIC $402 510781 skt 1812 1385453922 B | H R RS AR X i 2E AL T 1 5
3904 | $402 42088 1sstskotknk 01 30 170%%%%8830 B | R RMER A W AR X A EAA LT 3
3905 | FRMEVE S402 510122%%555%5%0276 135%#4%3317 B | H RN RS T AR X i 2E AL 1 1 5
3906 | fRiE $402 500382:kskkk%2160 178%#%%1142 RS | H PR R KRR X S 2R A 1 3=
3907 | MriE S402 510402%kk0k%5%3029 15 1k%5%2282 BCHS | H R RS T AR X i 2E AL 11 5
3908 | Mk $402 4130263584k 2456 183%5%%2670 RS | H PR R T KT X i 2R A T 3=
3909 | Mk S402 511023%kkk45k906 1 153%%%%9653 B | H RN RS T AR X i 2E AL 1 1 5
3910 | WEEER S402 510625%kkskk2407 183%*%%8096 RS | H PR R KRR X i 2R A L 3=
3911 | B4 e g $402 510108%kksk5%0013 187#%+%8455 B | H RN RS T AR X i 2E AL 1 1 5
3912 | BRIk S402 41280 skttt 2312 138%#%%5342 BAHE | HRRMER S W AR X AL LT 3
3913 Bk S402 5139024487 32 158%%5%7400 B | H RN RS T AR X i 2E AL 11
3914 | BRANH Y S402 232302kskk850720 153%#%%3120 B | R RMER S W AR X AL LT
3915 | R4H S402 51390 Lok 128 15 1%5%7639 B | H R RS T AR X i AR AL 1 1 5
3916 | WA S403 61273 2skk4k4%00 16 152545769 RS | H PR R T KRR X i 2R A L 3=
3917 | XshE S403 431223 sk 4k4445 130%%5%6653 B | H R RS T AR X i 2E AL 1 1 5
3918 | {HHign S403 510902%*k4%%%9188 15235456851 B | R RMER S W AR X A EAA LT
3919 | FAR S403 513722k 3579 1385453325 B | H RN RS T AR X i 2E AL 11
3920 | ¥4y S403 511025%kkk555%3286 158%#%%7093 RS | H PR R KRR X i 2R A L 3=
3921 | W% S403 51102345661 X 183%%+%7588 B | H RN RS T AR X i 2E AL 1 1 5
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3922 | FEFE S403 500234558854 151X 186%#%%5082 B | R RMER S W AR X R4 LT 3
3923 | A S403 510129skskkkkk:67 22 189%%%%0365 B | H R RS AT X i 2R AL 1 1
3924 | JeiN S403 5107 24%kkk545% 2822 1525548262 BHS | H PR R KRR X i 2R A T 3=
3925 | Bk S403 36242945003 1 184556679 BCHS | H R RS T AR X i 2 E AL 1 1 5
3926 | EHLI S403 513902kt 1 731 15245456469 RS | H R R KRR X i 2R A 1 3=
3927 | LY S403 4210235555558 144 1395457622 RS | H R RS T AR X i 2E AL 1 1 5
3928 | AfEE S403 510681 kst 0020 136%5%%9590 RS | H PR R KR X i 2R A T 3=
3929 | Ff S403 51078 D084 1 151%54%3743 B | RN RS T AR X i 2E AL 11
3930 [ mIXk S403 510626%kksk£3923 188%#5%2975 RS | H R R KRR X i 2R A 1 3=
3931 #ift S403 510129%kkkkk3k3725 136%%5%0486 B | HL R RS T AR X i 2E AL 1 1
3932 R S403 511528%skskkkk0417 152+%%%%8005 AR | TR WKL X S 2 A4 L 1 3
3933 NP S403 500225k ksk5%303X 186554578 B | H R RS T AR X i 2R AL 11
3934 | dkERIS S403 511028kskskk6324 152%5k%4742 BGAE | FRMER S W AR X AL LT =
3935 | kil S403 510125%%kkk%%%5633 182+%5#%9529 BCHS | H RN RS T AR X i 2R AL 1 1 5
3936 | By S403 51370 Lk 1 528 136%#5:%2283 RS | H PR R KRR X i 2R A L 3=
3937 | R S501 510802kt 1 337 187#%5%2589 B | H R RS T AR X i 2E AL L 1 5
3938 [ fur3 S501 510723%kk5555%0546 187#5%%2150 B | H PR R T KRR X i 2R A T 3=
3939 | WYk S501 5101223%k555552020 1525451806 B | H R RS AR X i 2E AL T 1 5
3940 [ pEhE S501 5106823kkkkk5%4740 152%%5%1770 RS | H PR R KRR X i 2R A L 3=
3941 | ZFHk S501 610526%wkkkk 46422 158%%5%6242 B | H RN RS T AR X i 2E AL 1 1 5
3942 | WlE S501 510725%kkk555%%9027 151%%%%5256 RS | H PR R KRR X S 2R A 1 3=
3943 | Tl S501 513124s%k55555%0026 135%54%9435 BCHS | H R RS T AR X i 2E AL 11 5
3944 |  EH S501 5110023kkkk55%6215 187#5%%6329 RS | H PR R T KT X i 2R A T 3=
3945 | R S501 511322%kk%k45%8180 158%%5%6604 B | H RN RS T AR X i 2E AL 1 1 5
3946 | REE S501 51010 7#kkkkk5%3445 186%#%%8602 BAHE | HRRMER S W AR X AL LT
3947 | VF S501 511 126%kkkk55k56225 152%%%%1989 B | H RN RS T AR X i 2E AL 1 1 5
3948 [ WEHSF S501 510106%kkkkk5%51 22 139%5%%6028 RS | HF R R KRR X i 2R A L 3=
3949 [ FKiEA S501 430524k %k x5%%0083 155%#%%0932 B | H RN RS T AR X i 2E AL 11
3950 [ A S501 510603ksk4546 180 159%+5%1514 BHS | H PR R KRR X i 2R A T 3=
3951 | Pk S501 51052 [kttt ] 268 150%%%%3415 B | H R RS T AR X i AR AL 1 1 5
3952 | A S501 50022 Lok 1 1 x 151%%%%3445 RS | H PR R T KRR X i 2R A L 3=
3953 | &R S501 362322k bk k%6617 186%5+%7852 B | H R RS T AR X i 2E AL 1 1 5
3954 | KR4Iy S501 511025%k%k55%4763 1515453901 B | R RMER S W AR X A EAA LT
3955 | PR S502 522529k 082 159%%5%1503 B | H RN RS T AR X i 2E AL 11
3956 | BRE S502 5116223%kkkkk5%1927 152%5%%0521 RS | H PR R KRR X i 2R A L 3=
3957 | BARE DY 502 43032 Iskknkikd945 133%##%3181 B | H RN RS T AR X i 2E AL 1 1 5
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3958 | FRYL S502 510824%kkkk%5%3398 151%%%%9155 B | R RMER S W AR X R4 LT 3
3959 | #o S502 370602555555 1614 139%%5%6482 B | H R RS AT X i 2R AL 1 1
3960 [ AR H S502 51300 Lok 0825 15259795 BHS | H PR R KRR X i 2R A T 3=
3961 | AL S502 511322%kkkskk4k] 785 15 1%5%1035 BCHS | H R RS T AR X i 2 E AL 1 1 5
3962 | JuIRT S502 632122k k354X 189%#%%0901 BAHE | FRRMER S W AR X A AEAA LT3
3963 | HK S502 421121 ssk8545%00 76 1345453483 RS | H R RS T AR X i 2E AL 1 1 5
3964 | ¥EIA S502 51018 Lk 4617 139%#%%8839 RS | H PR R KR X i 2R A T 3=
3965 | HEE S502 511025%kkkkk3kT 768 135%%5%2621 B | RN RS T AR X i 2E AL 11
3966 | #rdE 502 620422k k452248 151%%%%9235 RS | H R R KRR X i 2R A 1 3=
3967 | MR S502 510902skk5555%0696 159%%5%1345 B | HL R RS T AR X i 2E AL 1 1
3968 | AKAA S502 513002s%kkkkk5%121 1 182%5%%5422 RS | H R R KRR X i 2R A L 3=
3969 | ZEgig S502 511 126%%k55552001 4 158%#+%9095 B | H R RS T AR X i 2R AL 11
3970 | B 502 500228%kkkkk5k%4792 137%5%%4249 RS | H PR R KRR X S 2R A L 3=
3971 | XJT S502 220302%kk%5%5%06 14 137457919 RS | H RO T AR DX A HEAA T 1
3972 | WAEA 502 420203558k 4349 138%5%%4620 B | R RMER S W AR X A AEAA LT3
3973 | RPN S502 510322%kk545%0989 1395454268 B | H R RS T AR X i 2E AL L 1 5
3974 | fiHg S502 140226%*k5k55k%5625 135%%%%3176 B | H PR R T KRR X i 2R A T 3=
3975 | WNI5 TS S502 932126k 1007 184551890 B | H R RS AR X i 2E AL T 1 5
3976 | ki 502 510304kkkkk55% 2627 159%#%%0802 RS | H PR R KRR X i 2R A L 3=
3977 | Fig S502 622223k k%508 14 188550528 B | H RN RS T AR X i 2E AL 1 1 5
3978 | EARWY S502 511224%%k+5%%%9698 150%#%%9968 RS | H PR R KRR X S 2R A 1 3=
3979 | Tk S502 32028 [skiokioks55] 3 151%5+%3881 BCHS | H R RS T AR X i 2E AL 11 5
3980 [ AWM S502 5110245%kkkkk5%4512 184547067 RS | H PR R T KT X i 2R A T 3=
3981 | FHEK S502 13068 3kkkkx 763X 151551409 B | H RN RS T AR X i 2E AL 1 1 5
3982 |  EiHe 502 51390 skt 2029 15 kx4 164 RS | H PR R KRR X i 2R A L 3=
3983 [ FLME 502 622226k xk k%3632 151%5%%5094 B | H RN RS T AR X i 2E AL 1 1 5
3984 ik S502 511126%kkkkk5%5417 182%%%%8913 BAHE | HRRMER S W AR X AL LT 3
3985 | IRTEES S502 511123%kkkkk5%7324 152%%5%7895 B | H RN RS T AR X i 2E AL 11
3986 | ik 502 430602skk8k54601 1 13255542118 BHS | H PR R KRR X i 2R A T 3=
3987 | AEk S502 510107 k8550510 185%k#%1583 B | PR R K IR X AL
3988 WP S502 511325%kkkkk5%07 12 185%#%%0712 RS | H PR R T KRR X i 2R A L 3=
3989 | M S502 511126%%k%k55%2129 159%#%%1152 B | H R RS T AR X i 2E AL 1 1 5
3990 | #hd S502 52212 Lkt k 684X 150%5%%4273 RS | H PR R T KRR X i 2R A L 3=
3991 | e 502 51343 3%kkkk55%2720 156%5+%7798 B | H RN RS T AR X i 2E AL 11
3992 | S502 51081 Lk 2928 188%#%%0491 RS | H PR R KRR X i 2R A L 3=
3993 | ki 502 510322%%k%5%5%6109 159%##%5377 B | H RN RS T AR X i 2E AL 1 1 5
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3994 | g S502 51340 Lokt 1615 13655552272 B | R RMER S W AR X R4 LT 3
3995 | M= S502 230604k 4 ] 2X 158%k#%5717 B | H R RS AT X i 2R AL 1 1
3996 | ¥ S502 5110023555551 223 159%5%%6173 BHS | H PR R KRR X i 2R A T 3=
3997 | BhEEih 502 360722k k54550029 1825457831 A | PR RS WK X G A AEAA L1
3998 | LR S502 51018 Lskskksokkk6716 157%5%%7259 RS | HF R R KRR X i 2R A 1 2 =
3999 | JHEFH] 502 510122%%k%5%%% 7665 1825450862 RS | H R RS T AR X i 2E AL 1 23 5
4000 | Ledyid S503 1304035541841 15 k%2162 B | R RMER S W AR X R4 1 2=
4001 | AE3CHS S503 4104225k 455452247 152%%%%7910 BCHS | R RS T AR X i 2E AL 1 23 5
4002 | JugE S503 50010855041 1 136%#%%1681 RS | H R R KRR X i 2R A 1 2 =
4003 | fa[As S503 51132 [tttk 150 151550690 B | H RN RS T AR X i 2E AL 1 23 5
4004 | WL S503 513902kt 1491 158%#%%3987 B | PR RS W KR X A AL 1 23 =
4005 | AL S503 510502s%k555%%8056 187#%*%7882 B | H RN RS T AR X i 2E AL 1 23 5
4006 | 2= S503 371522%kkkk%5%0522 158%#%%2256 RS | H R R KRR X i 2R A 1 2 =
4007 | BV S503 5106825555976 151%5%%4033 B | H R RS T AR X i 2E AL 1 23 5
4008 | il S503 612729tk 546618 130%*%%8236 RS | HF R R KRR X i 2R A 1 2 =
4009 | IR S503 420205k sk x5k%%7013 216%%5%5059 B | H R RS T AR X i 2E AL 1 23 5
4010 | [HARME S503 610523tttk 366X 187#5%%4940 RS | H R R KRR X i 2R A 1 2=
4011 | FHiF S503 511323%kkkkk%1463 1385457573 B | H RN RS T AR X i 2E AL 1 23 5
4012 | FEE S503 511381kt 14X 189%##%6891 RS | H PR R KRR X i 2R A 1 2 =
4013 | Wik S503 511303%skkskkk1 363 136%%x%7323 BCHS | H R RS T AR X i 2E AL 1 23 5
4014 | MR S503 510603kt 524 186%*%%6005 RS | HF R R KRR i 2R A 1 2=
4015 | {2 S504 511028585927 1525450645 B | H R RS T AR X i 2E AL 1 2 5
4016 | FEAF S504 3604245 kkkk55%3418 185%#%%7739 RS | HF R R T KRR X i 2R A 1 2 =
4017 | [ S504 510922%%kkk%%%8177 15255452771 BCHS | H RN RS T AR X i 2E AL 1 23 5
4018 | FENHHR S504 63280 Lotk 2727 187#%%%9689 B | R RS W KR X A AL 1 23 =
4019 | 8L S504 510184kt 7776 138%54%6445 B | PR R KR IX AL 1 28 =
4020 [ AR S504 321283kt 241X 135%%%8286 RS | H PR R KR X i 2R A 1 28 =
4021 | ZEfL S504 6103245tttk 1818 151#54%3487 B | PR R KR IX AL 128 %
4022 | XL S504 51132 Lok 6314 158%#%%4662 RS | H PR R KRR X i 2R A 1 2 =
4023 | XIHE S504 51082 [kt ] 24 13455554621 B | H RN RS T AR X i 2E AL 1 23 5
4024 | X% S504 5105245%kkk555%0022 137%5%%%7595 RS | H PR R KRR X i 2R A 1 2 =
4025 | XIMEEE S504 511028550019 152%%%%9399 BCHS | H R RS T AR X i 2E AL 1 23 5
4026 | dEARA S504 4127245k k384551 17 159%#%%5079 B | H PR R KRR X i 2R A 1 2 =
4027 | AL S504 500228*%kk5%%%5069 130%%5%6727 BCHS | H R RS T AR X i 2E AL 1 23 5
4028 | JHEE S504 511323555002 1 136%5%%2128 B | R RMER S W AR X AL 1 20
4029 | Fup S504 321282%kkkkkk% 1417 187#%+%9678 B | H R RS T AR X i 2E AL 1 23 5
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4030 | A S504 5113028k 1918 159%*%%3435 RS | H R R KRR X i 2R A 1 28 =
4031 | Ftonts S504 5113225551024 150%%%%9596 BCHS | HL R RS T AT X i 2E AL 1 23 5
4032 | EEM= S504 511324%kkkkk5%4 168 183%#%%3790 B | R RS W KR X A AL 1 23 =
4033 | HHEE S504 510125%%kkk55% 1816 1375452170 RS | HL R RS T AR X i 2E AL 1 23 5
4034 | kik S504 513424%%kk555%0013 1345552021 RS | HF R R KRR X i 2R A 1 2 =
4035 | 5KFIHE S504 510623%kkk5%5%6320 17745450623 RS | H R RS T AR X i 2E AL 1 23 5
4036 | 9KEE S504 511023%kkkk55% 2468 156%*%%4466 B | R R W KIR X A AL 1 23 =
4037 | AN S504 513029skkkkkk4835 184556930 BCHS | R RS T AR X i 2E AL 1 23 5
4038 | HHNAE S601 41052 Lk 604 1 182554530 RS | H R R KRR X i 2R A 1 2 =
4039 | R S601 511025%kk3k45%8790 185%%*%5364 B | H RN RS T AR X i 2E AL 1 23 5
4040 | PRy ZR S601 14082 1 #skkk55%0036 187##%%3621 RS | H PR R T KRR i 2R A 1 2 =
4041 | FERE S601 513030skkkkk%0647 1825457385 B | H RN RS T AR X i 2E AL 1 23 5
4042 | J5 8 i S601 51011 2skkkkk5%0312 185%*+%1416 RS | H R R KRR X i 2R A 1 2 =
4043 | TiARk S601 511322%%k%5%%%8378 185%k+%7164 B | H R RS T AR X i 2E AL 1 23 5
4044 | TSk S601 511623%kkk5k5%5064 182+%5%%5917 RS | HF R R KRR X i 2R A 1 2 =
4045 | R E S601 429005%kk5k 55765 1 158557349 B | H R RS T AR X i 2E AL 1 23 5
4046 | &5V S601 5101223555555 7040 135%#%%5108 RS | H R R KRR X i 2R A 1 2=
4047 | EHEAK S601 51032 Itk 834X 183%%%%5752 B | H RN RS T AR X i 2E AL 1 23 5
4048 | LUK S601 3326245 kkk5k5x%0024 137%5%%1195 RS | H PR R KRR X i 2R A 1 2 =
4049 | TR A% S601 5109223488500 12 185%k+%7364 BCHS | H R RS T AR X i 2E AL 1 23 5
4050 | WIFR S601 510129554317 182+%5%%2521 RS | HF R R KRR i 2R A 1 2=
4051 | #HHAE S601 513030%%k%k%%%3928 1525447179 RS | H P RHEOR S T KR DX P HEAA 1 2 %
4052 | B4 S601 5321 2THkkkkokdon 1127 183%#%%8600 RS | HF R R T KRR X i 2R A 1 2 =
4053 | fRZE K S601 3412263k sskk550 439 1875452568 BCHS | H RN RS T AR X i 2E AL 1 23 5
4054 | EAFE S601 513030kksk5k5725 182+%5%%7418 RS | H PR R KRR X i 2R A 1 2 =
4055 | X S601 372325k 3658 136%%#%8135 B | PR R KR IX AL 1 28 =
4056 | Z=JFHE S601 51322 Lok 0010 138%#%%6434 RS | H PR R KR X i 2R A 1 28 =
4057 P S601 36220 [kt 0496 186%#+%1649 B | H R RS T AR X i 2E AL 1 23 5
4058 | XU K S601 51092 Lkt 2217 183%*+%8168 RS | H PR R KRR X i 2R A 1 2 =
4059 | X2ELT S601 1301 30%kkk555%0640 15255456963 B | H RN RS T AR X i 2E AL 1 23 5
4060 | X1 3IF fif: S601 411422%k5k5k5%51 24 151%5%%4726 B | R RMER S W AR X A AL 1 20
4061 | XREA S601 43042 [k 003 x 1825452570 BCHS | H R RS T AR X i 2E AL 1 23 5
4062 = S601 430522%k5k k45832 1 158%#%%7927 B | H PR R KRR X i 2R A 1 2 =
4063 | D S601 51101 [skskssssk5359 151%54%2239 BCHS | H R RS T AR X i 2E AL 1 23 5
4064 | W& S601 41132855k 3389 158%#%%3059 RS | H PR R KRR X i 2R A 128 =
4065 | 5% HHEL S601 5131 28sksksotsksiek 6026 18745451522 B | PR R KR IX AL 1 28 =
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4066 | B S601 510623 kkskkk5843 15133035 Bl | R RS T KR X A AL 1 23 =
4067 | A4 S601 450329k 1 085 158%#%%9515 BCHS | HL R RS T AT X i 2E AL 1 23 5
4068 | K S601 51031 Lk 1012 138%#5%7405 BHS | H R R KRR X i 2R A 1 28 =
4069 | HAEAL S601 4527025545554 3286 150%5+%7540 RS | HL R RS T AR X i 2E AL 1 23 5
4070 | iEF S601 5113245555554 165 155%*%%3386 B | R RS W KR X AL 1 23 =
4071 | R S601 511023%%k%5%5%6635 151%5%%5944 RS | H R RS T AR X i 2E AL 1 23 5
4072 | Rk S601 510322%%kk555%2659 136%*%%8586 B | R R W KIR X A AL 1 23 =
4073 | VEIEEE S601 421 12 T8k 42219 135%#+%8410 BCHS | R RS T AR X i 2E AL 1 23 5
4074 | FLHRAR S601 140303tttk 1251 15 1k#k%2696 RS | H R R KRR X i 2R A 1 2 =
4075 | FH S601 43028 Lsksksk k582 1 151%%#%3251 B | H RN RS T AR X i 2E AL 1 23 5
4076 | ERFEF S601 5138223%kkx555%0026 182+%5%%8045 RS | H PR R T KRR i 2R A 1 2 =
4077 | EHEL S601 510623 %kkk55558020 138%5+%8216 B | H RN RS T AR X i 2E AL 1 23 5
4078 | Efh S601 510184skkkk55%2195 186%%5%4917 RS | H R R KRR X i 2R A 1 2 =
4079 | Efhig S601 41051 1otk 1235 185%##%0399 B | H R RS T AR X i 2E AL 1 23 5
4080 | E#E S601 1521 04k %662X 185%#k%7232 RS | HF R R KRR X i 2R A 1 2 =
4081 |  FJE S601 513433442711 158558940 B | H R RS T AR X i 2E AL 1 23 5
4082 | FEAfh S601 1309843tttk 1 55X 187#%5%2328 RS | H R R KRR X i 2R A 1 2=
4083 | FIEK S601 410323 %k55555%0559 180551879 B | H RN RS T AR X i 2E AL 1 23 5
4084 | Bk S601 650 106ksksk4%0822 15 k6833 RS | H PR R KRR X i 2R A 1 2 =
4085 | SCIRGR S601 510108kt 151 1 153%54%6627 BCHS | H R RS T AR X i 2E AL 1 23 5
4086 | fH U S601 513030kskkk5820 183%#%%0120 RS | HF R R KRR i 2R A 1 2=
4087 | Ak S601 510522%%k%5%5%5230 151%%%%5348 B | H R RS T AR X i 2E AL 1 2 5
4088 | S S601 511028kt 0325 136%%5%2680 RS | HF R R T KRR X i 2R A 1 2 =
4089 | fR/MFE S601 511304%ksk555%07 19 1825453468 BCHS | H RN RS T AR X i 2E AL 1 23 5
4090 | VriRIT S601 51362 Lk 284 158%#%%0702 B | R RMER S W AR X A4 1 20
4091 | MW S601 620422 %x%x%%%3020 137#%%%2613 B | HL RN RS T AR X i 2E AL 1 23 5
4092 | MR S601 511302kksk560727 136%5%%8653 RS | H PR R KR X i 2R A 1 28 =
4093 [ HIH S601 511325%%k%k%5%%363 1 158%#+%7836 B | H R RS T AR X i 2E AL 1 23 5
4094 | 3@ S601 5110023555555 2829 136%5%%3325 RS | H PR R KRR X i 2R A 1 2 =
4095 | 5Kk S601 50010 [tttk 0443 18 1#%%7397 B | H RN RS T AR X i 2E AL 1 23 5
4096 | FKikEE S601 411325%ksksk45%0457 182+%5%%8329 RS | H PR R KRR X i 2R A 1 2 =
4097 | KA S601 42220255k 5457023 183%54%2253 BCHS | H R RS T AR X i 2E AL 1 23 5
4098 | Kk S601 513723ktkskkk0047 151%%%%9545 B | H PR R KRR X i 2R A 1 2 =
4099 | SRR S601 371325k 7523 15 1%5%3855 BCHS | H R RS T AR X i 2E AL 1 23 5
4100 | kA S601 14022 7#s5k5555%001 1 13454542384 RS | H PR R KRR X i 2R A 128 =
4101 | #hoc S601 51102845801 X 135%%%%5863 B | H R RS T AR X i 2E AL 1 23 5
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4102 | BiifELE S601 511024%%skk55%3121 138%5%%7233 RS | H R R KRR X i 2R A 1 28 =
4103 | Bl S601 513902845003 1 158%##%5493 BCHS | HL R RS T AT X i 2E AL 1 23 5
4104 | Ath S601 511002:kksk55637 136%5%%9773 BHS | H R R KRR X i 2R A 1 28 =
4105 | R3ChE S601 511025%kkkk555% 7889 159%%%%3926 RS | HL R RS T AR X i 2E AL 1 23 5
4106 | L% S601 6104245k k45823 1843830 B | R RS W KR X AL 1 23 =
4107 | AB4A S601 51390 1wk 392X 185%##%3692 A | PR RS WK IX G A AEA4 1 22 =
4108 | 4R S601 3207234544525 186%*%%9210 BHS | H PR R KRR X i 2R A 1 28 =
4109 | fififg35A S602 34020 4%%5%555%0017 1365454573 BCHS | R RS T AR X i 2E AL 1 23 5
4110 | B4 S602 53011 2kkkkkk%3817 186%*%%5907 RS | H R R KRR X i 2R A 1 2 =
4111 | Jodadk S602 51302 ks 4011 151%%4%1785 B | H RN RS T AR X i 2E AL 1 23 5
4112 | #HAE S602 421182%kskxk%%6215 183%*%%9768 BAHE | FRTRMER S W AR X A4 1 20
4113 | BHER S602 372328*kkkk%5x%0027 156551637 B | H RN RS T AR X i 2E AL 1 23 5
4114 | IR S602 34082 THkkkkkk% 1317 1825%#5%4880 RS | H R R KRR X i 2R A 1 2 =
4115 | ¥ 5P S602 45032445k 45%4058 189%%%%5762 B | H R RS T AR X i 2E AL 1 23 5
4116 | Zk S602 500381 skstsrotkk 0849 135%#%%8410 RS | HF R R KRR X i 2R A 1 2 =
4117 | BiR%E S602 511028*kkk5%5%7510 1365450441 B | H R RS T AR X i 2E AL 1 23 5
4118 | B S602 350825kt 0036 134%5%%3227 RS | H R R KRR X i 2R A 1 2=
4119 | JiliigER S602 140226k 5k455%3526 1315457739 B | H RN RS T AR X i 2E AL 1 23 5
4120 | A S602 632624 %k5kk450024 151%5%%3470 RS | H PR R KRR X i 2R A 1 2 =
4121 | firE S602 50023 4skskskk k6045 182+%5%%9853 BCHS | H R RS T AR X i 2E AL 1 23 5
4122 | RAHDHR S602 22082 Lk 101 1 185%*%%4966 RS | HF R R KRR i 2R A 1 2=
4123 | Rz S602 232321 #kkok k6626 15 1k%5%2025 B | H R RS T AR X i 2E AL 1 2 5
4124 | RUAELE S602 430224%kskxk%%3315 134546957 B | R RMER S W AR X AL 1 20
4125 | TilHE S602 371 102skk5555%3510 1825451163 BCHS | H RN RS T AR X i 2E AL 1 23 5
4126 | F3E4H S602 510525%kksk8283 152%5%%3280 B | PR K TE KRR IX AR AL 123 =
4127 | FHiHk S602 13112 Tsksk%6 238 180%**%7258 B | HL RN RS T AR X i 2E AL 1 23 5
4128 | R S602 33041 Lkt 0617 151%%%%9165 RS | H PR R KR X i 2R A 1 28 =
4129 | HEK S602 142723 skt 085 1 15 1%5%4786 B | H R RS T AR X i 2E AL 1 23 5
4130 | HlberE S602 513030%kkkkk5%6723 152%%5%1721 RS | H PR R KRR X i 2R A 1 2 =
4131 [ R S602 42082 | ssokskotsk k6052 151%%%%9718 B | PR R KR IX AL 1 28 =
4132 | URE S602 511002%5%k355%6245 187#*%%%2337 RS | H PR R KRR X i 2R A 1 2 =
4133 | kPR S602 22028 Ikttt 7466 182%%%%5021 BCHS | H R RS T AR X i 2E AL 1 23 5
4134 | RAm S602 5130295550075 159%#%%7056 B | PR RS T KR X AL 1 23 =
4135 | AWM S602 431229%k5kx%5%2224 13455451537 BCHS | H R RS T AR X i 2E AL 1 23 5
4136 | AREEHT S602 510704sksk5540026 136%5%%4928 RS | H PR R KRR X i 2R A 128 =
4137 | EMKE S603 420203 %5k555k4k2166 182555430 B | H R RS T AR X i 2E AL 1 23 5
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4138 | fulete S603 510302k 0543 187%%%%2853 Bl | R RS T KR X A AL 1 23 =
4139 [ Skl S603 62222 5%k xk331 2 189%#5%4629 BCHS | HL R RS T AT X i 2E AL 1 23 5
4140 | BgIH S603 41040 Lk 0550 186%*%%1670 BHS | H R R KRR X i 2R A 1 28 =
4141 | BRfEE S603 511024%%kkk%%%4264 1825545318 BCERS | HL RO TE KT X i 2 R A4 1 2 =
4142 | BRI S603 130224kk5555%652 1 136%%5%1334 RS | HF R R KRR X i 2R A 1 2 =
4143 | XS S603 510106%kkkk55551 20 136%%5%5045 RS | H R RS T AR X i 2E AL 1 23 5
4144 | XBAK S603 510626%kksk5£3898 153%#%%6997 B | R RMER S W AR X R4 1 2=
4145 | Tk S603 44510235k 728 158%##%9151 BCHS | R RS T AR X i 2E AL 1 23 5
4146 | HEARE S603 41022 Iskskssknk2223 134546687 B | R RS T KR IX A AL 1 23 =
4147 | AT S603 610623 kkkk4k 1022 1845%%5%6966 B | H RN RS T AR X i 2E AL 1 23 5
4148 | U S603 41270 Lskssksskk 053X 156%#%%0587 RS | H PR R T KRR i 2R A 1 2 =
4149 | Y[R [E S603 511623kkkkk85%0967 188%##%5486 B | H RN RS T AR X i 2E AL 1 23 5
4150 | VSHE S603 513002%*k3k%%%5136 15244557378 BER | BT R T AR X SRR AL 1 2 =
4151 | AR¥EVE S603 51082 3kksksk:0013 186%%%%8795 B | H R RS T AR X i 2E AL 1 23 5
4152 | HRR: S603 511623kksk55045 138%#%%0672 BHE | FRRMER S W AR X A AL 1 20
4153 | R S603 51132258551 042 151542790 B | PR R KR IX AL 1 28 =
4154 | W=H S603 511325%kskskk512X 184%#5%1553 RS | H R R KRR X i 2R A 1 2=
4155 | fiEHE S603 511325558562 1 151%5%%9592 B | H RN RS T AR X i 2E AL 1 23 5
4156 | A7k S603 513723kksk01 52 158%#%%0921 RS | H PR R KRR X i 2R A 1 2 =
4157 | T S603 65280 Lisksksokk6111 1325457713 BCHS | H R RS T AR X i 2E AL 1 23 5
4158 | BT S603 513822ktksk60033 185%*%%7365 RS | HF R R KRR i 2R A 1 2=
4159 | pEYEYE S603 511023%skkkk4k6623 135%%%%6936 B | H R RS T AR X i 2E AL 1 2 5
4160 | FEMEER S603 5113223%kkkk55%3047 151%#%%3512 RS | HF R R T KRR X i 2R A 1 2 =
4161 | HEZH S603 62042 | sktokik 2544 1815451371 BCHS | H RN RS T AR X i 2E AL 1 23 5
4162 | S} S603 51370 1 skotksckk 0828 150%#%%5102 RS | H PR R KRR X i 2R A 1 2 =
4163 | 2 S603 513822k ssks550039 135%#4%3225 B | PR R KR IX AL 1 28 =
4164 |  Z S603 51132 Lk 0195 180556629 RS | H PR R KR X i 2R A 1 28 =
4165 | 2=, S603 513021 stk 3438 1564547898 B | PR R KR IX AL 128 %
4166 | M S603 510184kt 1 946 188%#%%0419 B | PR K TE KRR IX AR AL 123 =
4167 | BT S603 510823 ks 7970 150%%%%1171 B | H RN RS T AR X i 2E AL 1 23 5
4168 | 4% S603 510722%kkk545% 7263 189555040 RS | H PR R KRR X i 2R A 1 2 =
4169 | HhE S603 511325%kkkk%5%1820 15 1%%%%2936 BCHS | H R RS T AR X i 2E AL 1 23 5
4170 [ xR S603 4105265555545 6964 159%#%%9478 B | R RMER S W AR X AL 1 2=
4171 XXk S603 510182kt 1228 136%%%%9829 BCHS | H R RS T AR X i 2E AL 1 23 5
4172 | XA S603 511025%kksk5£6008 135%%%2967 RS | H PR R KRR X i 2R A 128 =
4173 | xRk S603 510623k 3727 159%5%%9836 B | H R RS T AR X i 2E AL 1 33
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4174 X S603 3604295555001 X 189%#%%9109 RS | H PR R KRR i 2R A 133 =
4175 | XiR S603 510602384546 1 8X 1395452791 BCHS | HL R RS T AR X i 2E REAL 1 33
4176 | XIEE S603 429004%k5kk4%4719 182+%5%%8210 BHS | H R R KT X i 2R A 133 =
A177 | B S603 511025%kss55%9089 18245458275 BCHS | H RN RS T AR X i 2E AL 1 33
4178 | HifgsC S603 510504%kkk555%2516 186%*%%0790 RS | H PR R T KRR X i 2R A 133 =
4179 | BER S603 511302%kkkk55%2529 15857149 B | H R RS T AR X i 2E AL 1 33
4180 | WAk S603 511622%%k5555%%0019 158%#%%3640 BHS | HF R R T KRR X i 2R A 133 =
4181 | ATEBE S603 230603 %KkkkkHk252 1 138%5%1340 B | H R RS T AR X i 2E AL 1 33
4182 | {22 S603 340602kt 2086 138%#%%3874 RS | H R R T KRR X i 2R A 133 =
4183 | IR S603 51078 1 kskikix6261 183%5+%6915 B | H RN RS T AR X i 2E AL 1 33
4184 | ISR S603 370502kksk 2042 187#%%%9287 B | PR K TE KRR IX A ARAL L3R =
4185 [ i S603 513002%%k3k%5%0010 186%%5%0507 B | H RN RS T AR X i 2E AL 1 33
4186 | PG S603 231024%kkk5%5%3017 1518096 RS | H R R T KRR X i 2R A 133 =
4187 |k S603 510902%k%5%%%9503 183%5+%0765 BCHS | H R RS T AR X i 2E AL 1 33
4188 | 3 S603 513030kksk£8023 180%##%5131 RS | H PR R T KRR X i 2R A 133 =
4189 | IREEA S603 500235%kkkk%5%0212 156%5%%3507 B | H R RS T AT X i 2E R AL 1 33
4190 | VESZ iR S603 513922kkskk3218 155%%%6425 B | PR K TE KRR IX A ARAL L3R =
4191 | T S603 513822%%k%k%%%8993 159554029 B | H R RS T AR X i 2E R AL 1 33 5
4192 | T/ S603 650204 5k5k554%0020 134546899 RS | H PR R T KRR X i 2R FEA 133 =
4193 | FBESR S603 21011 4tk 3926 136%5%%4195 B | H RN RS T AR X i 2E AL 1 33
4194 FE S603 52250 1tk 0043 185%*%%6720 RS | HF R R KRR X i 2R A 133 =
4195 | BRAEpE S603 1306223 kk54%3022 156%#%%2671 B | HL RN RS T AR X i 2E AL 1 33
4196 | 2 S603 5130223%kk%5%5%5008 137%5%%0955 B | R RS T KR X T A AEAL 133 =
4197 | M S603 510105%%kkk%5%1021 138558879 B | H RN RS T AR X i 2E AL 1 33
4198 | VM S603 510623kskkkk502 1 138%#%%5856 RS | HF R R T KRR X i 2R REA 133 =
4199 | MiEds S603 500234k k%6612 152+%54%1665 B | HL RN RS T AR X i 2E R AL 1 33
4200 | FEEAK S603 513701 sksckktkk 7516 159%+5%2376 RS | H PR R T KRR X i 2R REA 133 =
4201 | MixZ S603 41082 1 stttk 00 46 182%%%%8519 BCHS | HL R RS T AR X i 2E AL 1 33
4202 | RIAFH S603 51370 Lk 4818 187##%%7951 BGHE | HRRMER S W AR X AL L 3R
4203 | R S603 511025%kssks55%8 789 1524548039 B | PR R K IR X A AEAA L3 =
4204 | A H S603 53332 sktkockk0023 181%#%%9221 B | PR K TE KRR IX A ARAL L3 =
4205 | 3 R S603 370686%kwkskik 464X 130%5#%5695 B | H R RS T AR X i 2E AL 1 33
4206 | 324G S603 410306%ksk3545%0045 187sk%1392 RS | H PR R T KRR X i 2R A 133 =
4207 | IREVE S603 510603kkkkkkk 7813 187#%5%0037 B | H R RS T AR X i 2E AL 1 33
4208 | TKEHF S603 5101295455552 165 138k#k%2252 RS | H PR R T KRR X i 2R A 133 =
4209 | 5K S603 3714265555555 2029 150%%%%3132 B | H R RS T AR X i 2E AL 1 33
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4210 | 5KFH S603 51092 Lok 1940 13050360 B | R RHER S W AR X A4 L 3R
4211 | 5Kk S603 500101 kst ] 924 15856451 BCHS | HL R RS T AR X i 2E REAL 1 33
4212 | gkikRK S603 51310 Lok 0014 15245456265 BHS | H R R KT X i 2R A 133 =
4213 | SKIEWr S603 35068 Lk 728 184%5+%7270 BCHS | H RN RS T AR X i 2E AL 1 33
4214 | kR S603 14272 Tskkk85%201 1 151%5%%0264 B | R RHER S W AR X S AEAA L3R
4215 | KA = S603 1407025555557 147 1375458126 B | H R RS T AR X i 2E AL 1 33
4216 | TR S603 1301325k 1 325 189%##%2851 BHS | HF R R T KRR X i 2R A 133 =
4217 | sk S603 61022 [k 5620 1585457632 B | H R RS T AR X i 2E AL 1 33
4218 | kJEH S603 360722%%kk5%5%3038 184%5%%6148 RS | H R R T KRR X i 2R A 133 =
4219 | BETR S603 410923 %5855 2439 182+%5%%9307 B | H RN RS T AR X i 2E AL 1 33
4220 | AL S603 51382 Lkt 0837 158%#%%5699 B | R RMER S W AR X R4 L3
4221 ATy S603 50038 Itk 002 1 151%5%%5200 B | H RN RS T AR X i 2E AL 1 33
4222 | JHgtE S603 510524kksk5%56 37 181%#%%4702 B | R RMER S W AR X A R4 L3 =
4223 | JE4TH S603 411123 %k55555%9566 151%5%%8526 BCHS | H R RS T AR X i 2E AL 1 33
4224 | JEE S603 511023kskk8k0276 158%#5%2797 B | R RMER A W AR X R4 L3
4225 | JAfET S603 5001023%%kk555%0024 18755806 BCES | HL RO TR KT X i 2 REA4 1 3 =
4226 | KRR S603 5113223k 7554 158%#%%8624 B | R RMER A W AR X A A4 L33
4227 | RINI S603 41022 [k k662X 138%%%%3275 B | H R RS T AR X i 2E R AL 1 33 5
4228 i S603 5101323kkk555%0015 183%*%%5683 RS | H PR R T KRR X i 2R FEA 133 =
4229 | ACiBtE S603 51168 Itttk ] 2X 15255454717 B | H RN RS T AR X i 2E AL 1 33
4230 | A S603 510704%kkkk55%4623 185%#5%7817 RS | HF R R KRR X i 2R A 133 =
4231 | B S604 34062 1 #kskiokiok 278 136558364 B | HL RN RS T AR X i 2E AL 1 33
4232 | K S604 51018 Lkt 6715 158%*+%6846 BAE | HRRMER S W AR X A4 L 3R
4233 | R S604 510122k %kkx%5538 181553344 B | H RN RS T AR X i 2E AL 1 33
4234 | HHFEH S604 5106223%%kx555%2156 158%*%%6066 RS | HF R R T KRR X i 2R REA 133 =
4235 | A R S604 220524kt 3228 187#%%%9517 B | HL RN RS T AR X i 2E R AL 1 33
4236 | AR S604 520103kskk840026 180%*%%8575 RS | H PR R T KRR X i 2R REA 133 =
4237 | Fii S604 500235%kkk555%2206 135%#+%8986 BCHS | HL R RS T AR X i 2E AL 1 33
4238 | FEMi S604 522130kt 1670 189%#5%7969 RS | H PR R T KRR X i 2R A 133 =
4239 | BREF S604 1411823380053 1845457746 BCHS | H RN RS T AR X i 2E AL 1 33
4240 | &P S604 50022 3%kkk555%0649 136%*%%5865 RS | H PR R T KRR X i 2R A 133 =
4241 B3 S604 510122skk5k555%0277 159%%5%0825 B | H R RS T AR X i 2E AL 1 33
4242 | iKkRE S604 51138 Lkt 4502 159%#%%8371 B | R RHER A W AR X A AL L3R
4243 | UAN S605 511023kttt 7413 15 1%5%5914 B | H R RS T AR X i 2E AL 1 33
4244 | SEIRLR S605 33088 Lskstoksckrk (0042 136%55%7277 RS | H PR R T KRR X i 2R A 133 =
4245 | FRek S605 51340 Dk 6721 15 1556031 B | H R RS T AR X i 2E AL 1 33
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4246 | B S605 411503 k5858556324 187#5%%1269 B | R RHER S W AR X A4 L 3R
4247 | FEER S605 51370 Lk 4655 18245452832 BCHS | HL R RS T AR X i 2E REAL 1 33
4248 | FRESE S605 360730%kk3k%%%2016 135%k%%1716 B | B RO T KA X 2R A4 1 34 =
4249 | Wt S605 511321 stk 163 135%k#%1452 BCHS | H RN RS T AR X i 2E AL 1 33
4250 | fEPE S605 37 1424ksk85 366X 1825459271 RS | H PR R T KRR X i 2R A 133 =
4251 |  EHEE S605 50022 [kt 4029 151%5%1443 B | H R RS T AR X i 2E AL 1 33
4252 | XIHE S605 510125%kskk00 1 x 182%#%%3784 BHS | HF R R T KRR X i 2R A 133 =
4253 | XERE S605 5101073k 26 10 180558805 B | H R RS T AR X i 2E AL 1 33
4254 | B S605 513823 ktksckk 2518 158%*%%7655 B | R RS T KR X T A ARAL 133 =
4255 |  B'E S605 513029skkkk55x546309 151%54%8525 B | H RN RS T AR X i 2E AL 1 33
4256 | HAME S605 3729243kt 3326 15 k3937 RS | H R R T KR X i 2R A 133 =
4257 | HE S605 513821 #kssokok2817 180%#*%4889 B | H RN RS T AR X i 2E AL 1 33
4258 | H UK S605 6104253k 188 182554469 RS | H R R T KRR X i 2R A 133 =
4259 | BMKIL S605 50022 7*kkkk%5%0445 182556119 BCHS | H R RS T AR X i 2E AL 1 33
4260 | @A S605 51010 kst 4221 130%5%%7709 RS | H PR R T KRR X i 2R A 133 =
4261 | ek S605 6105265k k6468 1345456680 B | H R RS T AT X i 2E R AL 1 33
4262 | R S605 513122%kkkkk5%272 1 182546869 RS | H PR R T KRR X i 2R A 133 =
4263 | HIEH] S605 513002%%kk555%0429 187#%%%9755 B | H R RS T AR X i 2E R AL 1 33 5
4264 | EHER S605 6321 25%kkkk4£001 3 187##%%7862 B | R RMER A W AR X A REAA L 3R
4265 | S[E g S605 513922%%kkk44%2553 159%5+%4817 B | H RN RS T AR X i 2E AL 1 33
4266 | HHEAR S605 511102%k3k555%0739 15235548382 B | R RMER A W AR X S AEAA L3
4267 pangyannnirl  S606 610404ssktkotoksick (0542 15249291 BCHS | H R RS T AR X i 2E AL 1 33
4268 | I = S606 510108kt 1 826 156%%%9258 RS | H PR R KR X i 2R A 133 =
4269 | FRIA S606 431226%wk4554%0028 136%%5%5204 BCHS | H R RS T AR X i 2E AL 1 33
4270 | FRERR S606 513902k 0493 151%#%%2781 BHS | H PR R T KRR X i 2R A 133 =
4271 [ A7 Ao S606 511381 kskskrx891X 135%54%7566 RS | H R RS T AR X i 2E AL 1 33
4272 | WAL S606 330382kt 447 15255452760 B | PR K TE KRR IX A ARAL L3 =
4273 | ZEhnig S606 64022 | #sksokokikd 81 8 136%%+%8834 B | HL RN RS T AR X i 2E AL 1 33 =
4274 | XE2 S606 41272 1555551063 188%*+%8468 BHS | H PR R T KRR X i 2R A 133 =
4275 | XHER S606 412724%5k 5457948 188558242 B | H R RS T AR X i 2E AL 1 33
4276 | HIOSH S606 360702%*kx5%5%002X 151%%%%0396 AR | B RO T KA X S 2R A4 1 34 =
4277 | JEAR S606 513022k 86.20 182556380 B | H RN RS T AR X i 2E AL 1 33
4278 | A S606 500101 skstksckk0645 185%*%%0186 RS | H PR R T KRR X i 2R A 133 =
4279 | LT S606 511023kt 8422 15 1%5%2923 B | H R RS T AR X i 2E AL 1 33
4280 | #ft S606 510182skkkkk5%4423 159%#%%2862 RS | H PR R T KR X i 2R A 133 =
4281 | #t S606 511502%%kkskk4k2417 159%%*%8584 B | HL RN RS T AR X i 2E AL 1 33
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4282 | 5Kk S606 4304225k k55552698 15255457432 RS | H PR R KRR i 2R A 133 =
4283 S S701 41272655554k T 14X 158550685 BCHS | HL R RS T AR X i 2E REAL 1 33
4284 | ISR S701 411328%ktktk4028 156%%%%0961 BHS | H R R KT X i 2R A 133 =
4285 [ B S701 51042 Ik 2127 158%k4%7247 BCHS | H RN RS T AR X i 2E AL 1 33
4286 | HEHF S701 5116023%kkk555%6299 135%5%%7725 RS | H PR R T KRR X i 2R A 133 =
4287 | A S701 513325%kkkk55520020 15 1550025 B | H R RS T AR X i 2E AL 1 33
4288 | ZFif S701 511 126%kk5555%0028 188%##%3294 BHS | HF R R T KRR X i 2R A 133 =
4289 [ M2 S701 51110245 202X 189%%%%0183 B | H R RS T AR X i 2E AL 1 33
4290 | MRk S701 510107Hkkkkk554227 152%5%%1376 RS | H R R T KRR X i 2R A 133 =
4291 gk S701 511322%%kkk%4k5095 15 1%5%7526 B | H RN RS T AR X i 2E AL 1 33
4292 | R S701 51018 Lk 6426 15 16698 RS | H R R T KR X i 2R A 133 =
4293 | RE S701 430426%%k%55 446635 158%%5%1860 B | H RN RS T AR X i 2E AL 1 33
4294 | FE#® S701 130424kk5555%0044 159%#5%4195 RS | H R R T KRR X i 2R A 133 =
4295 | JHMH: Y3 S701 412825kskk4%6 1 68 150551606 BCHS | H R RS T AR X i 2E AL 1 33
4296 | fEHAKE S701 420702s55k4k44683 1 182+%5%%6170 RS | H PR R T KRR X i 2R A 133 =
4297 | T S701 5130223 kkkk8k%5423 15245457214 B | H R RS T AT X i 2E R AL 1 33
4298 | Wkiy S701 140524%kkk45%%5216 184%5%%6043 RS | H PR R T KRR X i 2R A 133 =
4299 | wiE S701 5101223%kk55%5%9564 185%#+%3648 B | H R RS T AR X i 2E R AL 1 33 5
4300 | sk&fR S701 411425%ksksk%%81 15 155%%%0969 RS | H PR R T KRR X i 2R FEA 133 =
4301 [ KA S701 51372 Ik 7955 180%#+%8283 B | H RN RS T AR X i 2E AL 1 33
4302 | FRAL S702 5115285550010 183%*%%5706 RS | HF R R KRR X i 2R A 133 =
4303 [ AR S702 5130294841951 1504545883 B | PR R KR IX AL L3 =
4304 | ki S702 510623%kkkk55%3617 18245450143 RS | H PR R T KRR X i 2R A 133 =
4305 | Hi&im S702 41280 1skkk4k0852 158%%%%2732 B | H RN RS T AR X i 2E AL 1 33
4306 | Fhels S702 511623%kkk555%0637 184%#%%7061 RS | HF R R T KRR X i 2R REA 133 =
4307 | REW S702 510107 skkks855024 187552890 B | HL RN RS T AR X i 2E R AL 1 33
4308 [ KL S702 513029%kskkkk5%4837 182%5%%3662 RS | H PR R T KRR X i 2R REA 133 =
4309 | FEEE S702 511028kskk555%0040 152551885 BCHS | HL R RS T AR X i 2E AL 1 33
4310 | K% S702 511025%kskskkx5114 151%5%%2090 RS | H PR R T KRR X i 2R A 133 =
4311 | SEulfE S703 37292 3%kkk5%5%2020 151%%%%3139 BCHS | H RN RS T AR X i 2E AL 1 33
4312 | BrEth S703 500225kt 3835 183%#%%1855 B | R RHER S W AR X A A4 L 3R =
4313 | MR S703 510626%%k%555%4420 151%5%%3470 B | H R RS T AR X i 2E AL 1 33
4314 | Fltrd S703 150403s#kk8%05 10 130%#%%9039 RS | H PR R T KRR X i 2R A 133 =
4315 | XBFFE S703 51302 [kt 4006 150%%+%3516 B | H R RS T AR X i 2E AL 1 33
4316 | T fbdn S703 4201045555554 0466 186%#%%8844 RS | H PR R T KRR X i 2R A 133 =
4317 | HEHERR S703 511181 skt 4413 153%%%2716 B | PR R KR IX A AEAA L3 =




Fe| wa | S8 BT FHE | o it

4318 | G K S703 370982kt 203X 183%#%%1797 RS | H PR R KRR i 2R A 133 =
4319 | {8 S703 513822kt 1 THX 184555644 BCHS | HL R RS T AR X i 2E REAL 1 33
4320 | ZEW)E S703 51032 Lkt k8348 18245454765 BHS | H R R KT X i 2R A 133 =
4321 | HRER S703 510921 stk 25073 188552957 BCHS | H RN RS T AR X i 2E AL 1 33
4322 | B AW S703 130282kkkkx5k%4028 139%#%%8940 RS | H PR R T KRR X i 2R A 133 =
4323 | a4 S703 511621 skt 8836 185%k#%1141 B | H R RS T AR X i 2E AL 1 33
4324 | fliE S703 511325kt 2822 158%#%%9596 BHS | HF R R T KRR X i 2R A 133 =
4325 | HHBENY S703 152723 %tk 2443 186%*#%5092 B | H R RS T AR X i 2E AL 1 33
4326 | M S703 640202ksk3k%%0515 151%#%%8512 RS | H R R T KRR X i 2R A 133 =
4327 [ FHkAE S703 513723 skkkk8x5:4984 136%%%%7862 B | H RN RS T AR X i 2E AL 1 33
4328 | AT S703 513029kt 4848 136%#%%3962 RS | H R R T KR X i 2R A 133 =
4329 | XIF] S703 511324%%kk5%5%0282 15854641 B | H RN RS T AR X i 2E AL 1 33
4330 | XA S703 42092 Lisksskkxk423x 186%*%%5239 RS | H R R T KRR X i 2R A 133 =
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